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Ïˇžþ×=³−×˛ŁÝšÞ¦Č 
Ïˇžþ×=³−×˛ŁÝšÞ¦Č

ÌþČ¹ÞšÞ¦š=ð=×¦¹³Þð³W

N Ë×ŞĞð˛I=ŠÝČ=þ²ð×Ş²¦Č=−þ²ČÞ³²ş=ž˛=
ŁŞšýð³=¹ÝšŁ˛

O ‚¦¹−ÝšÐ

P Ó³₣ð˛=−š×šðÝć₣šÞ¦Č=ŠÝČ=
¦žýšÞšÞ¦Č=−˛×˛ýš²×þŁ=¦=
²šý−š×˛²³×ŞI=˛=²˛ðŽš=ŠÝČ=
−š×šýšğšÞ¦Ð=−þ=ýšÞć

Q ËÞþ−ð¦=þ¹ÞþŁÞŞ¼=½³Þð¾¦ÐW „¹Ý¦=¹Łš²þŠ¦þŠ=łþ×¦²I=KKK

?^rq?=E˛Ł²þý˛²¦₣š¹ð¦Ð=×šŽ¦ýF KKK=˛ð²¦ŁÞ˛=−×þł×˛ýý˛=−š×šðÝć₣šÞ¦Č=E˛Ł²þý˛²¦₣š¹ðþš=
−š×šðÝć₣šÞ¦š=ýšŽŠ³=ŠÞšŁÞþÐ=¦=Þþ₣ÞþÐ=²šý−š×˛²³×þÐ=
Ł=−þýšğšÞ¦¦FK

?‚ÞšŁÞþÐ=×šŽ¦ý?=E×³₣ÞþÐF KKK=þ²þ−ÝšÞ¦š=×˛ˇþ²˛š²=¹=³¹²˛ÞþŁÝšÞÞþÐ=ŠÞšŁÞþÐ=
²šý−š×˛²³×þÐ=Ł=−þýšğšÞ¦¦K=‡ðÝć₣šÞ˛=−×þł×˛ýý˛=
−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð~FK

?Îþ₣ÞþÐ=×šŽ¦ý?=E×³₣ÞþÐF KKK=þ²þ−ÝšÞ¦š=×˛ˇþ²˛š²=¹=³¹²˛ÞþŁÝšÞÞþÐ=Þþ₣ÞþÐ=
²šý−š×˛²³×þÐ=Ł=−þýšğšÞ¦¦K=‡ðÝć₣šÞ˛=ž˛ğ¦²˛=þ²=
ž˛ýš×ž˛Þ¦ČK=Ì×þł×˛ýý˛=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ=
ŁŞðÝć₣šÞ˛=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð~FK

= ?·þ×Č₣˛Č=ŁþŠ˛? KKK=²šý−š×˛²³×˛=łþ×Č₣šÐ=ŁþŠŞ=¹²˛Ý˛=Þ¦Žš=ž˛Š˛ÞÞþłþ=
žÞ˛₣šÞ¦ČK=Ì×¦=Þ˛Ž˛²¦¦=Þ˛=ðÞþ−ð³=ýþŽÞþ=¹ÞþŁ˛=
Þ˛ł×š²ş=ŁþŠ³=E−×¦=Ć²þý=¹Łš²þŠ¦þŠ=ˇ³Šš²=ý¦ł˛²şFK=NF=

NF ÔŁš²þŠ¦þŠ=ýþŽÞþ=²˛ðŽš=þ²ðÝć₣¦²şK=Ì×¦=¦¹−þÝşžþŁ˛Þ¦¦=ðþ²ÝþŁ=¹=r_^NKñ=¹Łš²þŠ¦þŠ=
Łþþˇğš=Þš=łþ×¦²K=

R ËÞþ−ð¦=
Šþ−þÝÞ¦²šÝşÞŞ¼=½³Þð¾¦ÐW

Ú³Þð¾¦ČW

?ÍšÞćLlh? Ì×¦=þŠÞþŁ×šýšÞÞþý=Ł×˛ğšÞ¦¦=×³₣ð¦=³−×˛ŁÝšÞ¦ČW=
¦žýšÞšÞ¦š=³¹²˛ÞþŁð¦K

?‡×šýČ? Ò¹²˛ÞþŁð˛=Ł×šýšÞ¦K

?‚˛²˛? Î˛¹²×þÐð˛=Š˛²ŞK

= ?Òšý−š×˛²³×˛? Ò¹²˛ÞþŁð˛=ðþýÞ˛²ÞþÐ=²šý−š×˛²³×ŞK

?ÊÞ½þ×ý˛¾¦Č? Ï²ð×Ş²ş=ýšÞć=¦Þ½þ×ý˛¾¦¦=Ež˛−×þ¹=žÞ˛₣šÞ¦ÐFK

= ?Î˛ž˛Š? Î˛=þŠ¦Þ=Ğ˛ł=¦Ý¦=−³Þð²=ýšÞć=Þ˛ž˛ŠK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>2



Ïˇžþ×=³−×˛ŁÝšÞ¦Č  
Ïˇžþ×=³−×˛ŁÝšÞ¦Č= O

N Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=¦=¹¦ýŁþÝŞ =R
NKN Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦= =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K R
NKO ÌþČ¹ÞšÞ¦š=ð=¹¦ýŁþÝ˛ý==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K S

O Ë×˛²ð˛Č=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦ =T

P ÊÞ½þ×ý˛¾¦Č=þ=ðþ²Ýš =NN
PKN Ï−¦¹˛Þ¦š=þˇþ×³ŠþŁ˛Þ¦Č= =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= NN
PKO Ì×¦ýšÞšÞ¦š=−þ=Þ˛žÞ˛₣šÞ¦ć= =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= NN
PKP ‚šðÝ˛×˛¾¦Č=þ=¹þþ²Łš²¹²Ł¦¦=„Ô= =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= NN
PKQ ı¦¹²ð˛= =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= NN
PKR Ò²¦Ý¦ž˛¾¦Č= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= NN

Q Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=þˇ¹Ý³Ž¦Ł˛Þ¦Č =NO
QKN ‚¦¹−ÝšÐ===K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= NO
QKO Ò¹²˛ÞþŁð˛=×šŽ¦ý˛=×˛ˇþ²Ş= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= NP
QKP ÊžýšÞšÞ¦š=²šý−š×˛²³×Ş=−þýšğšÞ¦Č=Þ˛=ðþ×þ²ðþš=Ł×šýČ= =K==K==K==K= NQ
QKQ ÊžýšÞšÞ¦š=²šý−š×˛²³×Ş=−þýšğšÞ¦Č=Þ˛=ŠÝ¦²šÝşÞþš=Ł×šýČ= K==K==K= NR
QKR Ò¹²˛ÞþŁð˛=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=ŠÝČ=þ−×šŠšÝ÷ÞÞŞ¼=

þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= NS
QKS Ò¹²˛ÞþŁð˛=Š˛²Ş=¦=Ł×šýšÞ¦= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= NT
QKT Ò¹²˛ÞþŁð˛=½³Þð¾¦¦=ðþÞ²³×˛=łþ×Č₣šłþ=ŁþŠþ¹Þ˛ˇŽšÞ¦Č= ==K==K==K==K==K= NU
QKU Â˛−×þ¹=¦Þ½þ×ý˛¾¦¦=EýšÞć=¦Þ½þ×ý˛¾¦¦F==K==K==K==K==K==K==K==K==K==K==K==K==K= OM
QKV ÔþþˇğšÞ¦Č=Þ˛=Š¦¹−Ýšš= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= OO
QKNM ‡ŞŁþŠ=¦ž=Ćð¹−Ý³˛²˛¾¦¦L‡ŞðÝć₣šÞ¦š==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= OO

R Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ =OP
RKN ‡ŁšŠšÞ¦š=Ł=ýšÞć=þ−š×˛²þ×˛= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= OP
RKO Ïˇžþ×=ýšÞć=þ−š×˛²þ×˛= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= OR
RKP ‡Şˇþ×=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= OS
RKQ Ò¹²˛ÞþŁð˛=¹²˛ÞŠ˛×²ÞþÐ=¦ÞŠ¦ð˛¾¦¦== K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= PM
RKR Ò¹²˛ÞþŁð˛=×šŽ¦ýþŁ=×˛ˇþ²Ş= =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= PM

RKRKN ÓšŽ¦ýŞ=×˛ˇþ²Ş=ŠÝČ=łþ×Č₣šÐ=ŁþŠŞ==K==K==K==K==K==K==K==K==K==K==K==K==K= PN
RKRKO ÓšŽ¦ýŞ=×˛ˇþ²Ş=ŠÝČ=¾¦×ð³ÝČ¾¦¦= =K==K==K==K==K==K==K==K==K==K==K==K==K==K= PN
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 3



Ïˇžþ×=³−×˛ŁÝšÞ¦Č 
RKS Ò¹²˛ÞþŁð˛=−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦Č= =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K PO
RKSKN ‡Şˇþ×=−×þł×˛ýýŞ= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K PP
RKSKO Ï²þˇ×˛ŽšÞ¦š=²šð³ğšÐ=−×þł×˛ýýŞ= ==K==K==K==K==K==K==K==K==K==K==K==K==K PR
RKSKP ÊžýšÞšÞ¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦Č= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K PS
RKSKQ ‡ŁþŠ=²þ₣ð¦=−š×šðÝć₣šÞ¦Č==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K PS
RKSKR ÒŠ˛ÝšÞ¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦Č===K==K==K==K==K==K==K==K==K==K==K==K==K==K==K PT
RKSKS Ò¹²˛ÞþŁð˛=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼= K==K==K==K==K==K==K==K==K==K==K PU

RKT Ò¹²˛ÞþŁð~=−×þł×˛ýýŞ=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ== K==K==K==K==K==K==K PV
RKU Ò¹²˛ÞþŁð˛=−×þł×˛ýýŞ=¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛= ==K==K==K==K==K==K==K==K==K QM
RKV Ò¹²˛ÞþŁð˛=−þ×þłþŁþłþ=žÞ˛₣šÞ¦Č=Ýš²Þšłþ=¦Ý¦=ž¦ýÞšłþ=×šŽ¦ý˛= ==K QM
RKNM Ò¹²˛ÞþŁð˛=−š×š¼þŠ˛=¹=Ýš²Þšłþ=Ł×šýšÞ¦=Þ˛=ž¦ýÞšš= K==K==K==K==K==K==K==K QN
RKNN Ò¹²˛ÞþŁð˛=²šý−š×˛²³×Ş=łþ×Č₣šÐ=ŁþŠŞ= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K QO
RKNO Ò¹²˛ÞþŁð˛=½³Þð¾¦¦=Ï²−³¹ðNF=K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QO
RKNP Ò¹²˛ÞþŁð˛=−×þł×˛ýýŞ=‡š₣š×¦Þð˛= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QT
RKNQ Ò¹²˛ÞþŁð˛=−×þł×˛ýýŞ=Ìš×š×ŞŁ= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QT
RKNR Ò¹²˛ÞþŁð˛=²š×ý¦₣š¹ðþÐ=Ššž¦Þ½šð¾¦¦= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QU
RKNS Ëþ××šð¾¦Č=¦ÞŠ¦ð˛¾¦¦=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦===K==K==K==K==K==K==K==K QU
RKNT Ò¹²˛ÞþŁð˛=½˛žŞ=−×šŠŁ˛×¦²šÝşÞþłþ=×˛žþł×šŁ˛=ł˛žþŁþłþ=²š−ÝþŁþłþ=

Þ˛¹þ¹˛= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QV

S ÊÞ½þ×ý˛¾¦Č=ŠÝČ=³¹²˛ÞþŁð¦=ˇÝþð˛=³−×˛ŁÝšÞ¦Č =RN
SKN ‡¦ŠŞ=×šł³Ý¦×þŁ˛Þ¦Č=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦===K==K==K==K==K==K==K==K==K==K RN
SKO ÔþŁš²Ş=−þ=ĆðþÞþý¦¦=ĆÞš×ł¦¦==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K RO

T =Ò¹²×˛ÞšÞ¦š=Þš¦¹−×˛ŁÞþ¹²šÐ =RP
TKN Î˛¦ˇþÝšš=₣˛¹²þ=Ł¹²×š₣˛ćğ¦š¹Č=Łþ−×þ¹Ş= K==K==K==K==K==K==K==K==K==K==K==K==K RP
TKO ÔþþˇğšÞ¦Č=þ=Þš¦¹−×˛ŁÞþ¹²Č¼=¦=þ=²š¼Þ¦₣š¹ðþý=þˇ¹Ý³Ž¦Ł˛Þ¦¦= ==K RS
TKP Ôˇ×þ¹=Þš¦¹−×˛ŁÞþ¹²šÐ=EoÉëÉíF= =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K RV

U Ì×þ²þðþÝ=³¹²˛ÞþŁð¦ =SM

fiÝ½˛Ł¦²ÞŞÐ=³ð˛ž˛²šÝş= SN
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>4



Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=¦=¹¦ýŁþÝŞ 1 
N Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=¦=¹¦ýŁþÝŞ

NKN Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦
‚ÝČ=þˇš¹−š₣šÞ¦Č=ˇšž³−×š₣ÞþÐ=×˛ˇþ²Ş=¹þˇÝćŠ˛Ð²š=³ð˛ž˛Þ¦Č=¦Þ¹²×³ð¾¦¦K

Ëþ²÷Ý=−þŠÝšŽ¦²=ýþÞ²˛Ž³=¦=ŁŁþŠ³=Ł=Ćð¹−Ý³˛²˛¾¦ć=²þÝşðþ=¹¦Ý˛ý¦=
Šþ−³ğšÞÞþłþ=¹−š¾¦˛Ý¦¹²˛K

Ì×þ₣¦²˛Ð²š=¦=¹þˇÝćŠ˛Ð²š=¹ÝšŠ³ćğ¦š=³ð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=
ˇšžþ−˛¹Þþ¹²¦=¦=−×˛Ł¦Ý˛=−þŁšŠšÞ¦ČW

Ï−˛¹Þþ¹²ş=þĞ−˛×¦Ł˛Þ¦Č=łþ×Č₣šÐ=ŁþŠþÐ=Ł=ýš¹²˛¼=ŁþŠþ×˛žˇþ×˛

Ì×¦=²šý−š×˛²³×š=ŁŞĞš=SM Œ`=þ²ð×ŞŁ˛Ð²š=¹Þ˛₣˛Ý˛=ð×˛Þ=¹=¼þÝþŠÞþÐ=ŁþŠþÐI=
ž˛²šý=¹=łþ×Č₣šÐK

‡þ=Ł×šýČ=²š×ý¦₣š¹ðþÐ=Ššž¦Þ½šð¾¦¦W=þ²ð×ŞŁ˛Ð²š=¹Þ˛₣˛Ý˛=ð×˛Þ=¹=¼þÝþŠÞþÐ=
ŁþŠþÐ=¦=−þ²þý=Šþˇ˛ŁÝČÐ²š=łþ×Č₣³ćK

Ì×šŠ³−×šŽŠšÞ¦šW=Â˛ýþ×þžð¦

„¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=ŁŞðÝć₣šÞ˛I=²þ=−×¦=þ²×¦¾˛²šÝşÞŞ¼=²šý−š×˛²³×˛¼=
þÞ˛=ýþŽš²=ž˛ý÷×žÞ³²şW

‡¹šłŠ˛=Šš×Ž¦²š=þ²þ−¦²šÝşÞ³ć=³¹²˛ÞþŁð³=ŁðÝć₣÷ÞÞþÐK

Ì×¦=ŁþžÞ¦ðÞþŁšÞ¦¦=Þš¦¹−×˛ŁÞþ¹²¦W=ÎšýšŠÝšÞÞþ=¹ˇ×þ¹¦²ş=Þš¦¹−×˛ŁÞþ¹²ş=
¹˛ýþ¹²þČ²šÝşÞþ=¦Ý¦=−þžŁþÞ¦²ş=Þ˛=¹−š¾¦˛Ý¦ž¦×þŁ˛ÞÞþš=−×šŠ−×¦Č²¦šK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 5



Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=¦=¹¦ýŁþÝŞ1 
NKO ÌþČ¹ÞšÞ¦š=ð=¹¦ýŁþÝ˛ý

‡ŞŠšÝšÞÞþš=¹ÝþŁþ=−×šŠ³−×šŽŠ˛š²=þˇ=þ−˛¹Þþ¹²¦=¦=¹²š−šÞ¦=š÷=²ČŽš¹²¦=−×¦=
ÞšŁŞ−þÝÞšÞ¦¦=×šðþýšÞŠ³šýŞ¼=ýš×=ŠÝČ=−×šŠþ²Ł×˛ğšÞ¦Č=³ğš×ˇ˛K

¥ Ï¹²þ×þŽÞþ=þžÞ˛₣˛š²I=₣²þ=ŁþžýþŽÞþ=ÞšˇþÝşĞþš=−þŁ×šŽŠšÞ¦š=
þˇþ×³ŠþŁ˛Þ¦ČK

¥ Ì×šŠ³−×šŽŠšÞ¦š=þžÞ˛₣˛š²I=₣²þ=ŁþžýþŽÞŞ=Ý÷łð¦š=²×˛ŁýŞ=¦Ý¦=
žÞ˛₣¦²šÝşÞŞÐ=ý˛²š×¦˛ÝşÞŞÐ=³ğš×ˇK

Òð˛ž˛Þ¦Č=¹þŠš×Ž˛²=Ł˛ŽÞ³ć=¦Þ½þ×ý˛¾¦ć=ŠÝČ=²š¼=¹Ý³₣˛šŁI=ðþłŠ˛=þ²¹³²¹²Ł³š²=
³ł×þž˛=Ž¦žÞ¦=₣šÝþŁšð˛=¦Ý¦=ý˛²š×¦˛ÝşÞþłþ=³ğš×ˇ˛K

Òšð¹²þŁŞš=¹þþˇğšÞ¦Č=Þ˛=Š¦¹−ÝššW=ÌþÞČ²¦ČI=¦ýšćğ¦š=
Þš−þ¹×šŠ¹²ŁšÞÞþš=þ²ÞþĞšÞ¦š=ð=¹þþˇğšÞ¦Čý=Þ˛=Š¦¹−ÝššI=
þ²þˇ×˛Ž˛ć²¹Č=Ł=²šð¹²š=ŁŞŠšÝšÞÞŞý¦=Ž¦×ÞŞý

Ì×¦ýš×W=Í„Î¸=ÏÌ„ÓfiÒÏÓfi

‚šÐ¹²Ł¦ČW=þ²ŠšÝşÞŞš=Ğ˛ł¦=ý˛×ð¦×³ć²¹Č=Ł=¹−¦¹ðš=¹¦ýŁþÝþý=²þ₣ð¦K=

Î˛−×¦ýš×W= Î˛Žý¦²š =ðÞþ−ð³K=

„¹Ý¦=ŠšÐ¹²Ł¦Č=¹þ¹²þČ²=¦ž=ŠŁ³¼=¦=ˇþÝšš=Ğ˛łþŁ=¦=¦¼=−þ×ČŠþð=¦ýšš²=
þ−×šŠšÝČćğšš=žÞ˛₣šÞ¦šI=þÞ¦=−×þÞ³ýš×þŁ˛ÞŞ=ENKI=OKI=KKKFK

Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=Ł=²šð¹²š=ŁŞŠšÝšÞŞ=×˛ýðþÐ=¦=
þˇþžÞ˛₣˛ć²¹Č=−×šŠ³−×šŽŠ˛ćğ¦ý=žÞ˛ðþý=Ł=²×š³łþÝşÞ¦ðšK

Òð˛ž˛Þ¦Č=Ł=²šð¹²š=þˇþžÞ˛₣˛ć²¹Č=−×¦ŁšŠšÞÞŞý=×ČŠþý=¹¦ýŁþÝþýK=ÏÞ¦=
ŁŞŠšÝČć²¹Č=Ł=²šð¹²š=łþ×¦žþÞ²˛ÝşÞŞý¦=Ý¦Þ¦Čý¦K

‚ÝČ=−×¦ýšÞšÞ¦Č=³ð˛ž˛Þ¦Ð=¦Þ¹²×³ð¾¦¦W=Ł=łÝ˛Łš= RKN=?‡ŁšŠšÞ¦š=Ł=
ýšÞć=þ−š×˛²þ×˛?=−þŠ×þˇÞþ=þ−¦¹˛ÞŞ=Ğ˛ł¦=³−×˛ŁÝšÞ¦ČI=¹=−þýþğşć=
ðþ²þ×Ş¼=‡Ş=ýþŽš²š=−×¦ýšÞ¦²ş=ÝćˇŞš=³¹²˛ÞþŁð¦=Ł=ýšÞć=þ−š×˛²þ×˛K=
‡=¹ÝšŠ³ćğ¦¼=×˛žŠšÝ˛¼=¹þŠš×Ž¦²¹Č=ð×˛²ðþš=þ−¦¹˛Þ¦š=³−×˛ŁÝšÞ¦ČK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>6



Ë×˛²ð˛Č=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦ 2 
O Ë×˛²ð˛Č=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦
Ê¹¼þŠÞ˛Č=¹¦²³˛¾¦ČW=Ë×ŞĞð˛=ž˛ð×Ş²˛K

ı²þ=Þšþˇ¼þŠ¦ýþ=
¹ŠšÝ˛²şI=KKK Ò−×˛ŁÝšÞ¦š ÊÞŠ¦ð˛¾¦ČLÓšž³Ýş²˛²

š¹Ý¦=Łþ=Ł¹šÐ=
ðŁ˛×²¦×š=Ł=Ć²þ²=
ŠšÞş=¹Ý¦Ğðþý=
¼þÝþŠÞþL²š−Ýþ\=

ÌþŁš×Þ³²ş=×³₣ð³ =−š×šðÝć₣˛²šÝČK
Î˛=Š¦¹−Ýšš=−þČŁ¦²¹Č=ý¦ł˛ćğšš=
þ²þˇ×˛ŽšÞ¦š=²šð³ğšÐ=²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦K

Ô=−þýþğşć=×³₣ð¦=³−×˛ŁÝšÞ¦Č=
³¹²˛ÞþŁ¦²š=Þ³ŽÞ³ć=²šý−š×˛²³×³=Ł=
−þýšğšÞ¦¦K=

Ï²−³¹²¦²š=×³₣ð³=³−×˛ŁÝšÞ¦ČK
ÊžýšÞšÞ¦Č=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦¦=¹þ¼×˛ÞšÞŞ=E¦ÞŠ¦ð˛²þ×=
ˇþÝşĞš=Þš=ý¦ł˛š²FK
ÌþČŁÝČš²¹Č=¹²˛ÞŠ˛×²Þ˛Č=¦ÞŠ¦ð˛¾¦ČK

‡=˛Ł²þý˛²¦₣š¹ðþý=×šŽ¦ýš=¦žýšÞ÷ÞÞ˛Č=
²šý−š×˛²³×˛=ŁþžŠ³¼˛=þ¹²˛÷²¹Č=²˛ðþÐ=Šþ=
¹ÝšŠ³ćğšłþ=−š×šðÝć₣šÞ¦Č=×šŽ¦ýþŁ=
×˛ˇþ²Ş=EÞþ₣Þþłþ=L=ŠÞšŁÞþłþFK

š¹Ý¦=Łþ=Ł¹šÐ=
ðŁ˛×²¦×š=
ŠÝ¦²šÝşÞþš=Ł×šýČ=
¹Ý¦Ğðþý=¼þÝþŠÞþL
²š−Ýþ\

→ ÊžýšÞ¦²ş=
²šý−š×˛²³×³=
ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦¦=¦=
ž˛−³¹²¦²ş=
˛Ł²þý˛²¦₣š¹ð¦Ð=
×šŽ¦ý

ÊžýšÞ¦²ş=ŠÞšŁÞ³ć=²šý−š×˛²³×³=
ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦W=³Šš×Ž¦Ł˛Č=
Þ˛Ž˛²þÐ=ðÞþ−ð³ I=−þŁš×Þ³²ş=×³₣ð³=
³−×˛ŁÝšÞ¦Č K

ÊžýšÞ¦²ş=Þþ₣Þ³ć=²šý−š×˛²³×³=
ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦W=³Šš×Ž¦Ł˛Č=
Þ˛Ž˛²þÐ=ðÞþ−ð³ I=−þŁš×Þ³²ş=×³₣ð³=
³−×˛ŁÝšÞ¦Č KNF

ÓšðþýšÞŠ³š²¹Č=˛ð²¦Ł¦×þŁ˛²ş=
˛Ł²þý˛²¦₣š¹ð¦Ð=×šŽ¦ý
Î˛Ž˛²ş=ðÞþ−ð³ = K

ÊžýšÞšÞ¦Č=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦¦=¹þ¼×˛ÞšÞŞK=ÔŁš²þŠ¦þŠ=
ðÞþ−ð¦ =łþ×¦²K

q~ÄK=N Ë×˛²ð˛Č=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦=¥=Òšý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 7



Ë×˛²ð˛Č=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦2 
₣²þˇŞ=Þ˛ł×š²ş=
ŁþžŠ³¼=þŠ¦Þ=×˛ž=Łþ=
Ł×šýČI=
Þš¹þþ²Łš²¹²Ł³ćğšš=
Þ˛¹²×þÐðš=EŁÞš=
−×þł×˛ýýŞ=
−š×šðÝć₣šÞ¦ČF\

→ ×³₣Þþš=
³−×˛ŁÝšÞ¦š=
ŠÞšŁÞŞý=×šŽ¦ýþý=
E?Ìþ¹²þČÞÞþš=
þ²þ−ÝšÞ¦š?FI=
˛Ł²þý˛²¦₣š¹ð¦Ð=
×šŽ¦ý=þ²ðÝć₣÷Þ

fið²¦Ł¦×þŁ˛²ş=×³₣Þþš=³−×˛ŁÝšÞ¦š=
ŠÞšŁÞŞý=×šŽ¦ýþýW=Þ˛Ž˛²ş=ðÞþ−ð³=

K

ÔŁš²þŠ¦þŠ=ðÞþ−ð¦= =łþ×¦²K

‚ÝČ=ž˛Łš×ĞšÞ¦Č=þŠÞþð×˛²Þþłþ=−×þł×šŁ˛=
−þýšğšÞ¦ČW

ÔÞþŁ˛=˛ð²¦Ł¦×þŁ˛²ş=˛Ł²þý˛²¦₣š¹ð¦Ð=
×šŽ¦ýW
Î˛Ž˛²ş=ðÞþ−ð³=

ÔŁš²þŠ¦þŠ=ðÞþ−ð¦= =łþ×¦²K=

ŠÝČ=ĆðþÞþý¦¦=
ĆÞš×ł¦¦=Łþ=Ł×šýČ=
ŠÝ¦²šÝşÞþłþ=
þ²¹³²¹²Ł¦Č\=

→ ×³₣Þþš=
³−×˛ŁÝšÞ¦š=Þþ₣ÞŞý=
×šŽ¦ýþý=
E?Ìþ¹²þČÞÞ˛Č=
ĆðþÞþý¦Č?FI=
˛Ł²þý˛²¦₣š¹ð¦Ð=
×šŽ¦ý=þ²ðÝć₣÷Þ

fið²¦Ł¦×þŁ˛²ş=×³₣Þþš=³−×˛ŁÝšÞ¦š=
Þþ₣ÞŞý=×šŽ¦ýþýW=Þ˛Ž˛²ş=ðÞþ−ð³ K=

ÔŁš²þŠ¦þŠ=ðÞþ−ð¦= =łþ×¦²KNF

Ì×¦=‡˛Ğšý=ŁþžŁ×˛ğšÞ¦¦W

Î˛Ž˛²ş=ðÞþ−ð³K=

ÔŁš²þŠ¦þŠ=ðÞþ−ð¦ =łþ×¦²K

NF Ì×¦=Ł¦Šš=×šł³Ý¦×þŁ˛Þ¦Č=?Ï²ðÝć₣šÞþ?=þ²þ−ÝšÞ¦š=þ²ðÝć₣˛š²¹Č=Ł=Þþ₣Þþý=×šŽ¦ýšK=Îþ₣Þ³ć=
²šý−š×˛²³×³=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=ž˛Š˛²ş=ÞšŁþžýþŽÞþK=Î˛=Š¦¹−ÝšÐ=ŁŞŁþŠ¦²¹Č=
¹þþ²Łš²¹²Ł³ćğšš=¹þþˇğšÞ¦šK=

Ì×¦=Þ˛Ý¦₣¦¦=ˇþÝşĞ¦¼=þ²þ−¦²šÝşÞŞ¼=³¹²˛ÞþŁþð=¹=Þš¹ðþÝşð¦ý¦=
þ²þ−¦²šÝşÞŞý¦=ðþÞ²³×˛ý¦=þˇ×˛²¦²š=ŁÞ¦ý˛Þ¦šW=
‡ŞĞšþ−¦¹˛ÞÞŞš=¦žýšÞšÞ¦Č=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=ŠšÐ¹²Ł³ć²=ŠÝČ=
Ł¹š¼=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁI=¹þ−þ¹²˛ŁÝšÞÞŞ¼=¹=ĆÝšýšÞ²þý=
³−×˛ŁÝšÞ¦Č=o`PR=E²KÞK=Ï²þ−¦²šÝşÞŞš=ðþÞ²³×Ş=o`PRI=¹²×˛Þ¦¾˛=OSFK=
˚²þ=Þþ×ý˛ÝşÞŞÐ=¹Ý³₣˛Ð=¦¹−þÝşžþŁ˛Þ¦ČK
„¹Ý¦=‡Ş=Ł¹÷=Žš=¼þ²¦²š=¦žýšÞ¦²ş=²šý−š×˛²³×³=Ł=−þýšğšÞ¦¦=ŠÝČ=Š×³ł¦¼=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁI=−×þ₣²¦²š=¦Þ¹²×³ð¾¦ć=Þ˛=¹²×˛Þ¦¾š PUK

ı²þ=Þšþˇ¼þŠ¦ýþ=
¹ŠšÝ˛²şI=KKK Ò−×˛ŁÝšÞ¦š ÊÞŠ¦ð˛¾¦ČLÓšž³Ýş²˛²

q~ÄK=N Ë×˛²ð˛Č=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦=¥=Òšý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>8



Ë×˛²ð˛Č=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦ 2 
Ë×˛²ð˛Č=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦=¥=−×þ₣¦š=½³Þð¾¦¦

Îšðþ²þ×Şý¦=¦ž=Þ¦Žš−×¦ŁšŠ÷ÞÞŞ¼=½³Þð¾¦Ð=‡Ş=ýþŽš²š=³−×˛ŁÝČ²ş=
₣š×šž=ýšÞć=þ−š×˛²þ×˛K=Ë˛ð=−þÝşžþŁ˛²ş¹Č=Ć²¦ý=ýšÞćI=‡Ş=¹ýþŽš²š=
−×þ₣¦²˛²şI=Þ˛₣¦Þ˛Č=¹þ=¹²×˛Þ¦¾Ş OPK

ı²þ=Þšþˇ¼þŠ¦ýþ=
¹ŠšÝ˛²şI=KKK Ò−×˛ŁÝšÞ¦š ÊÞŠ¦ð˛¾¦ČLÓšž³Ýş²˛²

₣²þˇŞ=¹ĆðþÞþý¦²ş=
ĆÞš×ł¦ć=Þ˛=
þ²þ−ÝšÞ¦¦=Łþ=Ł×šýČ=
ŠÝ¦²šÝşÞþłþ=
þ²¹³²¹²Ł¦Č\

Î˛¹²×þ¦²ş=×šŽ¦ý=Ï²−³¹ð=Ł=ýšÞć=
þ−š×˛²þ×˛=E¹²×˛Þ¦¾˛ QOFK

₣²þˇŞ=¦žýšÞ¦²ş=
²šý−š×˛²³×³=Ł=
×šŽ¦ýš=Ï²−³¹ð\

Ò¹ÝþŁ¦šW=ÓšŽ¦ý=Ï²−³¹ð=˛ð²¦Ł¦×þŁ˛ÞK

ÌþŁš×Þ³²ş=×³₣ð³ =−š×šðÝć₣˛²šÝČK

Òšý−š×˛²³×˛=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=
¦žýšÞšÞ˛=Þ˛=¹×þðI=þ¹²˛ŁĞ¦Ð¹Č=þ²=
þ²−³¹ð˛K

Ýš²þý=E²þÝşðþ=
łþ×Č₣˛Č=ŁþŠ˛I=ˇšž=
þ²þ−ÝšÞ¦ČF\

Ì³Ýş²=³−×˛ŁÝšÞ¦Č=−š×šðÝć₣˛š²=Ýš²Þ¦Ð=¦=
ž¦ýÞ¦Ð=²šý−š×˛²³×ÞŞÐ=×šŽ¦ý=
˛Ł²þý˛²¦₣š¹ð¦=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=
²šý−š×˛²³×ŞK=„¹Ý¦=‡Ş=Ł¹÷=Žš=¼þ²¦²š=
−š×šðÝć₣¦²ş=Ł×³₣Þ³ćW

Ò¹²˛ÞþŁ¦²š=×³₣ð³=³−×˛ŁÝšÞ¦Č=Þ˛=
−³Ýş²š=³−×˛ŁÝšÞ¦Č=ðþ²Ý˛= Ł=
−þÝþŽšÞ¦š=?M?K

Ò¹²˛ÞþŁð¦=o`PR=þ¹²˛Łş²š=ˇšž=
¦žýšÞšÞ¦ÐK

‡=ð˛₣š¹²Łš=−×¦ýš×˛=
žŠš¹ş=¦žþˇ×˛Ž÷Þ=
ýþŠ³Ýş=_`NM=Þ˛=ðþ²Ýš=
¹¦¹²šýŞ=þ²þ−ÝšÞ¦Č

š¹Ý¦=Ł=−š×š¼þŠÞŞÐ=
−š×¦þŠ=EŁš¹ÞþÐ=¦Ý¦=
þ¹šÞşćF=ýÞš=
¹Ý¦Ğðþý=¼þÝþŠÞþ=
¦Ý¦=¹Ý¦Ğðþý=
Ž˛×ðþ\

‡=ýšÞć=þ−š×˛²þ×˛=³¹²˛ÞþŁÝšÞŞ=−þ×þł=
−š×šðÝć₣šÞ¦Č=¹=Ýš²Þšłþ=Þ˛=ž¦ýÞ¦Ð=
×šŽ¦ýŞ=¦Ý¦=Þ˛þˇþ×þ²=
E¹²×˛Þ¦¾˛ QMFK

-¦Ý¦-

Ê¹−þÝşžþŁ˛²ş=×³₣ÞþÐ=×šŽ¦ýK

q~ÄK=O Ë×˛²ð˛Č=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦=¥=−×þ₣¦š=½³Þð¾¦¦
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 9



Ë×˛²ð˛Č=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦2 
š¹Ý¦=₣˛¹Ş=
³¹²˛ÞþŁÝšÞŞ=Þ˛=
Ýš²Þšš=¦Ý¦=ž¦ýÞšš=
Ł×šýČ\

Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=˛Ł²þý˛²¦₣š¹ð¦=
−š×šðÝć₣˛š²¹Č=¹=Ýš²Þšłþ=Þ˛=ž¦ýÞ¦Ð=
×šŽ¦ý=¦=Þ˛þˇþ×þ²=E¹²×˛Þ¦¾˛ QNFK

š¹Ý¦=¦žýšÞ¦Ý¹Č=
×¦²ý=ýþšÐ=
˛ð²¦ŁÞþ¹²¦=
EŠÞšŁÞþÐLÞþ₣ÞþÐF=
EÞ˛−×KI=−þ¹ýšÞÞ˛Č=
×˛ˇþ²˛F\

‡Şˇš×¦²š=Š×³ł³ć=−×þł×˛ýý³=
−š×šðÝć₣šÞ¦Č=Ł=ýšÞć=þ−š×˛²þ×˛
E¹²×˛Þ¦¾˛ POFK

Ì×¦=Þšþˇ¼þŠ¦ýþ¹²¦=¹þ−þ¹²˛Ł¦²ş=
−×þł×˛ýý³=−š×šðÝć₣šÞ¦Č=¹=
−þ²×šˇÞþ¹²Čý¦W=¦žýšÞ¦²şI=Šþˇ˛Ł¦²ş=
¦Ý¦=³Š˛Ý¦²ş=²þ₣ð¦=−š×šðÝć₣šÞ¦Č
E¹²×˛Þ¦¾˛ PSFK

₣²þˇŞ=¦žýšÞ¦²ş=
ðþÞ²×˛¹²=Š¦¹−ÝšČ\

ÊžýšÞšÞ¦š=ðþÞ²×˛¹²˛W=Þ˛Ž˛²ş=¦=
³Šš×Ž¦Ł˛²ş=ðÞþ−ð¦ =¦ =¦=
þŠÞþŁ×šýšÞÞþ=−þŁþ×˛₣¦Ł˛²ş=×³₣ð³=
³−×˛ŁÝšÞ¦Č K=

ı²þ=Þšþˇ¼þŠ¦ýþ=
¹ŠšÝ˛²şI=KKK Ò−×˛ŁÝšÞ¦š ÊÞŠ¦ð˛¾¦ČLÓšž³Ýş²˛²

q~ÄK=O Ë×˛²ð˛Č=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦=¥=−×þ₣¦š=½³Þð¾¦¦
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>10



ÊÞ½þ×ý˛¾¦Č=þ=ðþ²Ýš 3 
P ÊÞ½þ×ý˛¾¦Č=þ=ðþ²Ýš

PKN Ï−¦¹˛Þ¦š=þˇþ×³ŠþŁ˛Þ¦Č
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=−þžŁþÝČš²=‡˛ý=ˇšž=þ¹þˇŞ¼=¹ÝþŽÞþ¹²šÐ=³−×˛ŁÝČ²ş=
þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁðþÐ=½¦×ýŞ=fl³Šš×³¹K=Ô=−þýþğşć=×³₣ð¦=³−×˛ŁÝšÞ¦Č=‡Ş=
ýþŽš²š=ýšÞČ²ş=²šý−š×˛²³×³=Ł=−þýšğšÞ¦Č¼=Łþ=Ł¹šÐ=ðŁ˛×²¦×šK=ËÝ˛−˛ÞŞ=
²š×ýþ¹²˛²þŁ=Þ˛=ˇ˛²˛×šČ¼=Þšþˇ¼þŠ¦ýþ=²þÝşðþ=þ²×šł³Ý¦×þŁ˛²şI=š¹Ý¦=Ł=þŠÞþý=¦ž=
−þýšğšÞ¦Ð=¹Ý¦Ğðþý=¼þÝþŠÞþ=¦Ý¦=¹Ý¦Ğðþý=²š−ÝþK
fiŁ²þý˛²¦ð˛=¹=Þ˛¹²×˛¦Ł˛šýþÐ=−×þł×˛ýýþÐ=−š×šðÝć₣šÞ¦Č=ž˛ˇþ²¦²¹Č=þˇ=
ĆÞš×łþ¹ˇš×šŽšÞ¦¦=Łþ=Ł×šýČ=×˛ˇþ²ŞI=Ł=²þ=Ł×šýČ=ð˛ð=²šý−š×˛²³×˛=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦¦=Ł=þ−×šŠšÝ÷ÞÞŞš=₣˛¹Ş=¹Þ¦Ž˛š²¹Č=¦Ý¦=þ²þ−ÝšÞ¦š=þ²ðÝć₣˛š²¹Č=
−þÝÞþ¹²şć=EÞ˛¹²×˛¦Ł˛šýþš=Þþ₣Þþš=−þÞ¦ŽšÞ¦š=²šý−š×˛²³×ŞFK=Ò−×˛ŁÝšÞ¦š=
þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁðþÐ=−×þ¦¹¼þŠ¦²=²˛ð¦ý=þˇ×˛žþýI=₣²þ=þ−²¦ý˛ÝşÞŞÐ=
²š−ÝþŁþÐ=ðþý½þ×²=Šþ¹²¦ł˛š²¹Č=¹=ý¦Þ¦ý˛ÝşÞŞý¦=ž˛²×˛²˛ý¦=ĆÞš×ł¦¦K

PKO Ì×¦ýšÞšÞ¦š=−þ=Þ˛žÞ˛₣šÞ¦ć
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=ýþŽš²=ˇŞ²ş=¦¹−þÝşžþŁ˛Þ=¦¹ðÝć₣¦²šÝşÞþ=ŠÝČ=²þłþI=
₣²þˇŞ=þˇ¹Ý³Ž¦Ł˛²ş=þ²þ−¦²šÝşÞŞš=³¹²˛ÞþŁð¦=½¦×ýŞ=_ìÇÉêìë=Ł=þŠÞþ�=¦=
ýÞþłþðŁ˛×²¦×ÞŞ¼=Šþý˛¼=¦=³−×˛ŁÝČ²ş=¦ý¦K

Ï²þ−¦²šÝşÞŞÐ=ðþ²÷Ý=ŠþÝŽšÞ=ˇŞ²ş=þˇþ×³ŠþŁ˛Þ=bjp=EbåÉêÖáÉ�j~å~ÖÉãÉåí�
póëíÉã=�=¹¦¹²šýþÐ=³−×˛ŁÝšÞ¦Č=ĆÞš×ł¦šÐF=¦Ý¦=r_^NKñ=E³Þ¦Łš×¹˛ÝşÞŞý=
þˇþł×šŁ˛²šÝşÞŞý=˛Ł²þý˛²þýFK=‡=Ýćˇþý=¹Ý³₣˛š=Þš=−×šŠÞ˛žÞ˛₣šÞ=ŠÝČ=
¦¹−þÝşžþŁ˛Þ¦Č=¹=³¹²×þÐ¹²Ł˛ý¦=¹=¹¦¹²šýþÐ=³−×˛ŁÝšÞ¦Č=r_^�ePK=ÍŞ=
×šðþýšÞŠ³šý=¦¹−þÝşžþŁ˛²ş=þ²þ−¦²šÝşÞ³ć=³¹²˛ÞþŁð³=Ł¹šłŠ˛=¹=−³Ýş²þý=
³−×˛ŁÝšÞ¦Č=Eˇšž=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=ŁþžýþŽÞ˛=Ćð¹−Ý³˛²˛¾¦Č=²þÝşðþ=Ł=
₣×šžŁŞ₣˛ÐÞþý=×šŽ¦ýšFK

PKP ‚šðÝ˛×˛¾¦Č=þ=¹þþ²Łš²¹²Ł¦¦=„Ô

PKQ ı¦¹²ð˛
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=ýþŽÞþ=₣¦¹²¦²ş=²þÝşðþ=ŁÝ˛ŽÞþÐ=¹˛Ý½š²ðþÐK

PKR Ò²¦Ý¦ž˛¾¦Č
Ì×¦=³²¦Ý¦ž˛¾¦¦=³−˛ðþŁð¦=¹þˇÝćŠ˛Ð²š=ĆðþÝþł¦₣š¹ð¦š=Þþ×ýŞK
Ì×¦=ž˛ýšÞš=þŠÞþłþ=¦ž=ðþý−þÞšÞ²þŁ=³²¦Ý¦ž¦×³Ð²š=¹²˛×³ć=Šš²˛Ýş=Ł=
¹þþ²Łš²¹²Ł¦¦=¹=ĆðþÝþł¦₣š¹ð¦ý¦=Þþ×ý˛ý¦K

˚²þ=þˇþ×³ŠþŁ˛Þ¦š=−þ=¹ŁþšÐ=ðþÞ¹²×³ð¾¦¦=¦=×˛ˇþ₣¦ý=¼˛×˛ð²š×¦¹²¦ð˛ý=
¹þþ²Łš²¹²Ł³š²=šŁ×þ−šÐ¹ð¦ý=Þþ×ý˛ý=¦=Šþ−þÝÞ¦²šÝşÞŞý=Þ˛¾¦þÞ˛ÝşÞŞý=
²×šˇþŁ˛Þ¦ČýK=Ôþþ²Łš²¹²Ł¦š=−þŠ²Łš×ŽŠšÞþ=žÞ˛ðþý=`bK=‚šðÝ˛×˛¾¦ć=þ=
¹þþ²Łš²¹²Ł¦¦=þˇþ×³ŠþŁ˛Þ¦Č=ýþŽÞþ=Þ˛Ð²¦=Ł=ÊÞ²š×Þš²š=−þ=˛Š×š¹³=
ïïïKÄìÇÉêìëKÇÉLâçåÑçI=˛=²˛ðŽš=ýþŽÞþ=−þÝ³₣¦²ş=Ł=½¦Ý¦˛Ý˛¼=½¦×ýŞ=fl³Šš×³¹K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 11



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=þˇ¹Ý³Ž¦Ł˛Þ¦Č4 
Q Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=þˇ¹Ý³Ž¦Ł˛Þ¦Č

QKN ‚¦¹−ÝšÐ

‚¦¹−ÝšÐ=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=o`PR=ýþŽš²=þ²þˇ×˛Ž˛²ş=Ł=þˇŞ₣Þþý=×šŽ¦ýš=
Ćð¹−Ý³˛²˛¾¦¦=¹ÝšŠ³ćğ¦š=ĆÝšýšÞ²ŞW

Ó¦¹K==N ˚ÝšýšÞ²Ş=Þ˛=Š¦¹−Ýšš

N ‡š×¼ÞČČ=¹²×þð˛=¦Þ½þ×ý˛¾¦¦W=¹²˛ÞŠ˛×²ÞŞÐ=¦ÞŠ¦ð˛²þ×=EŁ=ž˛ŁþŠ¹ðþÐ=³¹²˛ÞþŁðšW=Š˛²˛=¦=
Ł×šýČF

O= flþÝşĞþÐ=²šý−š×˛²³×ÞŞÐ=¦ÞŠ¦ð˛²þ×=¹=¦Þ½þ×ý˛¾¦šÐ=þ=²šý−š×˛²³×š=−þýšğšÞ¦Č=¦Ý¦=ðþ²Ý˛
P Þ¦ŽÞČČ=¹²×þð˛=¹²˛²³¹˛I=þ²þˇ×˛Ž˛ć²¹ČW=×˛žÝ¦₣ÞŞš=×šŽ¦ýŞ=×˛ˇþ²Ş=¦=³ð˛ž˛Þ¦š=Þ˛=

¹þþˇğšÞ¦Č=þ=Þš¦¹−×˛ŁÞþ¹²Č¼=¦=²š¼Þ¦₣š¹ðþý=þˇ¹Ý³Ž¦Ł˛Þ¦¦=Eš¹Ý¦=š¹²şF
Q Ô¦ýŁþÝ=¹þÝÞ¾˛=Eš¹Ý¦=¦ýšš²¹Č=¦=˛ð²¦Ł¦×þŁ˛Þ=¹þÝÞš₣ÞŞÐ=ðþÝÝšð²þ×F

‡Ş=ýþŽš²š=³ð˛ž˛²şI=ð˛ðþš=žÞ˛₣šÞ¦š=ˇ³Šš²=þ²þˇ×˛Ž˛²ş¹Č=ŠÝ¦²šÝşÞþš=
Ł×šýČ=Ł=−š×ŁþÐ=¹²×þðš=¹²˛ÞŠ˛×²Þþłþ=¦ÞŠ¦ð˛²þ×˛=E×¦¹³Þþð NI=NF=
E¹²×˛Þ¦¾˛ PMFK

„¹Ý¦=−³Ýş²=³−×˛ŁÝšÞ¦Č=³¹²˛ÞþŁÝšÞ=Þ˛=þ²þ−¦²šÝşÞþý=ðþ²ÝšI=
²šý−š×˛²³×³=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=¦žýš×¦²ş=ÞšÝşžČK=‡ýš¹²þ=
²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=E×¦¹³Þþð NI=OF=þ²þˇ×˛Ž˛š²¹Č=²šý−š×˛²³×˛=
ðþ²Ý˛=Eðþ²÷ÝFK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>12



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=þˇ¹Ý³Ž¦Ł˛Þ¦Č 4 
QKO Ò¹²˛ÞþŁð˛=×šŽ¦ý˛=×˛ˇþ²Ş
ÓšŽ¦ý=×˛ˇþ²Ş=‡Ş=ýþŽš²š=˛ð²¦Ł¦ž¦×þŁ˛²şI=Þš−þ¹×šŠ¹²ŁšÞÞþ=Þ˛Ž˛Ł=
¹þþ²Łš²¹²Ł³ćğ³ć=ðÞþ−ð³W

ÓšŽ¦ý=×˛ˇþ²Ş ËÞþ−ð˛ ÌþČ¹ÞšÞ¦š

fiŁ²þý˛²¦₣š¹ð¦Ð=
×šŽ¦ý=
E×šðþýšÞŠþŁ˛ÞÞ˛Č=
³¹²˛ÞþŁð~F

Ì×þł×˛ýý˛=−š×šðÝć₣šÞ¦Č=˛ð²¦Ł¦ž¦×þŁ˛Þ˛K=
‡=ž˛Š˛ÞÞþš=Ł×šýČ=E²þ₣ð˛=−š×šðÝć₣šÞ¦ČF=
−×þ¦¹¼þŠ¦²=˛Ł²þý˛²¦₣š¹ðþš=−š×šðÝć₣šÞ¦š=¹=
ŠÞšŁÞþłþ=Þ˛=Þþ₣ÞþÐ=×šŽ¦ýKNF=Îþ₣şć=þ²þ−ÝšÞ¦š=
×˛ˇþ²˛š²=¹þ=¹Þ¦ŽšÞÞþÐ=²šý−š×˛²³×þÐ=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦¦=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛I=ŁþžýþŽÞþ=
²˛ðŽš=þ²ðÝć₣šÞ¦š=Ł=Þþ₣Þþš=Ł×šýČFK=
Ì×¦łþ²þŁÝšÞ¦š=łþ×Č₣šÐ=ŁþŠŞ=Ł=²š₣šÞ¦š=Ł¹šłþ=ŠÞČ=
ŁðÝć₣šÞþ=¦=Ł=²š₣šÞ¦š=Þþ₣¦=ŁŞðÝć₣šÞþ=
Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð~FK=Ì×¦łþ²þŁÝšÞ¦š=łþ×Č₣šÐ=
ŁþŠŞ=Ł=²š₣šÞ¦š=Ł¹šłþ=ŠÞČ=ŁðÝć₣šÞþ=¦=Ł=²š₣šÞ¦š=
Þþ₣¦=ŁŞðÝć₣šÞþ=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð~FK
ÔŁš²þŠ¦þŠ=ðÞþ−ð¦=˛Ł²þý˛²¦₣š¹ðþłþ=×šŽ¦ý˛=
łþ×¦²I=²˛ðŽš=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=²šð³ğšłþ=¹²˛²³¹˛=
łþ×¦²=¹Łš²þŠ¦þŠ=ŠÞšŁÞþłþ=¦Ý¦=Þþ₣Þþłþ=×šŽ¦ýþŁK

NF fiŁ²þý˛²¦₣š¹ð˛Č=³¹²˛ÞþŁð~=ŠÞšŁÞþłþ=¦=Þþ₣Þþłþ=×šŽ¦ýþŁ=¹þþ²Łš²¹²Ł³š²=×³₣ÞþÐ=³¹²˛ÞþŁðšK=
Ó˛žÝ¦₣¦š=ž˛ðÝć₣˛š²¹Č=²þÝşðþ=Ł=˛Ł²þý˛²¦₣š¹ðþý=−š×šðÝć₣šÞ¦¦K=

Ìþ¹²þČÞÞþš=þ²þ−ÝK
E×³₣Þþš=³−×˛ŁÝšÞ¦š=
ŠÞšŁÞŞý=×šŽ¦ýþýF

Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð~W=ON Œ`K=Ò¹²˛ÞþŁð~=Ł×³₣Þ³ć=
−×¦łþŠ¦²¹ČI=š¹Ý¦=‡Ş=ž˛¼þ²¦²š=−×þł×š²ş=ŁþžŠ³¼=Ł=
−þýšğšÞ¦¦=Ł=Þš³¹²˛ÞþŁÝšÞÞþš=Ł×šýČK=
fiŁ²þý˛²¦₣š¹ð¦Ð=×šŽ¦ý=þ²ðÝć₣÷ÞK=
Ì×¦łþ²þŁÝšÞ¦š=łþ×Č₣šÐ=ŁþŠŞ=ŁðÝć₣šÞþ=
Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð~FK
·þ×¦²=²þÝşðþ=¹Łš²þŠ¦þŠ=ŠÞšŁÞþłþ=×šŽ¦ý˛K

Ìþ¹²þČÞÞ˛Č=
ĆðþÞþý¦Č
E×³₣Þþš=³−×˛ŁÝšÞ¦š=
Þþ₣ÞŞý=×šŽ¦ýþýF

Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð~W=NT Œ`K=Ï²þ−ÝšÞ¦š=ˇ³Šš²=
×˛ˇþ²˛²ş=¹þ=¹Þ¦ŽšÞÞþÐ=²šý−š×˛²³×þÐ=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦¦=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð~FK=Ò¹²˛ÞþŁð~=
Ł×³₣Þ³ć=−×¦łþŠ¦²¹ČI=š¹Ý¦=‡Ş=ˇ³Šš²š=ŠþÝłþ=
þ²¹³²¹²ŁþŁ˛²şK=fiŁ²þý˛²¦₣š¹ð¦Ð=×šŽ¦ý=þ²ðÝć₣÷ÞK=
Ì×¦łþ²þŁÝšÞ¦š=łþ×Č₣šÐ=ŁþŠŞ=ŁŞðÝć₣šÞþ=
Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð~FK
·þ×¦²=²þÝşðþ=¹Łš²þŠ¦þŠ=Þþ₣Þþłþ=×šŽ¦ý˛K

Ò˛ˇK=P ÌþČ¹ÞšÞ¦š=ð=×šŽ¦ý˛ý=×˛ˇþ²Ş

Ò¹²˛ÞþŁð˛=¹=−þýþğşć=³ð˛ž˛ÞÞŞ¼=ðÞþ−þð=ŠšÐ¹²Ł³š²=Þ˛=þ²þ−¦²šÝşÞŞš=
ðþÞ²³×ŞI=×˛ˇþ²˛=ðþ²þ×Ş¼=×šł³Ý¦×³š²¹Č=₣š×šž=−³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=
E²KÞK=þ²þ−¦²šÝşÞŞš=ðþÞ²³×Ş=o`PRI=¹²×˛Þ¦¾˛ OSFK
ı²þˇŞ=Þ˛¹²×þ¦²ş=×šŽ¦ý=×˛ˇþ²Ş=Š×³ł¦¼=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁI=
¦¹−þÝşž³Ð²š=ÍšÞć=þ−š×˛²þ×˛ y=ÓšŽ¦ýŞ=×˛ˇþ²Ş=E¹²×˛Þ¦¾˛ PMFK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 13



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=þˇ¹Ý³Ž¦Ł˛Þ¦Č4 
QKP ÊžýšÞšÞ¦š=²šý−š×˛²³×Ş=−þýšğšÞ¦Č=Þ˛=ðþ×þ²ðþš=Ł×šýČ
Òšý−š×˛²³×˛=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=ýšÞČš²¹Č=²þÝşðþ=Šþ=¹ÝšŠ³ćğšÐ=²þ₣ð¦=
−š×šðÝć₣šÞ¦ČK=Ì×¦=š÷=Šþ¹²¦ŽšÞ¦¦=¹¦¹²šý˛=˛Ł²þý˛²¦₣š¹ð¦=−š×šðÝć₣˛š²=
×šŽ¦ý=×˛ˇþ²Ş=¹=ŠÞšŁÞþłþ=Þ˛=Þþ₣ÞþÐI=¦Ý¦=Þ˛þˇþ×þ²=E¹²×˛Þ¦¾˛ POFK=Â˛²šý=
þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=¹ÞþŁ˛=Þ˛ł×šŁ˛š²=ŁþžŠ³¼=Šþ=Þþ×ý˛ÝşÞþÐ=Þ˛¹²×þšÞÞþÐ=
²šý−š×˛²³×ŞK
Ê¹¼þŠÞ˛Č=¹¦²³˛¾¦ČW=Ë×ŞĞð˛=ž˛ð×Ş²˛K

Â˛Łš×Ğ¦²ş=²šð³ğ¦š=¦žýšÞšÞ¦Č=³¹²˛ÞþŁð¦=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦
‡þžŁ×˛²=ð=˛Ł²þý˛²¦₣š¹ðþý³=×šŽ¦ý³W=Î˛Žý¦²š=ðÞþ−ð³= K
Ì×þł×˛ýý˛=˛Ł²þý˛²¦₣š¹ðþłþ=×šŽ¦ý˛=¦¹−þÝşž³š²=×šł³ÝČ×ÞŞš=³¹²˛ÞþŁð¦=
²šý−š×˛²³×Ş=ŠÝČ=ŠÞšŁÞþłþ=¦=Þþ₣Þþłþ=×šŽ¦ýþŁK

-¦Ý¦-

‡þžŁ×˛²=ð=×³₣Þþý³=×šŽ¦ý³=Ćð¹−Ý³˛²˛¾¦¦W=Î˛Ž˛²ş=þŠÞ³=¦ž=ðÞþ−þðW= =¦Ý¦= K

Ê¹−þÝşž³ć²¹Č=×šł³ÝČ×ÞŞš=³¹²˛ÞþŁð¦=²šý−š×˛²³×Ş=ŠÝČ=ŠÞšŁÞþłþ=¦=Þþ₣Þþłþ=
×šŽ¦ýþŁK

Ò−×˛ŁÝšÞ¦š Óšž³Ýş²˛²

NK ÌþŁš×Þ³²ş=×³₣ð³ =−š×šðÝć₣˛²šÝČK

Î˛=Š¦¹−Ýšš=−þČŁ¦²¹Č=ý¦ł˛ćğšš=þ²þˇ×˛ŽšÞ¦š=²šð³ğšÐ=
²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦K

ÌþŁþ×˛₣¦Ł˛²ş=Š˛ÝşĞš= =×³₣ð³=−š×šðÝć₣˛²šÝČK=
‡×˛ğšÞ¦š=−þ=₣˛¹þŁþÐ=¹²×šÝðš=³ŁšÝ¦₣¦Ł˛š²I=˛=−×þ²¦Ł=
₣˛¹þŁþÐ=¹²×šÝð¦=³ýšÞşĞ˛š²=žÞ˛₣šÞ¦š=²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦K

OK Ì×¦=Šþ¹²¦ŽšÞ¦¦=Þ³ŽÞþłþ=žÞ˛₣šÞ¦Č=²šý−š×˛²³×Ş=
ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦W=þ²−³¹²¦²ş=×³₣ð³=³−×˛ŁÝšÞ¦ČK

ÊžýšÞšÞ¦Č=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=
¹þ¼×˛ÞšÞŞ=E¦ÞŠ¦ð˛²þ×=ˇþÝşĞš=Þš=ý¦ł˛š²FK
ÌþČŁÝČš²¹Č=¹²˛ÞŠ˛×²Þ˛Č=¦ÞŠ¦ð˛¾¦ČK

‡=×³₣Þþý=×šŽ¦ýš=¹Łš²þŠ¦þŠ=ðÞþ−ð¦ =Þš=łþ×¦²K=‡=Ć²þý=¹Ý³₣˛š=²šý−š×˛²³×˛=
ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=¹þþ²Łš²¹²Ł³š²=¦žýšÞ÷ÞÞþÐ=Šþ=²š¼=−þ×I=−þð˛=‡Ş=Þš=Þ˛Žý÷²š=
þŠÞ³=¦ž=ðÞþ−þð= K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>14



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=þˇ¹Ý³Ž¦Ł˛Þ¦Č 4 
QKQ ÊžýšÞšÞ¦š=²šý−š×˛²³×Ş=−þýšğšÞ¦Č=Þ˛=ŠÝ¦²šÝşÞþš=
Ł×šýČ

„¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=¹Þ˛ˇŽšÞ˛=Š¦¹²˛Þ¾¦þÞÞŞý=³−×˛ŁÝšÞ¦šý=
o`OM=E¹²×˛Þ¦¾˛ OUFW=Òšð³ğ¦š=¦žýšÞšÞ¦Č=³¹²˛ÞþŁð¦=²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦=ŁþžýþŽÞŞ=²˛ðŽš=−×¦=−þýþğ¦=−³Ýş²˛=Š¦¹²˛Þ¾¦þÞÞþłþ=
³−×˛ŁÝšÞ¦ČI=š¹Ý¦=þÞ=¦ýšš²=łþŠ=−×þ¦žŁþŠ¹²Ł˛=Þ˛₣¦Þ˛Č=¹=OMMSK=

Ï`qlml‰ÎÏW=ÌþŁ×šŽŠšÞ¦š=þˇþ×³ŠþŁ˛Þ¦Č

Ł¹ÝšŠ¹²Ł¦š=ž˛ýš×ž˛Þ¦Č=³¹²˛ÞþŁð¦K=„¹Ý¦=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦Č¼=¦ýšć²=³¹²˛ÞþŁð³=Þ¦Žš=NM Œ`I=ŁþžŠ³¼=Ł=−þýšğšÞ¦Č¼=³Žš=
ýþŽš²=ˇŞ²ş=Šþ¹²˛²þ₣Þþ=¼þÝþŠÞŞýI=₣²þI=ð=−×¦ýš×³I=²×³ˇŞ=Ł=Þ˛×³ŽÞŞ¼=
¹²šÞ˛¼=ž˛ý÷×žÝ¦K

Ò¹²˛ÞþŁð~=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=ŁŞĞš=NM Œ`K

Ò−×˛ŁÝšÞ¦š Óšž³Ýş²˛²

NK ÊžýšÞ¦²ş=ŠÞšŁÞ³ć=²šý−š×˛²³×³=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦W=
³Šš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ I=−þŁš×Þ³²ş=×³₣ð³ =
³−×˛ŁÝšÞ¦ČK

OK ÊžýšÞ¦²ş=Þþ₣Þ³ć=²šý−š×˛²³×³=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦NFW=
³Šš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³= I=−þŁš×Þ³²ş=×³₣ð³= =
³−×˛ŁÝšÞ¦ČK

NF Ì×¦=Ł¦Šš=×šł³Ý¦×þŁ˛Þ¦Č=?Ï²ðÝć₣šÞþ?=þ²þ−ÝšÞ¦š=þ²ðÝć₣˛š²¹Č=Ł=Þþ₣Þþý=×šŽ¦ýšK=Îþ₣Þ³ć=
²šý−š×˛²³×³=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=ž˛Š˛²ş=ÞšŁþžýþŽÞþK=Î˛=Š¦¹−ÝšÐ=ŁŞŁþŠ¦²¹Č=
¹þþ²Łš²¹²Ł³ćğšš=¹þþˇğšÞ¦šK=

PK ÓšðþýšÞŠ³š²¹Č=˛ð²¦Ł¦ž¦×þŁ˛²ş=˛Ł²þý˛²¦₣š¹ð¦Ð=
×šŽ¦ýK=ÏÞ=¹ÝšŠ¦²=ž˛=˛Ł²þý˛²¦₣š¹ð¦ý=−š×šðÝć₣šÞ¦šý=
ýšŽŠ³=ŠÞšŁÞŞý=¦=Þþ₣ÞŞý=×šŽ¦ý˛ý¦=Ćð¹−Ý³˛²˛¾¦¦=
EÞþ₣Þþš=−þÞ¦ŽšÞ¦š=²šý−š×˛²³×ŞFK=

Î˛Ž˛²ş=ðÞþ−ð³ K

fið²¦Ł¦ž¦×³š²¹Č=˛Ł²þý˛²¦₣š¹ð¦Ð=×šŽ¦ý=¹=¦žýšÞ÷ÞÞþÐ=²šý−š×˛²³×þÐ=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦¦K=ÔŁš²þŠ¦þŠ=ðÞþ−ð¦ =łþ×¦²K=ÌþČŁÝČš²¹Č=¹²˛ÞŠ˛×²Þ˛Č=¦ÞŠ¦ð˛¾¦ČK=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 15



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=þˇ¹Ý³Ž¦Ł˛Þ¦Č4 
QKR Ò¹²˛ÞþŁð˛=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=ŠÝČ=
þ−×šŠšÝ÷ÞÞŞ¼=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ

Ô=−þýþğşć=ðÞþ−ð¦ =‡Ş=¹ýþŽš²š=³¹²˛ÞþŁ¦²ş=²šý−š×˛²³×³=ŁþžŠ³¼˛=ŠÝČ=
ŁŞˇ×˛ÞÞŞ¼=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁI=š¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=
þˇþ×³ŠþŁ˛Þ˛=Þš¹ðþÝşð¦ý¦=þ²þ−¦²šÝşÞŞý¦=ðþÞ²³×˛ý¦=E¹²×˛Þ¦¾˛ OUFK=

Ï²þˇ×˛Ž˛ć²¹Č=²þÝşðþ=²š=þ²þ−¦²šÝşÞŞš=ðþÞ²³×ŞI=ðþ²þ×Şš=Þš=¹Þ˛ˇŽšÞŞ=
Š¦¹²˛Þ¾¦þÞÞŞý=³−×˛ŁÝšÞ¦šý=o`OMK=Îšþˇ¼þŠ¦ýþ¹²ş=Ł=ŁŞˇþ×š=þ²−˛Š˛š²I=š¹Ý¦=
ŠÝČ=ŁŞˇþ×˛=¦ýšš²¹Č=²þÝşðþ=þŠ¦Þ=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×K=‡¹š=þ²þ−¦²šÝşÞŞš=
ðþÞ²³×Ş=o`PR=¦ýšć²=þŠ¦Þ˛ðþŁŞš=ž˛Š˛ÞÞŞš=žÞ˛₣šÞ¦Č=²šý−š×˛²³×ŞK

„¹Ý¦=Þšþˇ¼þŠ¦ýþ¹²ş=Ł=ŁŞˇþ×š=þ²−˛Ý˛=¦Ý¦=š¹Ý¦=‡Ş=ŁŞˇ×˛Ý¦=þ²þ−¦²šÝşÞŞš=
ðþÞ²³×Ş=o`PRI=‡Ş=²šý=¹˛ýŞý=³¹²˛ÞþŁ¦Ý¦=²š=Žš=²šý−š×˛²³×ŞI=ðþ²þ×Şš=ˇŞÝ¦=
þ−¦¹˛ÞŞ=Þ˛=¹²×˛Þ¦¾š NRK=

NK Ï²ð×Ş²ş=ð×ŞĞð³=E−þ²ČÞ³²ş=ž˛=ŁŞšýð³=¹ÝšŁ˛FK

OK Î˛Ž˛²ş=ðÞþ−ð³ =¦=þ²−³¹²¦²ş=š÷=¹ÞþŁ˛K

PK ‡Şˇ×˛²ş=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=E¹²×˛Þ¦¾˛ OS=¥ OVFK=Îšþˇ¼þŠ¦ýþ¹²ş=Ł=ŁŞˇþ×š=
þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=þ²−˛Š˛š²I=š¹Ý¦=ŠÝČ=ŁŞˇþ×˛=¦ýšš²¹Č=²þÝşðþ=þŠ¦Þ=
þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×K

QK ÊžýšÞ¦²ş=ŠÞšŁÞ³ć=²šý−š×˛²³×³=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦W=³Šš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=
ðÞþ−ð³= I=−þŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č K

RK ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č I=₣²þˇŞ=−š×šÐ²¦=ð=³¹²˛ÞþŁðš=Þþ₣ÞþÐ=
²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦K

SK ÊžýšÞ¦²ş=Þþ₣Þ³ć=²šý−š×˛²³×³=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦W=³Šš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=
ðÞþ−ð³ I=−þŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č K

TK Îš¹ðþÝşðþ=×˛ž=Þ˛Ž˛²ş=ðÞþ−ð³ =¦Ý¦=ž˛ð×Ş²ş=ð×ŞĞð³=ŠÝČ=−þŁ²þ×Þþłþ=
þ²þˇ×˛ŽšÞ¦Č=¹²˛ÞŠ˛×²Þþłþ=¦ÞŠ¦ð˛²þ×˛K
ÊžýšÞšÞ¦Č=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=˛ð²¦ŁÞŞK

Ï`qlml‰ÎÏW=ÌþŁ×šŽŠšÞ¦š=þˇþ×³ŠþŁ˛Þ¦Č

Ł¹ÝšŠ¹²Ł¦š=ž˛ýš×ž˛Þ¦Č=³¹²˛ÞþŁð¦K=„¹Ý¦=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦Č¼=¦ýšć²=³¹²˛ÞþŁð³=Þ¦Žš=NM Œ`I=ŁþžŠ³¼=Ł=−þýšğšÞ¦Č¼=³Žš=
ýþŽš²=ˇŞ²ş=Šþ¹²˛²þ₣Þþ=¼þÝþŠÞŞýI=₣²þI=ð=−×¦ýš×³I=²×³ˇŞ=Ł=Þ˛×³ŽÞŞ¼=
¹²šÞ˛¼=ž˛ý÷×žÝ¦K

Ò¹²˛ÞþŁð~=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=ŁŞĞš=NM Œ`K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>16



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=þˇ¹Ý³Ž¦Ł˛Þ¦Č 4 
QKS Ò¹²˛ÞþŁð˛=Š˛²Ş=¦=Ł×šýšÞ¦

‚ÝČ=−×˛Ł¦ÝşÞþÐ=×˛ˇþ²Ş=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦=²×šˇ³š²¹Č=Š˛²˛=¦=Ł×šýČK=ı˛¹Ş=
−×þŠþÝŽ˛ć²=¦Š²¦=−×¦=þ²¹³²¹²Ł¦¦=Þ˛−×ČŽšÞ¦Č=Ł=¹š²¦=Ł=²š₣šÞ¦š=−×¦ýš×Þþ=
U ₣˛¹þŁK=„¹Ý¦=Þ˛−×ČŽšÞ¦š=þ²ðÝć₣šÞþ=ˇþÝšš=ŠÝ¦²šÝşÞþš=Ł×šýČI=Š¦¹−ÝšÐ=
þ²þˇ×˛Ž˛š²=¹þþˇğšÞ¦š=þ=Þšþˇ¼þŠ¦ýþ¹²¦=−þŁ²þ×ÞþÐ=Þ˛¹²×þÐð¦=Š˛²Ş=¦=Ł×šýšÞ¦K=

Ò¹²˛ÞþŁð˛=Š˛²ŞW

NK Ï²ð×Ş²ş=ð×ŞĞð³=E−þ²ČÞ³²ş=ž˛=ŁŞšýð³=¹ÝšŁ˛FK

OK Î˛Ž˛²ş=ðÞþ−ð³ K=Ï²þˇ×˛ŽšÞ¦š=łþŠ˛=ˇ³Šš²=ý¦ł˛²şK

PK Ò¹²˛ÞþŁð˛=łþŠ˛W=³Šš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ I=−þŁš×Þ³²ş=×³₣ð³=
³−×˛ŁÝšÞ¦ČK

QK Ï²−³¹²¦²ş=ðÞþ−ð³K=·þŠ=¹þ¼×˛Þ÷ÞK

RK ÌþŁ²þ×Č²ş=Ğ˛ł¦=¹þ=O=−þ=Q=ŠÝČ=³¹²˛ÞþŁð¦=ýš¹Č¾˛=¦=ŠÞČK
‡ŁšŠ÷ÞÞ˛Č=Š˛²˛=ˇ³Šš²=þ²þˇ×˛ŽšÞ˛=Þ˛=ðþ×þ²ðþš=Ł×šýČ=−þÝÞþ¹²şćK=Â˛²šý=
−þČŁ¦²¹Č=¹²˛ÞŠ˛×²Þ˛Č=¦ÞŠ¦ð˛¾¦ČK

Ò¹²˛ÞþŁð˛=Ł×šýšÞ¦W

NK Î˛Ž˛²ş=ðÞþ−ð³ K=Ï²þˇ×˛ŽšÞ¦š=₣˛¹þŁ=ý¦ł˛š²K

OK Ò¹²˛ÞþŁð˛=₣˛¹þŁW=³Šš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ I=−þŁš×Þ³²ş=×³₣ð³=
³−×˛ŁÝšÞ¦ČK

PK Ï²−³¹²¦²ş=ðÞþ−ð³K=ı˛¹Ş=¹þ¼×˛ÞšÞŞK

QK ÌþŁ²þ×Č²ş=Ğ˛ł¦=¹=N=−þ=P=ŠÝČ=³¹²˛ÞþŁð¦=ý¦Þ³²K
‡ŁšŠ÷ÞÞþš=Ł×šýČ=ˇ³Šš²=þ²þˇ×˛ŽšÞþ=Þ˛=ðþ×þ²ðþš=Ł×šýČ=−þÝÞþ¹²şćK=Â˛²šý=
−þČŁ¦²¹Č=¹²˛ÞŠ˛×²Þ˛Č=¦ÞŠ¦ð˛¾¦ČK

Ì×¦=Ł¦Šš=×šł³Ý¦×þŁ˛Þ¦Č=?Ï²ðÝć₣šÞþ?=þ²þ−ÝšÞ¦š=þ²ðÝć₣˛š²¹Č=Ł=
Þþ₣Þþý=×šŽ¦ýšK=Îþ₣Þ³ć=²šý−š×˛²³×³=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=ž˛Š˛²ş=
ÞšŁþžýþŽÞþK=Î˛=Š¦¹−ÝšÐ=ŁŞŁþŠ¦²¹Č=¹þþ²Łš²¹²Ł³ćğšš=¹þþˇğšÞ¦šK=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 17



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=þˇ¹Ý³Ž¦Ł˛Þ¦Č4 
QKT Ò¹²˛ÞþŁð˛=½³Þð¾¦¦=ðþÞ²³×˛=łþ×Č₣šłþ=ŁþŠþ¹Þ˛ˇŽšÞ¦Č

Ì×¦=²šý−š×˛²³×š=ŁþŠŞ=ŁŞĞš=SM Œ`=¹³ğš¹²Ł³š²=þ−˛¹Þþ¹²ş=þĞ−˛×¦Ł˛Þ¦Č>

‡eÊj^eÊbW=Ï−˛¹Þþ¹²ş=þŽþł˛>

Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð~=²šý−š×˛²³×Ş=łþ×Č₣šÐ=ŁþŠŞ=¹þ¹²˛ŁÝČš²=SM Œ`K=
Ì×¦=ˇþÝšš=ŁŞ¹þð¦¼=²šý−š×˛²³×˛¼=ŁþžÞ¦ð˛š²=þ−˛¹Þþ¹²ş=þĞ−˛×¦Ł˛Þ¦Č=
Ł=ýš¹²˛¼=ŁþŠþ×˛žˇþ×˛K=

Ì×¦=ž˛Š˛ÞÞþÐ=²šý−š×˛²³×š=ˇþÝšš=SM Œ`=þ²ð×ŞŁ˛Ð²š=¹Þ˛₣˛Ý˛=
¼þÝþŠÞ³ć=ŁþŠ³I=ž˛²šý=Šþˇ˛ŁÝČÐ²š=łþ×Č₣³ćK

‡eÊj^eÊbW=Ï−˛¹Þþ¹²ş=þŽþł˛>

Ì×¦=−×þŁšŠšÞ¦¦=²š×ý¦₣š¹ðþÐ=Ššž¦Þ½šð¾¦¦=ŁþŠ˛=Þ˛ł×šŁ˛š²¹Č=Šþ=
²šý−š×˛²³×Ş=ŁŞĞš=SM Œ`K

‡þ=Ł×šýČ=−×þŁšŠšÞ¦Č=²š×ý¦₣š¹ðþÐ=Ššž¦Þ½šð¾¦¦=¦=¹×˛ž³=−þ¹Ýš=Þšš=
þ²ð×ŞŁ˛Ð²š=¹Þ˛₣˛Ý˛=ð×˛Þ=¹=¼þÝþŠÞþÐ=ŁþŠþÐ=¦=−þ²þý=Šþˇ˛ŁÝČÐ²š=
łþ×Č₣³ćK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>18



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=þˇ¹Ý³Ž¦Ł˛Þ¦Č 4 
ı²þ\=‚ÝČ=₣šłþ\ Ò−×˛ŁÝšÞ¦š

Ê¹¼þŠÞ˛Č=¹¦²³˛¾¦ČW=Ë×ŞĞð˛=ž˛ð×Ş²˛K

ÊžýšÞšÞ¦š=²šý−š×˛²³×Ş=łþ×Č₣šÐ=
ŁþŠŞ

Ì×¦=ž˛ŁþŠ¹ðþÐ=³¹²˛ÞþŁðš=Łþ=Ł×šýČ=
½˛ž=Þ˛ł×šŁ˛Þ¦Č=EŠÞšŁÞþÐ=×šŽ¦ýF=
ŁŞˇ×˛ÞÞþÐ=−×þł×˛ýýŞ=
−š×šðÝć₣šÞ¦Č=Ł=×˛¹−þ×ČŽšÞ¦¦=
¦ýšš²¹Č=łþ×Č₣˛Č=ŁþŠ˛K=fl˛ð=ŠÝČ=
łþ×Č₣šÐ=ŁþŠŞ=ž˛−þÝÞČš²¹Č=³²×þý=ž˛=
PM=ý¦Þ³²=Šþ=Þ˛₣˛Ý˛=Þ˛ł×šŁ˛K=

„¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=
þ¹Þ˛ğšÞ˛=−³Ýş²þý=Š¦¹²˛Þ¾¦þÞÞþłþ=
³−×˛ŁÝšÞ¦Č=EÞ˛−×K=o`OMI=¹²×K OUFW=
²˛ðŽš=ýþŽÞþ=¦žýšÞ¦²ş=²šý−š×˛²³×³=
łþ×Č₣šÐ=ŁþŠŞ=Łþ=Ł¹šÐ=þ²þ−¦²šÝşÞþÐ=
³¹²˛ÞþŁðšI=−þÝşž³Č¹ş=−³Ýş²þý=
Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦ČK

ÊžýšÞ¦²ş=²šý−š×˛²³×³=łþ×Č₣šÐ=ŁþŠŞW=
³Šš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ I=
−þŁš×Þ³²ş=×³₣ð³ ³−×˛ŁÝšÞ¦Č K

„¹Ý¦=ˇ³Šš²=þ²þˇ×˛ŽšÞþ=¹þþˇğšÞ¦šI=₣²þ=
¦žýšÞšÞ¦š=³¹²˛ÞþŁð¦=ÞšŁþžýþŽÞþW=
−þŁš×Þ³²ş=×³₣ð³=³¹²˛ÞþŁð¦=ýþŠ³ÝČ=
³−×˛ŁÝšÞ¦Č=ðþ²Ý˛=Ł=−þÝþŽšÞ¦š =?^ìí?=NFK=

ÏŠ¦Þ=×˛ž=−þŠþł×š²ş=łþ×Č₣³ć=ŁþŠ³

ÒþÝşðþ=Ł=¹Ý³₣˛šI=š¹Ý¦=²šý−š×˛²³×˛=
−þÞ¦ž¦Ý˛¹ş=−þ=¹×˛ŁÞšÞ¦ć=¹=
Þ˛¹²×þšÞÞþÐ=²šý−š×˛²³×þÐ=łþ×Č₣šÐ=
ŁþŠŞ=Þ˛=R Œ`I=Łþ=Ł×šýČ=ŠÞšŁÞþłþ=
×šŽ¦ý˛=−×þ¦žþÐŠ÷²=−þŁ²þ×ÞŞÐ=
˛Ł²þý˛²¦₣š¹ð¦Ð=−þŠþł×šŁ=ŁþŠŞ=
E¹=¾šÝşć=ĆðþÞþý¦¦=ĆÞš×ł¦¦FK=

„¹Ý¦=‡˛ý=−þÞ˛Šþˇ¦²¹Č=ˇþÝşĞþÐ=
þˇİ÷ý=łþ×Č₣šÐ=ŁþŠŞ=Łš₣š×þý=¦Ý¦=ŁÞš=
Þ˛¹²×þšÞÞþłþ=¦Þ²š×Ł˛Ý˛=ŠÞšŁÞþłþ=
×šŽ¦ý˛I=‡Ş=¹ýþŽš²š=−þŠþł×š²ş=
ŁþŠ³K

˚²˛=½³Þð¾¦Č=Þš=×š˛Ý¦žþŁ˛Þ˛=Ł=
þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñK

‡Ş=¹ýþŽš²š=³žÞ˛²ş=þ=²þýI=₣²þ=²šý−š×˛²³×˛=
þ−³¹²¦Ý˛¹ş=Þ¦Žš=³¹²˛ÞþŁÝšÞÞþłþ=žÞ˛₣šÞ¦ČI=
−þ=ý¦ł˛Þ¦ćOF=ðÝ˛Ł¦Ğ¦ K

ÌþŠþł×šŁ=łþ×Č₣šÐ=ŁþŠŞ=Ł×³₣Þ³ćW=Þ˛Ž˛²ş=
ðÞþ−ð³ K

ÔŁš²þŠ¦þŠ=ðÞþ−ð¦ =ý¦ł˛š²OFK=
ÌþŠþł×šŁ=ŁþŠŞ=ŁðÝć₣÷Þ=¦=̨ Ł²þý˛²¦₣š¹ð¦=
ž˛Łš×Ğ÷ÞK

„¹Ý¦=−þŠþł×šŁ˛²ş=ŁþŠ³=Þš=Þ³ŽÞþ=EŁþŠ˛=šğ÷=
łþ×Č₣˛ČFI=−þČŁ¦²¹Č=¹þþˇğšÞ¦šK=fl³Šš²=
ž˛−³ğšÞ=¾¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=Eš¹Ý¦=þÞ=
š¹²şFI=₣²þˇŞ=łþ×Č₣˛Č=ŁþŠ˛=ˇŞ¹²×šš=Šþ¹²¦łÝ˛=
ýš¹²=ŁþŠþ×˛žˇþ×˛K

„¹Ý¦=Þ˛ł×šŁ=ŁþŠŞ=ŠþÝŽšÞ=ˇŞ²ş=−×š×Ł˛ÞW=
Þ˛Žý¦²š=šğ÷=×˛ž=ðÞþ−ð³ K

Ò˛ˇK=Q Ò¹²˛ÞþŁð˛=½³Þð¾¦¦=ðþÞ²³×˛=łþ×Č₣šłþ=ŁþŠþ¹Þ˛ˇŽšÞ¦Č=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 19
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QKU Â˛−×þ¹=¦Þ½þ×ý˛¾¦¦=EýšÞć=¦Þ½þ×ý˛¾¦¦F

‡=ýšÞć=¦Þ½þ×ý˛¾¦¦=ýþŽÞþ=−×þ¹ýþ²×š²ş=Þ˛¹²×þšÞÞŞš=¦=¦žýš×šÞÞŞš=žÞ˛₣šÞ¦ČK=
Ë˛ð˛Č=¦Þ½þ×ý˛¾¦Č=Šþ¹²³−Þ˛I=ž˛Ł¦¹¦²=þ²=³¹²˛ÞþŁÝšÞÞŞ¼=ðþý−þÞšÞ²þŁ=
þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦K

Óšł³ÝČ×Þþ=−þŠþł×šŁ˛²ş=łþ×Č₣³ć=
ŁþŠ³

„¹Ý¦=‡˛ý=×šł³ÝČ×Þþ=ŁÞš=³¹²˛ÞþŁÝšÞÞþłþ=
¦Þ²š×Ł˛Ý˛=ŠÞšŁÞþłþ=×šŽ¦ý˛=²×šˇ³ć²¹Č=
ˇþÝşĞ¦š=þˇİ÷ýŞ=łþ×Č₣šÐ=ŁþŠŞI=‡Ş=ýþŽš²š=
³¹²˛ÞþŁ¦²ş=þ²ŠšÝşÞ³ć=−×þł×˛ýý³=
−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ E¹²×˛Þ¦¾˛ PVFK

‡ðÝć₣šÞ¦šLþ²ðÝć₣šÞ¦š=
²š×ý¦₣š¹ðþÐ=Ššž¦Þ½šð¾¦¦

˚²˛=½³Þð¾¦Č=−þŠþł×šŁ˛š²=ŁþŠ³=Šþ=
²šý−š×˛²³×ŞI=Þšþˇ¼þŠ¦ýþÐ=ŠÝČ=
¦¹²×šˇÝšÞ¦Č=Łþžˇ³Š¦²šÝšÐ=ˇþÝšžÞšÐ=
EÞ˛−×KI=Ýšł¦þÞšÝÝFK

Ò¹²˛ÞþŁð˛=²š×ý¦₣š¹ðþÐ=Ššž¦Þ½šð¾¦¦
E¹²×˛Þ¦¾˛ QUFK

NF Ò¹²˛ÞþŁð˛=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K
OF ÔŁš²þŠ¦þŠ=…·þ×Č₣˛Č=ŁþŠ˛Ÿ=ýþŽš²=ˇŞ²ş=þ²ðÝć₣÷Þ=²˛ðŽš=−×šŠ−×¦Č²¦šý=¹¦¹²šýŞ=

þ²þ−ÝšÞ¦ČK

Ò−×˛ŁÝšÞ¦š Óšž³Ýş²˛²

NK Ï²ð×Ş²ş=ð×ŞĞð³=E−þ²ČÞ³²ş=ž˛=ŁŞšýð³=¹ÝšŁ˛FK

OK Î˛Žý¦²š=Þ˛=ðÞþ−ð³ I=₣²þˇŞ=þ²ð×Ş²ş=ýšÞć=
ÊÎÚÏÓÍfiÙÊ˝K

‡=²š₣šÞ¦š=−Č²¦=¹šð³ÞŠ=Š¦¹−ÝšÐ=ˇ³Šš²=þ²þˇ×˛Ž˛²ş=
¹þþˇğšÞ¦šI=³ð˛ž˛ÞÞþš=×ČŠþýK=Â˛²šý=−×þł×˛ýý˛=
˛Ł²þý˛²¦₣š¹ð¦=−×þŠþÝŽ¦²=×˛ˇþ²³K

-¦Ý¦-
ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č I=₣²þˇŞ=¹×˛ž³=−š×šÐ²¦=
ð=¹ÝšŠ³ćğšý³=¦ÞŠ¦ð˛²þ×³K

Ò˛ˇK=R ‡Ş=ýþŽš²š=¦¹−þÝşžþŁ˛²ş=ýšÞć=¦Þ½þ×ý˛¾¦¦=¹ÝšŠ³ćğ¦ý=þˇ×˛žþý

ı²þ\=‚ÝČ=₣šłþ\ Ò−×˛ŁÝšÞ¦š

Ò˛ˇK=Q Ò¹²˛ÞþŁð˛=½³Þð¾¦¦=ðþÞ²³×˛=łþ×Č₣šłþ=ŁþŠþ¹Þ˛ˇŽšÞ¦Č=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>20



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=þˇ¹Ý³Ž¦Ł˛Þ¦Č 4 
ÔþþˇğšÞ¦š=þ=Þ˛Ý¦₣¦¦=łþ×Č₣šÐ=ŁþŠŞ=Ł=ýšÞć=¦Þ½þ×ý˛¾¦¦

Ìþ²þð=łþ×Č₣šÐ=ŁþŠŞ=ð=ðþ²Ý³=þ²ðÝć₣÷ÞK=˚²þ=¹þþˇğšÞ¦š=þžÞ˛₣˛š²I=₣²þ=Þ˛=
−³Ýş²š=³−×˛ŁÝšÞ¦Č=ðþ²Ý˛=×³₣ð˛=³−×˛ŁÝšÞ¦Č= =³¹²˛ÞþŁÝšÞ˛=Ł=−þÝþŽšÞ¦š="M"K=
Ò¹²˛ÞþŁ¦²š=×³₣ð³=³−×˛ŁÝšÞ¦Č=Ł=−þÝþŽšÞ¦š ="^ìí"=NFI=₣²þˇŞ=−×þ¾š¹¹=
−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ=×šł³Ý¦×þŁ˛Ý¹Č=₣š×šž=o`PRK

·×˛½¦₣š¹ð˛Č=¦ÞŠ¦ð˛¾¦Č=Ł=ýšÞć=¦Þ½þ×ý˛¾¦¦=E¦žýšÞšÞ¦š=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=¦=³ŁšÝ¦₣šÞ¦š=²šý−š×˛²³×Ş=ž˛=¹₣÷²=¹þÝÞš₣ÞþÐ=ĆÞš×ł¦¦F

ÍšÞć=¦Þ½þ×ý˛¾¦¦I=ð=−×¦ýš×³I=−×šŠÝ˛ł˛š²=‡˛ý=ŁþžýþŽÞþ¹²ş=ł×˛½¦₣š¹ðþłþ=
þ²þˇ×˛ŽšÞ¦Č=¦žýšÞšÞ¦Ð=²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=Ł=²š₣šÞ¦š=−þ¹ÝšŠÞ¦¼=
ŠŁ³¼=ŠÞšÐI=̨ =²˛ðŽš=Eš¹Ý¦=³¹²˛ÞþŁÝšÞŞ=ðþý−þÞšÞ²Ş=łšÝ¦þ³¹²˛þŁð¦F=³ŁšÝ¦₣šÞ¦š=
²šý−š×˛²³×Ş=ž˛=¹₣÷²=¹þÝÞš₣Þþłþ=²š−Ý˛K=Ò˛ð¦ý=þˇ×˛žþýI=‡Ş=−þÝ³₣˛š²š=
þˇþž×¦ý³ć=ð˛×²¦Þ³I=þˇÝšł₣˛ćğ³ć=‡˛ý=¹þ−þ¹²˛ŁÝšÞ¦š=²šð³ğ¦¼=žÞ˛₣šÞ¦ÐK=

PK ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŠÝČ=−×þ¹ýþ²×˛=
−×þ₣šÐ=¦Þ½þ×ý˛¾¦¦K=

QK ‚ÝČ=ž˛ð×Ş²¦Č=ýšÞć=¦Þ½þ×ý˛¾¦¦W=Þ˛Ž˛²ş=ðÞþ−ð³ =
¦Ý¦=ž˛ð×Ş²ş=ð×ŞĞð³K=

ÌþČŁÝČš²¹Č=¹²˛ÞŠ˛×²Þ˛Č=¦Þ½þ×ý˛¾¦ČK

NF Ò¹²˛ÞþŁð˛=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K

ËÞþ−ð¦=−š×šðÝć₣šÞ¦Č=×šŽ¦ýþŁ=×˛ˇþ²Ş=Ł=ýšÞć=¦Þ½þ×ý˛¾¦¦=Þš=
ŠšÐ¹²Ł³ć²K

‡=þˇþ¦¼=þðÞ˛¼=ł×˛½¦ð=˛ð²³˛Ý¦ž¦×³š²¹Č=ð˛ŽŠŞš=NR=ý¦Þ³²I=˛=²˛ðŽš=Ł=
MWMM=₣˛¹þŁ=Þ˛₣¦Þ˛š²=¹²×þ¦²ş¹Č=ÞþŁŞÐ=ł×˛½¦ðK=ÌþĆ²þý³=þ²=MWMM=Šþ=
MWNQ ¦ÞŠ¦ð˛¾¦Č=ž˛=²šð³ğ¦š=¹³²ð¦=Þš=þ²þˇ×˛Ž˛š²¹ČK=
Í¦Þ¦ý˛ÝşÞŞš=¦=ý˛ð¹¦ý˛ÝşÞŞš=žÞ˛₣šÞ¦Č=¹þ−þ¹²˛ŁÝČć²¹Č=Ł=
Š¦Þ˛ý¦₣š¹ðþý=×šŽ¦ýšK

Ò−×˛ŁÝšÞ¦š Óšž³Ýş²˛²

Ò˛ˇK=R ‡Ş=ýþŽš²š=¦¹−þÝşžþŁ˛²ş=ýšÞć=¦Þ½þ×ý˛¾¦¦=¹ÝšŠ³ćğ¦ý=þˇ×˛žþý
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 21
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ÊžýšÞšÞ¦š=²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=Eýš²šþ¹²˛Þ¾¦ČFW

Î˛=ŠŁ³¼=¦ÞŠ¦ð˛²þ×˛¼=¦žýšÞšÞ¦š=²šý−š×˛²³×Ş=þ²þˇ×˛Ž˛š²¹Č=ž˛=²šð³ğ¦šI=˛=
²˛ðŽš=ž˛=−×þĞšŠĞ¦š=¹³²ð¦K=‚þ−þÝÞ¦²šÝşÞþ=þ²þˇ×˛Ž˛ć²¹Č=ý˛ð¹¦ý˛ÝşÞþš=¦=
ý¦Þ¦ý˛ÝşÞþš=žÞ˛₣šÞ¦Č=ž˛=−š×¦þŠ=¹=MWMM ₣˛¹þŁ=−×þĞšŠĞ¦¼=¹³²þðK=

ÒŁšÝ¦₣šÞ¦š=²šý−š×˛²³×Ş=ž˛=¹₣÷²=¹þÝÞš₣ÞþÐ=ĆÞš×ł¦¦NFW

ÊÞŠ¦ð˛¾¦Č=³ŁšÝ¦₣šÞ¦Č=²šý−š×˛²³×Ş=ž˛=¹₣÷²=¹þÝÞš₣ÞþÐ=ĆÞš×ł¦¦=łþŁþ×¦²=þ=²þýI=
ð˛ð˛Č=ŠþÝČ=Ł=Þ˛ł×šŁ˛Þ¦¦=ŁþŠŞ=ŁÞþ¹¦²¹Č=łšÝ¦þðþÝÝšð²þ×þýK=˚²˛=ŠþÝČ=
þ−×šŠšÝČš²¹Č=−×¦=ž˛ýš×š=×˛žÞþ¹²¦=²šý−š×˛²³×Ş=ýšŽŠ³=ˇ˛ðþý=¦=
łšÝ¦þðþÝÝšð²þ×þý=Ł=¹þ₣š²˛Þ¦¦=¹=ýþŠ³ÝČ¾¦šÐ=Þ˛¹þ¹˛=¹=łšÝ¦þðþÝÝšð²þ×þý¦K=

ÒŁšÝ¦₣šÞ¦š=²šý−š×˛²³×Ş=ž˛=¹₣÷²=¹þÝÞš₣ÞþÐ=ĆÞš×ł¦¦=þ¹þˇšÞÞþ=ž˛Ł¦¹¦²=þ²=
¦Þ¹²˛ÝÝ¦×þŁ˛ÞÞþÐ=³¹²˛ÞþŁð¦=¹=š÷=ðþý−þÞšÞ²˛ý¦I=¦=−þĆ²þý³=Þš=−×šŠÞ˛žÞ˛₣šÞþ=
ŠÝČ=þ²þˇ×˛ŽšÞ¦Č=žÞ˛₣šÞ¦Ð=Ł=ð¦ÝþŁ˛²²�₣˛¹˛¼K=ÂÞ˛₣šÞ¦š=Þ˛=¦ÞŠ¦ð˛²þ×šI=²˛ð¦ý=
þˇ×˛žþýI=¦ýšš²=¹−š¾¦½¦ð³=Š˛ÞÞþÐ=³¹²˛ÞþŁð¦I=ðþ²þ×˛Č=−Ýþ¼þ=−þŠłþÞČš²¹Č=−þŠ=
Š×³ł¦š=łšÝ¦þðþÝÝšð²þ×ŞK=Òšý=Þš=ýšÞššI=þÞþ=−×¦łþŠÞþ=ŠÝČ=¹þ−þ¹²˛ŁÝšÞ¦Č=¹þ=
žÞ˛₣šÞ¦Čý¦=³ŁšÝ¦₣šÞ¦Č=²šý−š×˛²³×Ş=ž˛=×˛žÝ¦₣ÞŞš=ŠÞ¦K=

QKV ÔþþˇğšÞ¦Č=Þ˛=Š¦¹−Ýšš

QKNM ‡ŞŁþŠ=¦ž=Ćð¹−Ý³˛²˛¾¦¦L‡ŞðÝć₣šÞ¦š
˚Ýšð²×þ−¦²˛Þ¦š=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=o`PR=þ¹³ğš¹²ŁÝČš²¹Č=þ²=þ²þ−¦²šÝşÞþÐ=
³¹²˛ÞþŁð¦=¦=þ¹²˛÷²¹Č=−þ¹²þČÞÞþ=ŁðÝć₣÷ÞÞŞýK=ÏÞþ=ŁŞðÝć₣˛š²¹Č=²þÝşðþ=Ł=²þý=
¹Ý³₣˛šI=š¹Ý¦=þ²ðÝć₣˛š²¹Č=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛I=Þ˛−×¦ýš×I=ŠÝČ=−×þŁšŠšÞ¦Č=
²š¼Þ¦₣š¹ðþłþ=þˇ¹Ý³Ž¦Ł˛Þ¦ČK

‚ÝČ=ŁðÝć₣šÞ¦Č=¦Ý¦=ŁŞðÝć₣šÞ¦Č=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦W=−š×šŁšŠ¦²š=
−³¹ðþŁþÐ=ŁŞðÝć₣˛²šÝş=Þ˛=ðþ²Ýš=Ł=−þÝþŽšÞ¦š=N E‡ËÈF=¦Ý¦=M E‡˘ËÈFK

NF Ú³Þð¾¦Č=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K

Ì³Ýş²=³−×˛ŁÝšÞ¦Č=þ²þˇ×˛Ž˛š²=¹þþˇğšÞ¦šI=ðþłŠ˛I=
Þ˛−×¦ýš×I=−×¦=Š˛ÞÞŞ¼=³¹ÝþŁ¦Č¼=³¹²˛ÞþŁð~=ÞšŁþžýþŽÞ˛K=

„¹Ý¦=Þ˛=Š¦¹−Ýšš=ŁÞ¦ž³=þ²þˇ×˛Ž˛š²¹Č=¹þþˇğšÞ¦š=‚ÝČ=
−×þŠþÝŽšÞ¦Č=Þ˛Žý¦²š=Ýćˇ³ć=ðÝ˛Ł¦Ğ³W

¹ÝšŠ³š²=Þ˛Ž˛²ş=Ýćˇ³ć=ðÞþ−ð³I=₣²þˇŞ=−þŠ²Łš×Š¦²ş=¦=
ž˛ð×Ş²ş=¹þþˇğšÞ¦šK

Ìþ¹Ýš=þ²ðÝć₣šÞ¦Č=¦Ý¦=−×¦=þ²¹³²¹²Ł¦¦=Þ˛−×ČŽšÞ¦Č=Ł=¹š²¦=Š˛²˛=¦=
Ł×šýČ=¹þ¼×˛ÞČć²¹Č=Ł=²š₣šÞ¦š=Šþ=U=₣˛¹þŁK=‡¹š=þ¹²˛ÝşÞŞš=³¹²˛ÞþŁð¦=
¹þ¼×˛ÞČć²¹Č=ˇþÝšš=ŠÝ¦²šÝşÞþš=Ł×šýČK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>22



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
R Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛

RKN ‡ŁšŠšÞ¦š=Ł=ýšÞć=þ−š×˛²þ×˛

Ô=−þýþğşć=ýšÞć=þ−š×˛²þ×˛=‡Ş=ýþŽš²š=ŁŞ−þÝÞ¦²ş=þ−×šŠšÝ÷ÞÞŞš=³¹²˛ÞþŁð¦K=
Ô−þ¹þˇ=ŠšÐ¹²Ł¦Č=−×¦=³−×˛ŁÝšÞ¦¦=Ł¹šłŠ˛=þŠ¦Þ˛ðþŁW

NK Ï²ð×Ş²ş=ð×ŞĞð³=E−þ²ČÞ³²ş=ž˛=ŁŞšýð³=¹ÝšŁ˛FK

OK Î˛Žý¦²š=Þ˛=ðÞþ−ð³ I=₣²þˇŞ=þ²ð×Ş²ş=ýšÞć=Í„Î¸=ÏÌ„ÓfiÒÏÓfiK=

PK ÌþŁš×Þ¦²š=×³₣ð³=³−×˛ŁÝšÞ¦Č= I=₣²þˇŞ=¦žýšÞ¦²ş=ŁŞˇ×˛ÞÞŞÐ=−˛×˛ýš²×=
Eþ²ýš₣šÞÞŞÐ= =FK

QK Î˛Žý¦²š=ðÞþ−ð³ I=₣²þˇŞ=ŁŞˇ×˛²şK

RK ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ =EžÞ˛₣šÞ¦š=ý¦ł˛š²F=−þŁš×Þ³²ş=×³₣ð³=
³−×˛ŁÝšÞ¦Č= =ŠÝČ=¦žýšÞšÞ¦Č=žÞ˛₣šÞ¦ČK
Ï²−³¹²¦²ş=ðÞþ−ð³W=¦žýšÞšÞ¦š=žÞ˛₣šÞ¦Č=¹þ¼×˛Þ¦²¹Č=Ł=−˛ýČ²¦K

SK Î˛Ž˛²ş=ðÞþ−ð³ I=₣²þˇŞ=Łš×Þ³²ş¹Č=Þ˛=Ğ˛ł=Þ˛ž˛ŠK

-¦Ý¦-

Îš¹ðþÝşðþ=×˛ž=Þ˛Ž˛²ş=ðÞþ−ð³= =¦Ý¦=ž˛ð×Ş²ş=ð×ŞĞð³=ŠÝČ=−þŁ²þ×Þþłþ=
þ²þˇ×˛ŽšÞ¦Č=¹²˛ÞŠ˛×²Þþłþ=¦ÞŠ¦ð˛²þ×˛K

Î˛−×¦ýš×W=×šŽ¦ý=×˛ˇþ²Ş=Îš−×š×ŞŁÞŞÐ=−þŠþł×šŁ=³¹²˛Þ˛ŁÝ¦Ł˛š²¹Č=ŠÝČ=
þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=N

Ò−×˛ŁÝšÞ¦š Óšž³Ýş²˛²

NK Ï²ð×Ş²ş=ð×ŞĞð³=E−þ²ČÞ³²ş=ž˛=ŁŞšýð³=¹ÝšŁ˛FK

OK Î˛Žý¦²š=Þ˛=ðÞþ−ð³ =I=₣²þˇŞ=þ²ð×Ş²ş=ýšÞć=Í„Î¸=
ÏÌ„ÓfiÒÏÓfiK

Ò˛ˇK=S ‡Ş=ýþŽš²š=¦¹−þÝşžþŁ˛²ş=ýšÞć=þ−š×˛²þ×˛=¹ÝšŠ³ćğ¦ý=þˇ×˛žþý=EÌ×¦ýš×F
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 23



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
PK ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŁÝšŁþ=Šþ=²š¼=−þ×I=
−þð˛=Þš=ˇ³Šš²=ŁŞˇ×˛Þ=−³Þð²=ÓšŽ¦ý=×˛ˇþ²Ş==
Eý˛×ð¦×þŁ˛Þ=¹=−þýþğşć= FK=

QK Î˛Žý¦²š=ðÞþ−ð³= I=₣²þˇŞ=−þŠ²Łš×Š¦²ş=ŁŞˇþ×K

Ï²ð×þš²¹Č=ýšÞć=ÏÌ„ÓfiÒÏÓy=‡Ê‚=ÓfiflÏÒ˘K

Ï²þˇ×˛ŽšÞ¦š=Þ˛=Š¦¹−Ýšš=ž˛Ł¦¹¦²=þ²=₣¦¹Ý˛=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁK=„¹Ý¦=¦ýšš²¹Č=²þÝşðþ=þŠ¦Þ=
þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×I=Þþ=Þ¦=−×¦²þð˛=łþ×Č₣šÐ=ŁþŠŞI=Þ¦=
¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛=Ł=¹¦¹²šýš=Þš²I=Ć²þ²=¦ÞŠ¦ð˛²þ×=
Þš=ˇ³Šš²=þ²þˇ×˛Ž÷Þ=E¹²×˛Þ¦¾˛ OSFK=

‚˛Ýšš=ð=¹ÝšŠ³ćğšý³=Ğ˛ł³K

RK Î˛Ž˛²ş=ðÞþ−ð³ =ŠÝČ=ŁŞˇþ×˛=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛ NK

SK ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³= =EžÞ˛₣šÞ¦š=ý¦ł˛š²FI=
−þŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č== =ŠÝČ=¦žýšÞšÞ¦Č=
žÞ˛₣šÞ¦ČK

TK Ï²−³¹²¦²ş=ðÞþ−ð³ K=

ÂÞ˛₣šÞ¦š=−š×š¹²˛Þš²=ý¦ł˛²şK=ÊžýšÞ÷ÞÞþš=žÞ˛₣šÞ¦š=
¹þ¼×˛ÞšÞþK

UK „¹Ý¦=‡Ş=ŁŞ−þÝÞ¦Ý¦=Ć²þ=ŠšÐ¹²Ł¦š=²þÝşðþ=ŠÝČ=−×þˇŞW=
³ˇšŠ¦²š¹şI=₣²þ=¹þ¼×˛Þ¦Ý˛¹ş=¦¹¼þŠÞ˛Č=³¹²˛ÞþŁð~K

‚ÝČ=Ć²þłþ=−×¦=Þšþˇ¼þŠ¦ýþ¹²¦=−þŁ²þ×¦²š=Ğ˛ł¦=S=¦=TK

Ò−×˛ŁÝšÞ¦š Óšž³Ýş²˛²

Ò˛ˇK=S ‡Ş=ýþŽš²š=¦¹−þÝşžþŁ˛²ş=ýšÞć=þ−š×˛²þ×˛=¹ÝšŠ³ćğ¦ý=þˇ×˛žþý=EÌ×¦ýš×F
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>24



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
RKO Ïˇžþ×=ýšÞć=þ−š×˛²þ×˛

ÍšÞć=þ−š×˛²þ×˛=¦ýšš²=¹ÝšŠ³ćğ¦š=−³Þð²ŞW

VK Î˛Ž˛²ş=ðÞþ−ð³ I=₣²þˇŞ=Łš×Þ³²ş¹Č=Þ˛=Ğ˛ł=Þ˛ž˛ŠK

-¦Ý¦-

‚ÝČ=ž˛Łš×ĞšÞ¦Č=³¹²˛ÞþŁð¦W=Þš¹ðþÝşðþ=×˛ž=Þ˛Ž˛²ş=
ðÞþ−ð³ =¦Ý¦=ž˛ð×Ş²ş=ð×ŞĞð³K=

ÌþČŁÝČš²¹Č=¹²˛ÞŠ˛×²Þ˛Č=¦Þ½þ×ý˛¾¦ČK

Ô=−þýþğşć=Š˛ÞÞþłþ=¹−þ¹þˇ˛=ŠšÐ¹²Ł¦Č=‡Ş=ýþŽš²š=ŁŞ−þÝÞ¦²ş=Ł¹š=³¹²˛ÞþŁð¦=Ł=
Í„Î¸=ÏÌ„ÓfiÒÏÓfiK

Ì³Þð²=ýšÞć Î˛žÞ˛₣šÞ¦š=−³Þð²˛=ýšÞć Ô²×K

Ô²˛ÞŠ˛×²Þ˛Č=
¦ÞŠ¦ð˛¾¦Č

‡Şˇš×¦²š=¹²˛ÞŠ˛×²Þ³ć=¦ÞŠ¦ð˛¾¦ć=E−þ¹²þČÞÞ³ćF=Þ˛=
Š¦¹−Ýšš=

PM

ÓšŽ¦ý=×˛ˇþ²Ş Ò¹²˛ÞþŁ¦²ş=×šŽ¦ý=×˛ˇþ²Ş=ŠÝČ=Ł¹š¼=³¹²˛ÞþŁÝšÞÞŞ¼=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=EfiŁ²þý˛²¦₣š¹ð¦ÐI=
Ìþ¹²þČÞÞþš=þ²þ−ÝšÞ¦šI=Ìþ¹²þČÞÞ˛Č=ĆðþÞþý¦ČFI=ýþŽÞþ=
²˛ðŽš=ŠÝČ=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=łþ×Č₣šÐ=ŁþŠŞ=¦=
¾¦×ð³ÝČ¾¦¦

PM

Ì×þł×˛ýý˛=
−š×šðÝć₣šÞ¦Č

¦žýšÞšÞ¦š=×šŽ¦ý˛=×˛ˇþ²Ş=¹=ŠÞšŁÞþłþ=Þ˛=Þþ₣ÞþÐ=¦=
þˇ×˛²Þþ=Ł=þ−×šŠšÝ÷ÞÞþš=Ł×šýČ=Ł=þ−×šŠšÝ÷ÞÞŞš=ŠÞ¦=
ÞšŠšÝ¦=E˛ð²¦ŁÞþ=²þÝşðþ=Ł=˛Ł²þý˛²¦₣š¹ðþý=×šŽ¦ýšFI=
ŠÝČ=ðþÞ²³×þŁ=łþ×Č₣šÐ=ŁþŠŞ=¦=¾¦×ð³ÝČ¾¦¦=ŁþžýþŽÞþ=
¹þžŠ˛Þ¦š=þ²ŠšÝşÞŞ¼=−×þł×˛ýý

PO

Ìþ×þł=−š×šðÝć₣šÞ¦Č=
¹=ž¦ýÞšłþ=Þ˛=Ýš²Þšš=
Ł×šýČ=¦=Þ˛þˇþ×þ²

˛Ł²þý˛²¦₣š¹ðþš=−š×šðÝć₣šÞ¦š=¹=ž¦ýÞšłþ=Þ˛=Ýš²Þšš=
Ł×šýČ=¦=Þ˛þˇþ×þ²=Ež˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=
Þ˛=³Ý¦¾šF

QM

Èš²ÞššLž¦ýÞšš=
Ł×šýČ

fiŁ²þý˛²¦₣š¹ðþš=−š×šðÝć₣šÞ¦š=¹=Ýš²Þšłþ=Þ˛=ž¦ýÞšš=
Ł×šýČ=¦=Þ˛þˇþ×þ²

QN

Òšý−š×˛²³×˛=
łþ×Č₣šÐ=ŁþŠŞ

Ò¹²˛ÞþŁð˛=²šý−š×˛²³×Ş=łþ×Č₣šÐ=ŁþŠŞ QO

Ï²−³¹ð −š×š×ŞŁ=Ł=×˛ˇþ²š=³¹²˛ÞþŁÝšÞÞþÐ=−×þł×˛ýýŞ=
−š×šðÝć₣šÞ¦Č=Þ˛=Ł×šýČ=þ²−³¹ð˛=EŠÝČ=ĆðþÞþý¦¦=
ĆÞš×ł¦¦=−×¦=þ²¹³²¹²Ł¦¦=¦=ðþý½þ×²˛=−×¦=Þ˛¼þŽŠšÞ¦¦=Ł=
ŠþýšF

QO

Ò˛ˇK=T ÍšÞć=þ−š×˛²þ×˛

Ò−×˛ŁÝšÞ¦š Óšž³Ýş²˛²

Ò˛ˇK=S ‡Ş=ýþŽš²š=¦¹−þÝşžþŁ˛²ş=ýšÞć=þ−š×˛²þ×˛=¹ÝšŠ³ćğ¦ý=þˇ×˛žþý=EÌ×¦ýš×F
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 25
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2

5 
NF= Ú³Þð¾¦Č=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K

RKP ‡Şˇþ×=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛

„¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ˛=Þš¹ðþÝşð¦ý¦=þ²þ−¦²šÝşÞŞý¦=
ðþÞ²³×˛ý¦W=−š×šŠ=²šýI=ð˛ð=−×¦ýšÞ¦²ş=Þšðþ²þ×Şš=³¹²˛ÞþŁð¦I=‡Ş=ŠþÝŽÞŞ=
ŁŞˇ×˛²şI=¹ðþÝşðþ=¦=ð˛ð¦š=þ²þ−¦²šÝşÞŞš=ðþÞ²³×Ş=ˇ³Š³²=−þŠ₣¦ÞČ²ş¹Č=Ć²þÐ=
³¹²˛ÞþŁðšK=fl³Š³²=þ²þˇ×˛ŽšÞŞ=²þÝşðþ=²š=ðþÞ²³×ŞI=ðþ²þ×Şš=ŠšÐ¹²Ł¦²šÝşÞþ=
¦ýšć²¹Č=Ł=¹¦¹²šýšW=

Ú³Þð¾¦Č=‡š₣š×¦Þð˛ þŠÞþð×˛²Þþš=−×þŠÝšÞ¦š=ŠÞšŁÞþłþ=×šŽ¦ý˛=Þ˛=
þ−×šŠšÝ÷ÞÞþš=Ł×šýČ

QT

Ú³Þð¾¦Č=Ì˛³ž~ þŠÞþð×˛²Þþš=−×š×ŞŁ˛Þ¦š=ŠÞšŁÞþłþ=×šŽ¦ý˛=Þ˛=
þ−×šŠšÝ÷ÞÞþš=Ł×šýČ=EŁ¹ŁČž¦=¹=þ²¹³²¹²Ł¦šýF

QT

Òš×ý¦₣š¹ð˛Č=
Ššž¦Þ½šð¾¦ČNF

ÌþŠþł×šŁ=łþ×Č₣šÐ=ŁþŠŞ=ŠÝČ=¦¹²×šˇÝšÞ¦Č=
Łþžˇ³Š¦²šÝšÐ=ž˛ˇþÝšŁ˛Þ¦Ð

QU

Ëþ××šð¾¦Č=ðþýÞK=
²šý−š×˛²³×Ş

ðþ××šð¾¦Č=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=¹=
−þýþğşć=²š×ýþýš²×˛

QU

Ì×šŠŁ˛×¦²šÝşÞŞÐ=
Þ˛ł×šŁ

³¹²˛ÞþŁð~=ł˛žþŁþłþ=²š−ÝþŁþłþ=Þ˛¹þ¹˛ QV

‡Şˇþ×=þ²þ−K=ðþÞ²³×˛ ÌþČ¹ÞšÞ¦š

Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=N Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=ˇšž=¹ýš¹¦²šÝČ

e˛₣¦Þ˛Č=¹=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛=ONF

Ï²þ−¦²šÝşÞŞš=ðþÞ²³×Ş=¹þ=¹ýš¹¦²šÝšýI=²K šK=¹þ=¹Þ¦ŽšÞ¦šý=
²šý−š×˛²³×Ş=−þŠ˛ćğšÐ=Ý¦Þ¦¦

Ï²þ−¦²šÝşÞŞš=ðþÞ²³×Ş=
o`PR

Ł¹š=þ²þ−¦²šÝşÞŞš=ðþÞ²³×ŞI=−þŠ₣¦Þ÷ÞÞŞš=o`PR=I=²K šK=Þš=
¦ýšćğ¦š=¹þˇ¹²ŁšÞÞþłþ=Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦Č
E×¦¹³Þþð OI=NFX=¹þþˇğšÞ¦š=−þČŁÝČš²¹Č=²þÝşðþ=š¹Ý¦=
ðþÞ²³×þŁI=−þŠ₣¦Þ÷ÞÞŞ¼=o`PRI=Ł=¹¦¹²šýš=ˇþÝşĞš

·þ×Č₣˛Č=ŁþŠ˛
Ì×¦łþ²þŁÝšÞ¦š=łþ×Č₣šÐ=ŁþŠŞI=×šł³Ý¦×³šýþš=¹=−þýþğşć=
o`PR

Ù¦×ð³ÝČ¾¦Č=NF Ù¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹I=³−×˛ŁÝČšýŞÐ=₣š×šž=o`PR

·šÝ¦þðþÝÝšð²þ×NF ËþÝÝšð²þ×I=š¹Ý¦=³¹²˛ÞþŁÝšÞ

‡¹Č=³¹²˛ÞþŁð˛ Ł¹š=þ²þ−¦²šÝşÞŞš=ðþÞ²³×ŞI=łþ×Č₣˛Č=ŁþŠ˛I=¾¦×ð³ÝČ¾�
¦þÞÞŞÐ=Þ˛¹þ¹=¦=łšÝ¦þðþÝÝšð²þ×

Ò˛ˇK=U Ï²þ−¦²šÝşÞŞš=ðþÞ²³×ŞI=ðþ²þ×Şš=ýþł³²=ˇŞ²ş=³¹²˛ÞþŁÝšÞŞ=Ł=þ²þ−¦²šÝşÞþÐ=
¹¦¹²šýš

Ì³Þð²=ýšÞć Î˛žÞ˛₣šÞ¦š=−³Þð²˛=ýšÞć Ô²×K

Ò˛ˇK=T ÍšÞć=þ−š×˛²þ×˛
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>6



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
NF Ú³Þð¾¦Č=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K

ÔþŁš²W=„¹Ý¦=³¹²˛ÞþŁÝšÞþ=Þš¹ðþÝşðþ=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁI=Ł=
ˇþÝşĞ¦Þ¹²Łš=¹Ý³₣˛šŁ=¦ýšš²=¹ýŞ¹Ý=ŁŞˇ×˛²ş=þ²þ−¦²šÝşÞŞš=ðþÞ²³×Ş=
o`PRK=

„¹Ý¦=Ł=¹¦¹²šýš=¦ýšš²¹Č=þŠ¦Þ=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×I=Þþ=Þš²=Þ¦=łþ×Č₣šÐ=
ŁþŠŞI=Þ¦=¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛I=Þ¦=łšÝ¦þðþÝÝšð²þ×˛I=
Þšþˇ¼þŠ¦ýþ¹²ş=ŁŞˇþ×˛=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=þ²−˛Š˛š²K=
‡=Þšðþ²þ×Ş¼=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=Þšþˇ¼þŠ¦ýþ¹²ş=ŁŞˇþ×˛=
þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=þ²−˛Š˛š²K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 27



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
ı²þ=²˛ðþš=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×\

Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=−×šŠ¹²˛ŁÝČš²=¹þˇþÐ=¾¦×ð³ÝČ¾¦þÞÞŞÐ=ðþÞ²³×I=−þ=
ðþ²þ×þý³=ŁþŠ˛=¦ž=ðþ²Ý˛=−þ¹²³−˛š²=Ł=þ²þ−¦²šÝşÞŞš=−×¦ˇþ×Ş=¦=¦ž=Þ¦¼=þˇ×˛²Þþ=Ł=
ðþ²÷ÝK=Ë=þŠÞþý³=þ²þ−¦²šÝşÞþý³=ðþ²Ý³=ýþł³²=ˇŞ²ş=−þŠðÝć₣šÞŞ=Þš¹ðþÝşðþ=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁI=Þ˛−×¦ýš×I=ðþÞ²³×=þ²þ−¦²šÝşÞŞ¼=−×¦ˇþ×þŁ=¦=
Šþ−þÝÞ¦²šÝşÞþ=ðþÞ²³×=ŠÝČ=þˇþł×šŁ˛=−þÝ˛K=Ï²þ−¦²šÝşÞŞš=−×¦ˇþ×Ş=×˛ˇþ²˛ć²=Þ˛=
ŁþŠš=¹=ˇþÝšš=ŁŞ¹þðþÐ=²šý−š×˛²³×þÐ=−þŠ˛ćğšÐ=Ý¦Þ¦¦I=₣šý=þˇþł×šŁ=−þÝþŁK=
Òšý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦=�=Ć²þ=²šý−š×˛²³×˛=ŁþŠŞI=Þ˛ł×š²þÐ=Ł=ðþ²ÝšI=
ðþ²þ×˛Č=−þŠ˛÷²¹Č=Ł=−þŠ˛ćğ³ć=Ý¦Þ¦ć=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛K

Ô=−þýþğşć=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=o`PR=‡Ş=ýþŽš²š=³−×˛ŁÝČ²ş=ýÞþł¦ý¦=
þ²þ−¦²šÝşÞŞý¦=ðþÞ²³×˛ý¦=¦=×šł³Ý¦×þŁ˛²ş=¦¼=E×¦¹³Þþð OI=NFK=Ìþý¦ýþ=−³Ýş²˛=
³−×˛ŁÝšÞ¦Č=o`PR=ŠÝČ=Š×³ł¦¼=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=²˛ðŽš=ýþŽš²=ˇŞ²ş=
³¹²˛ÞþŁÝšÞ=þ²ŠšÝşÞŞÐ=−³Ýş²=?Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦Č?=EÞ˛−×K=o`OMF=
E×¦¹³Þþð OI=OFK=‚¦¹²˛Þ¾¦þÞÞþš=³−×˛ŁÝšÞ¦š=¦ýšš²=¹ýŞ¹Ý=Ł=²þý=¹Ý³₣˛šI=š¹Ý¦=Ł=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×˛¼=ŽšÝ˛²šÝşÞþ=¦¹−þÝşžþŁ˛²ş=×˛žÝ¦₣ÞŞš=þ²þ−¦²šÝşÞŞš=
¹¦¹²šýŞ=EÞ˛−×K=×˛Š¦˛²þ×L−þŠþł×šŁ=−þÝ˛F=¦L¦Ý¦=×˛žÝ¦₣ÞŞš=³×þŁÞ¦=²šý−š×˛²³×ŞK

Ó¦¹K=O ‡þžýþŽÞþ¹²¦=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦=¹=ŠŁ³ýČ=þ²þ−¦²šÝşÞŞý¦=
ðþÞ²³×˛ý¦

N Ïˇ˛=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×˛=×šł³Ý¦×³ć²¹Č=¹=þŠÞþłþ=−³Ýş²˛=³−×˛ŁÝšÞ¦ČK
O Ë˛ŽŠŞÐ=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=þˇþ×³ŠþŁ˛Þ=¹þˇ¹²ŁšÞÞŞý=−³Ýş²þý=

³−×˛ŁÝšÞ¦Č=¦Ý¦=Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦ČK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>28



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
ÏˇþžÞ˛₣šÞ¦š=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=ŠÝČ=−×¦ýš×˛=Þ˛=×¦¹³Þðš O

„¹Ý¦=‡Ş=¼þ²¦²š=ŁŞ−þÝÞ¦²ş=³¹²˛ÞþŁð³I=ŠšÐ¹²Ł¦²šÝşÞ³ć=²þÝşðþ=ŠÝČ=
þ−×šŠšÝ÷ÞÞþłþ=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛I=‡Ş=ŠþÝŽÞŞ=¹Þ˛₣˛Ý˛=ŁŞˇ×˛²ş=ðþÞ²³×K=
‚ÝČ=ŁŞˇþ×˛=Ł=‡˛Ğšý=×˛¹−þ×ČŽšÞ¦¦=þˇþžÞ˛₣šÞ¦ČI=−š×š₣¦¹ÝšÞÞŞš=Ł=²˛ˇÝ¦¾š=VK=

Ò¹²˛ÞþŁð˛=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=Þ˛=×˛žÝ¦₣ÞŞš=²šý−š×˛²³×Ş=E²˛ˇÝ¦¾˛=VI=NÄF=
ŁþžýþŽÞ˛=²˛ðŽš=¹=−þýþğşć=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=o`PR=ˇšž=Š¦¹²˛Þ¾¦þÞÞþłþ=
³−×˛ŁÝšÞ¦ČI=š¹Ý¦=Ć²˛=³¹²˛ÞþŁð˛=Šþ−³ğšÞ˛=¹−š¾¦˛Ý¦¹²þý=−þ=þ²þ−ÝšÞ¦ćK=‡=Ć²þý=
¹Ý³₣˛š=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=Þ˛¹²×˛¦Ł˛ć²¹Č=ŠÝČ=þ²ŠšÝşÞŞ¼=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=₣š×šž=ýšÞć=þ−š×˛²þ×˛=E¹²×˛Þ¦¾˛ PUFK

Ó¦¹K=O
‚ÝČ=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛=NHO

ÏˇþžÞ˛₣šÞ¦š=þ²þ−K=
ðþÞ²³×þŁ=Þ˛=Š¦¹−Ýšš

Ò¹²˛ÞþŁð˛=ðþýÞ˛²ÞþÐ=
²šý−š×˛²³×Ş

1(a) ²˛=Žš=²šý−š×˛²³×˛=Ł=
−þýšğšÞ¦¦=Ež˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛F

hlNHhlO=Z=þ²þ−¦²šÝşÞŞš=
ðþÞ²³×Ş=o`PR=NF

NF Îšþˇ¼þŠ¦ýþ¹²ş=Ł=ŁŞˇþ×š=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=þ²−˛Š˛š²I=š¹Ý¦=−×þ₣¦š=þ²þ−¦²šÝşÞŞš=
ðþÞ²³×ŞI=Þ˛−×K=łþ×Č₣˛Č=ŁþŠ˛I=Ł=¹¦¹²šýš=þ²¹³²¹²Ł³ć²K

¹²×K NQ=¥ NS

1(b) Ł=−þýšğšÞ¦Č¼=
ŁþžýþŽÞŞ=×˛žÝ¦₣ÞŞš=
³¹²˛ÞþŁð¦=
²šý−š×˛²³×ŞOF

OF žŠš¹şW=³¹²˛ÞþŁð˛=¹−š¾¦˛Ý¦¹²þý=−þ=þ²þ−ÝšÞ¦ć=hl=N=Z=o`PRI=hl=O=Z=þ²¹³²¹²Ł³š²

hlN=Z=þ²þ−¦²šÝşÞŞš=
ðþÞ²³×Ş=o`PR
hlO=Z=þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=O

hlNW=¹²×K NQ=¥ NS
hlOW=¹²×K NS=¦Ý¦ PU

2 Ł=−þýšğšÞ¦Č¼=
ŁþžýþŽÞŞ=×˛žÝ¦₣ÞŞš=
³¹²˛ÞþŁð¦=²šý−š×˛²³×Ş

hlN=Z=þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=N
hlO=Z=þ²þ−¦²šÝşÞŞš=
ðþÞ²³×Ş=o`PR

hlNW=₣š×šž=o`OM
hlOW=¹²×K NQ=¥ NS

Ò˛ˇK==V ÏˇþžÞ˛₣šÞ¦š=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=ŠÝČ=−×¦ýš×˛=Þ˛=×¦¹³Þðš O
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 29



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
RKQ Ò¹²˛ÞþŁð˛=¹²˛ÞŠ˛×²ÞþÐ=¦ÞŠ¦ð˛¾¦¦=

Ô=−þýþğşć=Š˛ÞÞþłþ=−³Þð²˛=ýšÞć=ýþŽÞþ=ŁŞˇ×˛²ş=žÞ˛₣šÞ¦šI=þ²þˇ×˛Ž˛ýþš=−þ=
³ýþÝ₣˛Þ¦ć=Ł=Łš×¼ÞšÐ=¹²×þðš=Š¦¹−ÝšČ=E−þ¹²þČÞÞ˛Č=¦ÞŠ¦ð˛¾¦ČFK

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=−³Þð²=ýšÞć=Ô²˛ÞŠ˛×²Þ˛Č=¦ÞŠ¦ð˛¾¦ČK=‡þžýþŽÞŞš=¹²˛ÞŠ˛×²ÞŞš=
¦ÞŠ¦ð˛²þ×Ş=−×¦ŁšŠšÞŞ=Š˛ÝššW

¥ ‚˛²˛=H=Ł×šýČ=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛F
¥ Î˛×³ŽÞ˛Č=²šý−š×˛²³×˛=E¦žýš×šÞÞ˛Č=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛F
¥ Òšý−š×˛²³×˛=ŁþŠŞ=Ł=ðþ²Ýš=E¦žýš×šÞÞ˛Č=²šý−š×˛²³×˛=ŁþŠŞ=Ł=ðþ²ÝšI=

²šý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦F
¥ Òšý−š×˛²³×˛=ŁþŠŞ=Ł=ˇ˛ðš=EŁ=ˇ˛ðš=łþ×Č₣šÐ=ŁþŠŞF
¥ Òšý−š×˛²³×˛=ðþÝÝšð²þ×˛=E²þÝşðþ=−×¦=Þ˛Ý¦₣¦¦=łšÝ¦þ³¹²˛ÞþŁð¦F

RKR Ò¹²˛ÞþŁð˛=×šŽ¦ýþŁ=×˛ˇþ²Ş

Î˛=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×˛¼=o`PR==×šŽ¦ý=×˛ˇþ²Ş=ýþŽš²=ˇŞ²ş=Þ˛¹²×þšÞ=
Þš−þ¹×šŠ¹²ŁšÞÞþ=−×¦=Þ˛Ž˛²¦¦=¹þþ²Łš²¹²Ł³ćğšÐ=ðÞþ−ð¦=EÞ˛−×K= FK=‚ÝČ=−×þ₣¦¼=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=¦¹−þÝşž³Ð²š=Š˛ÞÞŞÐ=−³Þð²=ýšÞćK=„¹Ý¦=þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=þˇþ×³ŠþŁ˛Þ=Š¦¹²˛Þ¾¦þÞÞŞý=³−×˛ŁÝšÞ¦šý=EÞ˛−×K=o`OMLo`OMocFI=‡Ş=
ýþŽš²š=¦¹−þÝşžþŁ˛²ş=ðÞþ−ð¦=³¹²˛ÞþŁð¦=×šŽ¦ýþŁ=×˛ˇþ²Ş=Þ˛=−³Ýş²š=
Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦ČK

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=×šŽ¦ý=×˛ˇþ²ŞK

PK „¹Ý¦=‡˛Ğ˛=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=×˛ˇþ²˛š²=¹=Þš¹ðþÝşð¦ý¦=þ²þ−¦²šÝşÞŞý¦=
ðþÞ²³×˛ý¦=E¹²×˛Þ¦¾˛ OSFW=ŁŞˇ×˛²ş=ŽšÝ˛šýŞÐ=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=¦=
−þŠ²Łš×Š¦²ş=šłþ=ŁŞˇþ×K

QK Ò¹²˛ÞþŁ¦²ş=×šŽ¦ý=×˛ˇþ²Ş=ŁŞˇ×˛ÞÞþłþ=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛W

¥ fiŁ²þý˛²¦₣š¹ð¦ÐE−×þł×˛ýý˛=−š×šðÝć₣šÞ¦ČF
¥ Ìþ¹²þČÞÞþš=þ²þ−ÝšÞ¦š=E×³₣Þþš=³−×˛ŁÝšÞ¦š=ŠÞšŁÞŞý=×šŽ¦ýþýF
¥ Ìþ¹²þČÞÞ˛Č=ĆðþÞþý¦Č=E×³₣Þþš=³−×˛ŁÝšÞ¦š=Þþ₣ÞŞý=×šŽ¦ýþýF

‚˛ÝşÞšÐĞ³ć=¦Þ½þ×ý˛¾¦ć=þ=×šŽ¦ý˛¼=×˛ˇþ²Ş=‡Ş=Þ˛ÐŠ÷²š=Þ˛=
¹²×˛Þ¦¾š NPK=„¹Ý¦=Ł=¹¦¹²šýš=³¹²˛ÞþŁÝšÞ=þŠ¦Þ=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×I=
Þþ=Þš²=łþ×Č₣šÐ=ŁþŠŞI=Þšþˇ¼þŠ¦ýþ¹²ş=Ł=ŁŞˇþ×š=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=
þ²−˛Š˛š²K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>30



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
RKRKN ÓšŽ¦ýŞ=×˛ˇþ²Ş=ŠÝČ=łþ×Č₣šÐ=ŁþŠŞ

‚ÝČ=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ=‡Ş=ýþŽš²š=Þ˛¹²×þ¦²ş=þŠ¦Þ=¦ž=¹ÝšŠ³ćğ¦¼=
×šŽ¦ýþŁ=×˛ˇþ²ŞW

¥ fiŁ²þý˛²¦₣š¹ð¦Ð=E−×þł×˛ýý˛=−š×šðÝć₣šÞ¦ČFK=˚²þ=ýþŽš²=ˇŞ²ş=Ý¦ˇþ=
−×þł×˛ýý˛=−š×šðÝć₣šÞ¦Č=þ²þ−ÝšÞ¦ČI=Ý¦ˇþ=¹˛ýþ¹²þČ²šÝşÞ˛Č=−×þł×˛ýý˛=
−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ=E¹²×˛Þ¦¾˛ PVFK

¥ Ìþ¹²þČÞÞþ=ŁðÝć₣÷Þ=EŠÝ¦²šÝşÞŞÐ=×šŽ¦ý=×˛ˇþ²Ş=Ł×³₣Þ³ćFK=Ò×þŁšÞş=
²šý−š×˛²³×Ş=łþ×Č₣šÐ=ŁþŠŞ=ŠþÝłþš=Ł×šýČ=−þŠŠš×Ž¦Ł˛š²¹Č=−þ¹²þČÞÞŞýK

¥ Ìþ¹²þČÞÞþ=ŁŞðÝ=E×³₣Þþš=³−×˛ŁÝšÞ¦š=Þþ₣ÞŞý=×šŽ¦ýþýFK=Ô=−þýþğşć=
ðÞþ−ð¦ =‡Ş=ýþŽš²š=−×¦=Þšþˇ¼þŠ¦ýþ¹²¦=ž˛−³¹²¦²ş=−×¦łþ²þŁÝšÞ¦š=łþ×Č₣šÐ=
ŁþŠŞ=EþŠ¦Þ=×˛ž=−þŠþł×š²ş=łþ×Č₣³ć=ŁþŠ³I=¹²×˛Þ¦¾˛ NVFK

RKRKO ÓšŽ¦ýŞ=×˛ˇþ²Ş=ŠÝČ=¾¦×ð³ÝČ¾¦¦NF

Ù¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=þˇš¹−š₣¦Ł˛š²=Þšž˛ýšŠÝ¦²šÝşÞ³ć=−þŠ˛₣³=łþ×Č₣šÐ=ŁþŠŞ=
ð=²þ₣ð˛ý=ŁþŠþ×˛žˇþ×˛=Eš¹Ý¦=³¹²˛ÞþŁÝšÞFK=‚ÝČ=Ć²þłþ=łþ×Č₣˛Č=ŁþŠ˛=−×þ¼þŠ¦²=−þ=
þ²ŠšÝşÞþÐ=¾¦×ð³ÝČ¾¦þÞÞþÐ=Ý¦Þ¦¦=þŠ¦Þ=¦Ý¦=Þš¹ðþÝşðþ=×˛ž=Ł=₣˛¹I=−×¦=−þŠ˛₣š=
¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛K=˚²þ²=¦Þ²š×Ł˛Ý=ýþŽš²=¦žýšÞČ²ş=¹−š¾¦˛Ý¦¹²=−þ=
þ²þ−ÝšÞ¦ć=Ł=ýšÞć=¹š×Ł¦¹˛K

‚ÝČ=¾¦×ð³ÝČ¾¦¦=‡Ş=ýþŽš²š=Þ˛¹²×þ¦²ş=þŠ¦Þ=¦ž=¹ÝšŠ³ćğ¦¼=Ł˛×¦˛Þ²þŁ=×˛ˇþ²ŞW

¥ fiŁ²þý˛²¦₣š¹ð¦ÐW=¾¦×ð³ÝČ¾¦Č=ž˛−³¹ð˛š²¹Č=ž˛=PM=ý¦Þ³²=Šþ=ŁðÝć₣šÞ¦Č=
−š×Łþłþ=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=¦=ž˛Łš×Ğ˛š²¹Č=Łýš¹²š=¹=ŁŞðÝć₣šÞ¦šý=
−þ¹ÝšŠÞšłþ=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛FK=‡=ð˛₣š¹²Łš=
˛Ýş²š×Þ˛²¦ŁŞ=ýþŽÞþ=ŁŁš¹²¦=þ²ŠšÝşÞ³ć=−×þł×˛ýý³=×˛ˇþ²Ş=¾¦×ð³ÝČ¾¦þÞÞþłþ=
Þ˛¹þ¹˛=E¹²×˛Þ¦¾˛ QMFK=

¥ Ìþ¹²þČÞÞþ=ŁðÝć₣÷ÞW=¾¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=ŠÝ¦²šÝşÞþš=Ł×šýČ=×˛ˇþ²˛š²=
Þšž˛Ł¦¹¦ýþ=þ²=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=Ł=³¹²˛ÞþŁÝšÞÞþý=¦Þ²š×Ł˛ÝšK=

¥ Ìþ¹²þČÞÞþ=ŁŞðÝW=¾¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=Þš=×˛ˇþ²˛š²=¹=ž˛Š˛ÞÞŞý=
¦Þ²š×Ł˛ÝþýK=Ô=−þýþğşć=ðÞþ−ð¦ =‡Ş=ýþŽš²š=−×¦=Þšþˇ¼þŠ¦ýþ¹²¦=
−þŠþł×š²ş=łþ×Č₣³ć=ŁþŠ³=¦=ž˛−³¹²¦²ş=¾¦×ð³ÝČ¾¦ćK

NF Ú³Þð¾¦Č=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 31



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
RKS Ò¹²˛ÞþŁð˛=−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦Č

fiŁ²þý˛²¦ð˛=¹ÝšŠ¦²=ž˛=−š×šðÝć₣šÞ¦šý=ýšŽŠ³=ŠÞšŁÞŞý=¦=Þþ₣ÞŞý=×šŽ¦ý˛ý¦=Ł=
þ−×šŠšÝ÷ÞÞþš=Ł×šýČK=‡=ž˛ŁþŠ¹ðþÐ=³¹²˛ÞþŁðÉ=ž˛½¦ð¹¦×þŁ˛ÞŞ=²šý−š×˛²³×Ş=ON=
¦=NT=Œ`=ŠÝČ=ŠÞšŁÞþłþ=¦=Þþ₣Þþłþ=×šŽ¦ýþŁK

Ìš×šŠ=²šýI=ð˛ð=ŁŞˇ×˛²ş=−×þł×˛ýý³=−š×šðÝć₣šÞ¦Č=E?þ²þ−ÝšÞ¦Č?FI=−þŠ³ý˛Ð²šW

¥ ‡=ð˛ðþš=Ł×šýČ=³²×þý=ŠþÝŽÞþ=ˇŞ²ş=²š−Ýþ\=Â˛Ł¦¹¦²=Ý¦=Ć²þ=Ł×šýČ=þ²=ŠÞČ=
ÞšŠšÝ¦\

¥ „¹²ş=Ý¦=ŠÞ¦I=Ł=ðþ²þ×Şš=Þš=²×šˇ³š²¹Č=²þ−¦²ş\

¥ ‡=ð˛ðþš=Ł×šýČ=Łš₣š×þý=þ²þ−ÝšÞ¦š=ˇþÝşĞš=Þš=²×šˇ³š²¹Č\=˚²þ=²þŽš=ýþŽš²=
ž˛Ł¦¹š²ş=þ²=ŠÞČ=ÞšŠšÝ¦K=

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=−×þł×˛ýý³=−š×šðÝć₣šÞ¦ČK

PK „¹Ý¦=‡˛Ğ˛=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=×˛ˇþ²˛š²=¹=Þš¹ðþÝşð¦ý¦=þ²þ−¦²šÝşÞŞý¦=
ðþÞ²³×˛ý¦=E¹²×˛Þ¦¾˛ OSFW=ŁŞˇ×˛²ş=ŽšÝ˛šýŞÐ=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=¦=
−þŠ²Łš×Š¦²ş=šłþ=ŁŞˇþ×K=‚ÝČ=ð˛ŽŠþłþ=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=ýþŽÞþ=
³¹²˛ÞþŁ¦²ş=¹þˇ¹²ŁšÞÞ³ć=−×þł×˛ýý³=−š×šðÝć₣šÞ¦ČK
Â˛²šý=ˇ³Š³²=þ²þˇ×˛ŽšÞŞ=¹ÝšŠ³ćğ¦š=ŁþžýþŽÞþ¹²¦=ŁŞˇþ×˛W
¥ ‡Şˇþ×=−×þł×˛ýýŞ=E¹²×˛Þ¦¾˛ PPF
¥ l²þˇ×˛ŽšÞ¦š=²šð³ğšÐ=ŁŞˇ×˛ÞÞþÐ=−×þł×˛ýýŞ=E¹²×˛Þ¦¾˛ PRF
¥ ÊžýšÞšÞ¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=E¹²×˛Þ¦¾˛ PSF
¥ ‡ŁþŠ=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=E¹²×˛Þ¦¾˛ PSF
¥ ÒŠ˛ÝšÞ¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=E¹²×˛Þ¦¾˛ PTF
¥ Òšý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=E¹²×˛Þ¦¾˛I PU=Þš=−þŠŠš×Ž¦Ł˛š²¹Č=ŠÝČ=

þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=łþ×Č₣šÐ=ŁþŠŞI=¾¦×ðÖ³ÝČ¾¦¦=¦=łšÝ¦þðþÝÝšð²þ×˛F

QK ÔþŁš²W=¹=−þýþğşć=ŁþžýþŽÞþ¹²¦=ŁŞˇþ×˛=‡Şˇþ×=−×þł×˛ýýŞ=ŁŞˇ×˛²ş=
−×þł×˛ýý³I=Þ˛¦ˇþÝšš=¹þþ²Łš²¹²Ł³ćğ³ć=‡˛Ğ¦ý=−×¦ŁŞ₣ð˛ýK

RK „¹Ý¦=²×šˇ³š²¹Č=−þŠþłÞ˛²ş=¹²˛ÞŠ˛×²Þ³ć=−×þł×˛ýý³W=¦žýšÞ¦²ş=þ²ŠšÝşÞŞš=
²þ₣ð¦=−š×šðÝć₣šÞ¦ČI=Šþˇ˛Ł¦²ş=¦Ý¦=³Š˛Ý¦²ş=¦¼K
-¦Ý¦-

SK „¹Ý¦=‡Ş=¼þ²¦²š=¹þžŠ˛²ş=−þÝÞþ¹²şć=ÞþŁ³ć=−×þł×˛ýý³=−š×šðÝć₣šÞ¦ČW=
‡Şˇ×˛²ş=−×þł×˛ýý³=¦=ÔþžŠ˛²ş=ÞþŁ³ć=−×þł×˛ýý³K=
Ì³Þð²=ýšÞć=‡ŁþŠ=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=E¹²×˛Þ¦¾˛ PSF=þ²ð×ŞŁ˛š²¹Č=
˛Ł²þý˛²¦₣š¹ð¦I=¹=šłþ=−þýþğşć=‡Ş=ýþŽš²š=¹þžŠ˛²ş=−×þł×˛ýý³K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>32



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
RKSKN ‡Şˇþ×=−×þł×˛ýýŞ

ÂŠš¹ş=‡Ş=ýþŽš²š=ŁŞˇ×˛²ş=−×þł×˛ýý³=−š×šðÝć₣šÞ¦ČI=²šý=¹˛ýŞý=˛ð²¦Ł¦×þŁ˛Ł=
š÷K=˚²þ=ýþŽš²=ˇŞ²ş=þŠÞ˛=¦ž=−×šŠ³¹²˛ÞþŁÝšÞÞŞ¼=−×þł×˛ýý=−š×šðÝć₣šÞ¦Č
E²˛ˇÝ¦¾˛ NMI=Ô²×˛Þ¦¾˛ PQF=¦Ý¦=−×þł×˛ýý˛I=¹þžŠ˛ÞÞ˛Č=¦Ý¦=¦žýšÞ÷ÞÞ˛Č=‡˛ý¦K=

‡Ş=ýþŽš²š=¹þ¼×˛Þ¦²ş=¦=ŁŞˇ×˛²ş=ŠŁš=ÞþŁŞ¼=¦Ý¦=¦žýšÞ÷ÞÞŞ¼=−×þł×˛ýýŞ=
−š×šðÝć₣šÞ¦Č=ð˛ð=Ôþˇ¹²Ł N=¦Ý¦=Ôþˇ¹²Ł OK

‡Şˇþ×=−×šŠ³¹²˛ÞþŁÝšÞÞþÐ=−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦ČW

NK ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³= =I=Ł×˛ğ˛²ş=×³₣ð³=−š×šðÝć₣˛²šÝČ=ŠÝČ=ŁŞˇþ×˛=
¦=˛ð²¦Ł¦×þŁ˛Þ¦Č=−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦ČK

OK Î˛Ž˛²ş=ðÞþ−ð³ I=₣²þˇŞ=Łš×Þ³²ş¹Č=ð=ŁþžýþŽÞþ¹²Čý=ŁŞˇþ×˛K

PK ı²þˇŞ=þ²þˇ×˛ž¦²ş=ŁŞˇ×˛ÞÞ³ć=−×þł×˛ýý³=Ł=ł×˛½¦₣š¹ðþý=Ł¦ŠšI=ŁŞˇš×¦²š=
Ï²þˇ×˛ž¦²ş=ŁŞˇ×˛ÞÞ³ć=−×þł×˛ýý³=E¹²×˛Þ¦¾˛ PRFK

-¦Ý¦-

QK Î˛Ž˛²ş=ðÞþ−ð³= =Þš¹ðþÝşðþ=×˛ž=ŠÝČ=ŁþžŁ×˛²˛=ð=¹²˛ÞŠ˛×²ÞþÐ=¦ÞŠ¦ð˛¾¦¦K

ÔþžŠ˛Þ¦š=ÞþŁþÐ=−×þł×˛ýýŞW

‡Şˇþ×=ÞþŁþÐ=−×þł×˛ýýŞK=
Ì³Þð²=ýšÞć=‡ŁþŠ=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=E¹²×˛Þ¦¾˛ PSF=þ²ð×þš²¹Č=
˛Ł²þý˛²¦₣š¹ð¦I=¹=šłþ=−þýþğşć=‡Ş=ýþŽš²š=¹þžŠ˛²ş=−×þł×˛ýý³K

Â˛ŁþŠ¹ð¦š=³¹²˛ÞþŁð¦=Ł=þ²þ−¦²šÝşÞþÐ=−×þł×˛ýýš=þ−×šŠšÝČć²=²˛ðŽš=
Ł×šýČ=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ=¦=×šŽ¦ý=×˛ˇþ²Ş=¾¦×ð³ÝČ¾¦þÞÞþłþ=
Þ˛¹þ¹˛K=ÏŠÞ˛ðþ=‡Ş=ýþŽš²š=¹þžŠ˛²ş=×˛žÞŞš=−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦Č=
ŠÝČ=þˇš¦¼=½³Þð¾¦Ð=EłÝ˛Ł˛ RKT=¦= RKUFK

„¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=þ¹Þ˛ğšÞ˛=−³Ýş²þý=Š¦¹²˛Þ¾¦þÞÞþłþ=
³−×˛ŁÝšÞ¦Č=EÞ˛−×K=o`OMI=¹²×˛Þ¦¾˛ OUF=W=−×¦=Þ˛Ý¦₣¦¦=Š¦¹²˛Þ¾¦þÞÞþłþ=
³−×˛ŁÝšÞ¦Č=²˛ðŽš=ýþŽš²=¦¹−þÝşžþŁ˛²ş¹Č=−×þł×˛ýý˛=Ôþˇ¹²Ł OI=š¹Ý¦=
Š¦¹²˛Þ¾¦þÞÞþš=³−×˛ŁÝšÞ¦š=o`OM=−×þ¦žŁšŠšÞþ=Þš=×˛Þšš=OMMS=łþŠ˛K=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 33



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
Òþ₣ð¦=ŁðÝć₣šÞ¦Č=¦=ŁŞðÝć₣šÞ¦Č=¹²˛ÞŠ˛×²ÞŞ¼=−×þł×˛ýý

Ì×þł×˛ýý˛ ‚šÞş ‡ËÈ ‡˘ËÈ ‡ËÈ ‡˘ËÈ ‡ËÈ ‡˘ËÈ

Ôš×¦Č=
Ež˛ŁþŠK=³¹²˛ÞþŁð˛F

ÌÞ�ı²
Ì²
Ôˇ
‡¹

5:30
5:30
6:30
TWMM

22:00
23:00
23:30
OOWMM

Ò²×þ
E×˛ˇþ²˛=Ł=³²×šÞÞćć=

¹ýšÞ³F

ÌÞ�ı²
Ì²
Ôˇ
‡¹

QWPM
QWPM
SWPM
TWMM

OOWMM
OPWMM
OPWPM
OOWMM

‡š₣š×
E×˛ˇþ²˛=Ł=

Łš₣š×Þćć=¹ýšÞ³F

ÌÞ¥Ì²

Ôˇ

‡¹

SWPM
SWPM
TWMM

OPWMM
OPWPM
OPWMM

Ìš×Ł˛Č=−þÝþŁ¦Þ˛=
ŠÞČ

E×˛ˇþ²˛=Ł=−š×ŁþÐ=
−þÝþŁ¦Þš=ŠÞČF

ÌÞ�ı²
Ì²
Ôˇ
‡¹

RWPM
RWPM
SWPM
TWMM

UWPM
UWPM

OPWPM
OOWMM

NOWMM
NOWMM

OOWMM
OPWMM

‡²þ×˛Č=−þÝþŁ¦Þ˛=
ŠÞČ=E×˛ˇþ²˛=Łþ=

Ł²þ×þÐ=−þÝþŁ¦Þš=
ŠÞČF

ÌÞ�ı²
Ì²
Ôˇ
‡¹

SWMM
SWMM
SWPM
TWMM

NNWPM
NNWPM
OPWPM
OOWMM

NSWMM
NRWMM

OOWMM
OPWMM

ÌþÝŠšÞş

EŁ=þˇšŠšÞÞŞÐ=
−š×š×ŞŁ=Šþý˛F

ÌÞ�ı²
Ì²
Ôˇ
‡¹

SWMM
SWMM
SWMM
TWMM

UWMM
UWMM

OPWMM
OOWMM

NNWPM
NNWPM

NPWMM
OPWMM

NTWMM OOWMM

ÏŠ¦Þþð¦š ÌÞ�ı²
Ì²
Ôˇ
‡¹

SWMM
SWMM
TWMM
UWMM

UWMM
UWMM

OPWPM
OOWMM

NSWMM
NRWMM

OOWMM
OPWMM

ÌšÞ¹¦þÞš×Ş ÌÞ¥‡¹ RWPM OOWMM

ÎþŁ˛Č=−×þł×˛ýý˛ „¹Ý¦=‡Ş=ŁŞˇš×š²š=−³Þð²=ÎþŁ˛Č=−×þł×˛ýý˛I=‡Ş=¹ýþŽš²š=¹þžŠ˛²ş=
−×þł×˛ýý³=¹=−þýþğşć=þ−¾¦¦=‡ŁþŠ=²þ₣ð¦=−š×šðÝć₣šÞ¦ČK=

‡Ş=ýþŽš²š=¹þ¼×˛Þ¦²ş=¦=ŁŞˇ×˛²ş=ŠŁš=ÞþŁŞ¼=¦Ý¦=¦žýšÞ÷ÞÞŞ¼=−×þł×˛ýýŞ=
−š×šðÝć₣šÞ¦Č=ð˛ð=Ôþˇ¹²Ł N=¦Ý¦=Ôþˇ¹²Ł OK

Ôþˇ¹²Ł=N ÌÞ�ı²
Ì²
Ôˇ
‡¹

Ôþˇ¹²Ł=O ÌÞ¥Ì²
Ì²
Ôˇ
‡¹

q~ÄK=NM Ô²˛ÞŠ˛×²ÞŞš=−×þł×˛ýýŞ=E‡ËÈ=Z=ŠÞšŁÞþÐ=×šŽ¦ýI=‡˘ËÈ=Z=Þþ₣ÞþÐ=×šŽ¦ýF
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>34



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
RKSKO Ï²þˇ×˛ŽšÞ¦š=²šð³ğšÐ=−×þł×˛ýýŞ

Ô=−þýþğşć=þ−¾¦¦=Ï²þˇ×˛ŽšÞ¦š=²šð³ğšÐ=−×þł×˛ýýŞ=‡Ş=ýþŽš²š=þ²þˇ×˛ž¦²ş=
²šð³ğ³ć=Þ˛¹²×þÐð³=−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦Č=E¹²×˛Þ¦¾˛ PFK

¥ ·×˛½¦ð=Ł¹šłŠ˛=þ²þˇ×˛Ž˛š²=−×þł×˛ýý³=−š×šðÝć₣šÞ¦Č=Þ˛=ðþÞð×š²ÞŞÐ=ŠšÞş=
ÞšŠšÝ¦=¦Ý¦=×ČŠ=ŠÞšÐ=ÞšŠšÝ¦K

¥ Òšð³ğ˛Č=²þ₣ð˛=−š×šðÝć₣šÞ¦Č=ý¦ł˛š²=Eð×³Žþð=¦=ð×š¹²¦ð=¹ýšÞČć²=Š×³ł=
Š×³ł˛FK=ÌþŠ=ł×˛½¦ðþý=þ²þˇ×˛Ž˛š²¹Č=Ł×šýČ=¦žýš×šÞ¦Č=¦=²šý−š×˛²³×˛I=
¹þþ²Łš²¹²Ł³ćğ˛Č=Š˛ÞÞþý³=Ł×šýšÞ¦K

¥ Ì×þ₣¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=þ²ýš₣šÞŞ=ð×š¹²¦ðþýK

Ó¦¹K=P Ì×¦ýš×=−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦Č=Ìš×Ł˛Č=−þÝþŁ¦Þ˛=ŠÞČ

N ‡ŁþŠ=ŠÞšŁÞþÐ=¦=Þþ₣ÞþÐ=²šý−š×˛²³×Ş
O Ô²×þð˛=ŠÝČ=þ×¦šÞ²¦×˛
P ‡×šýČ=ŁðÝć₣šÞ¦Č=E−š×š¼þŠ=Ł=ŠÞšŁÞþÐ=×šŽ¦ýF
Q ‡×šýČ=ŁŞðÝć₣šÞ¦Č=E−š×š¼þŠ=Ł=Þþ₣ÞþÐ=×šŽ¦ýF
R Ô²×þð˛=¹²˛²³¹˛=¦=Þ˛¹²×þÐð¦=ŠÝČ=ŁŞˇ×˛ÞÞþÐ=²þ₣ð¦=−š×šðÝć₣šÞ¦Č

NK Ó³₣ð³=−š×šðÝć₣˛²šÝČ =−þŁš×Þ³²ş=Ł−×˛ŁþK=
Î˛=Š¦¹−Ýšš=−þČŁ¦²¹Č=¹ÝšŠ³ćğšš=Ł×šýČ=ŁðÝć₣šÞ¦ČK

OK ÌþŁš×Þ³²ş=×³₣ð³=Š˛Ýšš =ŠÝČ=−×þ¹ýþ²×˛=¦Þ½þ×ý˛¾¦¦=−þ=¹ÝšŠ³ćğ¦ý=ŠÞČýK

PK Î˛Ž˛²ş=ðÞþ−ð³ =ŠÝČ=ŁþžŁ×˛²˛=ð=ŁŞˇþ×³K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 35



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
RKSKP ÊžýšÞšÞ¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦Č

Ô=−þýþğşć=þ−¾¦¦=ÊžýšÞšÞ¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=‡Ş=ýþŽš²š=¦žýšÞ¦²ş=
−³Þð²=Ł×šýšÞ¦=Ł=−×þł×˛ýýš=−š×šðÝć₣šÞ¦ČI=Ł=ðþ²þ×ŞÐ=−×þ¦¹¼þŠ¦²=
−š×šðÝć₣šÞ¦š=Þ˛=¹ÝšŠ³ćğ¦Ð=²šý−š×˛²³×ÞŞÐ=³×þŁšÞşK=

NK ÌþŁš×Þ¦²š=×³₣ð³=³−×˛ŁÝšÞ¦Č =ŠÝČ=ŁŞˇþ×˛=Š×³łþÐ=²þ₣ð¦=−š×šðÝć₣šÞ¦ČK=
‡Ş=ýþŽš²š=−×þŠþÝŽ¦²ş=Ł×˛ğšÞ¦šI=₣²þˇŞ=¦žýšÞ¦²ş=ŠšÞş=ÞšŠšÝ¦K
‡Şˇ×˛ÞÞ˛Č=²þ₣ð˛=−š×šðÝć₣šÞ¦Č=ˇ³Šš²=ý¦ł˛²şK

OK ÒŠš×Ž¦Ł˛²ş=Þ˛Ž˛²þÐ=ðÞþ−ð³ ==¦=−þŁþ×˛₣¦Ł˛²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č=ŠÝČ=
¦žýšÞšÞ¦Č=Ł×šýšÞ¦=ŠÝČ=Š˛ÞÞþÐ=²þ₣ð¦=−š×šðÝć₣šÞ¦ČK

PK „¹Ý¦=‡Ş=¼þ²¦²šI=³Šš×Ž¦Ł˛Ð²š=Þ˛Ž˛²þÐ=ðÞþ−ð³= =¦=−þŁþ×˛₣¦Ł˛Ð²š=×³₣ð³=
³−×˛ŁÝšÞ¦Č=ŠÝČ=¦žýšÞšÞ¦Č=Š˛ÞÞþÐ=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=Ł=−×šŠšÝ˛¼=Ł×šýšÞ¦=
ŁðÝć₣šÞ¦Č=¦=ŁŞðÝć₣šÞ¦ČK

QK ÌþŁ²þ×Č²ş=Ğ˛ł¦=¹=N=−þ=P=ŠÝČ=¦žýšÞšÞ¦Č=Š×³ł¦¼=²þ₣šð=−š×šðÝć₣šÞ¦ČK

RK Î˛Žý¦²š=ðÞþ−ð³ I=₣²þˇŞ=ž˛Łš×Ğ¦²ş=ŁŁþŠK=

SK ÒŠš×Ž¦Ł˛Ð²š=ðÞþ−ð³ =Þ˛Ž˛²þÐ=¦=Ł×˛ğ˛Ð²š=×³₣ð³=³−×˛ŁÝšÞ¦Č=ŠÝČ=
¹þ¼×˛ÞšÞ¦Č=¦žýšÞ÷ÞÞþÐ=−×þł×˛ýýŞ=Ł=ð˛₣š¹²Łš=Ôþˇ¹²ŁN=¦Ý¦=Ôþˇ¹²ŁOI=¦Ý¦=
ŁŞˇš×¦²š=flšž=¹þ¼×˛ÞšÞ¦ČI=₣²þˇŞ=−×š×Ł˛²ş=ŁŁþŠK
Ì×þł×˛ýý˛=Ôþˇ¹²ŁN=¦Ý¦=Ôþˇ¹²ŁO=Þ˛₣¦Þ˛Č=¹=Ć²þłþ=ýþýšÞ²˛=ˇ³Šš²=
¦¹−þÝşžþŁ˛²ş¹Č=ŠÝČ=Š˛ÞÞþłþ=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛K

RKSKQ ‡ŁþŠ=²þ₣ð¦=−š×šðÝć₣šÞ¦Č

Ô=−þýþğşć=¹²×þð¦=ýšÞć=‡ŁþŠ=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=‡Ş=ýþŽš²š=Šþˇ˛Ł¦²ş=
Šþ−þÝÞ¦²šÝşÞŞš=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=ŠÝČ=½˛ž=−×þł×šŁ˛=¦=ĆðþÞþý¦¦=ĆÞš×ł¦¦=
EŠÞšŁÞþÐLÞþ₣ÞþÐ=×šŽ¦ýF=¦Ý¦=¹þžŠ˛²ş=ÞþŁ³ć=−×þł×˛ýý³=−š×šðÝć₣šÞ¦ČK=
‡Ş=ýþŽš²š=ŁŁþŠ¦²ş=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=ŠÝČ=ð˛ŽŠþłþ=ðþÞð×š²Þþłþ=ŠÞČK=
Í¦Þ¦ý˛ÝşÞŞÐ=¦Þ²š×Ł˛Ý=ýšŽŠ³=²þ₣ð˛ý¦=−š×šðÝć₣šÞ¦Č=¹þ¹²˛ŁÝČš²=NM=ý¦Þ=
EŠÝ¦²šÝşÞþ¹²ş=ŁðÝć₣šÞ¦Č=¦=þ²ðÝć₣šÞ¦ČFK

„¹Ý¦=‡Ş=ŁÞš¹Ý¦=¦žýšÞšÞ¦Č=Ł=−×þł×˛ýý³=¦=ž˛²šý=Ł=²š₣šÞ¦š=−Č²¦=ý¦Þ³²=
Þš=Þ˛Ž¦ý˛Ý¦=Þ¦=þŠÞþÐ=ðÞþ−ð¦I=ŁŁþŠ=²˛ðŽš=ˇ³Šš²=ž˛Łš×Ğ÷Þ=E−š×š¼þŠ=
ð=¹ÝšŠ³ćğšý³=Ğ˛ł³FK

„¹Ý¦=‡Ş=¼þ²¦²š=þ−×šŠšÝ¦²ş=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=ŠÝČ=þ−×šŠšÝ÷ÞÞþłþ=
−š×¦þŠ˛I=¦¹₣¦¹ÝČšýþłþ=ŠÞČý¦=EÌÞ�ı²I=ÌÞ�Ì²I=ÌÞ�ÔˇI=Ôˇ�‡¹FI=ŁŞˇš×¦²š=
−³Þð²=‡Şˇþ×=−×þł×˛ýýŞ y=ÎþŁ˛Č=−×þł×˛ýý˛K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>36



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
NK ÌþŁš×Þ³²ş=×³₣ð³=−š×šðÝć₣˛²šÝČ=ŠÝČ=ŁŞˇþ×˛=ŠÞČ=ÞšŠšÝ¦K

OK ÒŠš×Ž¦Ł˛²ş=Þ˛Ž˛²þÐ=ðÞþ−ð³ =¦=−þŁþ×˛₣¦Ł˛²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č=ŠÝČ=
¦žýšÞšÞ¦Č=Ł×šýšÞ¦=ŠÝČ=Š˛ÞÞþÐ=²þ₣ð¦=−š×šðÝć₣šÞ¦ČK
Î˛=ł×˛½¦ðš=²þ₣ð˛=−š×šðÝć₣šÞ¦Č=ˇ³Šš²=ý¦ł˛²ş=Šþ=²š¼=−þ×I=−þð˛=Þš=ˇ³Šš²=
ŁŁšŠšÞ˛=−þÝÞþ¹²şćK

PK ÒŠš×Ž¦Ł˛Ð²š=Þ˛Ž˛²þÐ=ðÞþ−ð³ =¦=−þŁþ×˛₣¦Ł˛Ð²š=×³₣ð³=−š×šðÝć₣˛²šÝČI=
₣²þˇŞ=þ−×šŠšÝ¦²şI=ð˛ð˛Č=²þ₣ð˛=−š×šðÝć₣šÞ¦Č=Þ˛=Š¦¹−Ýšš=�=ŁðÝć₣šÞ¦Č=¦Ý¦=
þ²ðÝć₣šÞ¦ČK
Ë˛ð=²þÝşðþ=²þ₣ð˛=−š×šðÝć₣šÞ¦Č=ˇ³Šš²=ŁŁšŠšÞ˛=−þÝÞþ¹²şćI=Ł¹š=žÞ˛₣šÞ¦Č=
ˇ³Š³²=ý¦ł˛²ş=Ł=²š₣šÞ¦š=²×÷¼=¹šð³ÞŠK=Â˛=Ć²þ=Ł×šýČ=²þ₣ð³=−š×šðÝć₣šÞ¦Č=šğ÷=
ýþŽÞþ=¦žýšÞ¦²şK=Â˛²šý=²þ₣ð˛=−š×šðÝć₣šÞ¦Č=ˇ³Šš²=¹þ¼×˛ÞšÞ˛K

QK ÌþŁ²þ×Č²ş=Ğ˛ł¦=¹=N=−þ=P=ŠÝČ=ŁŁþŠ˛=Š×³ł¦¼=²þ₣šð=−š×šðÝć₣šÞ¦ČK

RK ‡×˛ğ˛Ð²š=×³₣ð³=−š×šðÝć₣˛²šÝČ I=₣²þˇŞ=−š×šÐ²¦=þ²=þŠÞþłþ=ŠÞČ=ð=Š×³łþý³K

SK Î˛Žý¦²š=ðÞþ−ð³ I=₣²þˇŞ=ž˛Łš×Ğ¦²ş=ŁŁþŠK

TK ÒŠš×Ž¦Ł˛Ð²š=ðÞþ−ð³ =Þ˛Ž˛²þÐ=¦=Ł×˛ğ˛Ð²š=×³₣ð³=³−×˛ŁÝšÞ¦Č=ŠÝČ=
¹þ¼×˛ÞšÞ¦Č=¦žýšÞ÷ÞÞþÐ=¦Ý¦=ÞþŁþÐ=−×þł×˛ýýŞ=Ł=ð˛₣š¹²Łš=Ôþˇ¹²ŁN=¦Ý¦=
Ôþˇ¹²ŁOI=¦Ý¦=ŁŞˇš×¦²š=flšž=¹þ¼×˛ÞšÞ¦ČI=₣²þˇŞ=−×š×Ł˛²ş=ŁŁþŠK
Ì×þł×˛ýý˛=Ôþˇ¹²ŁN=¦Ý¦=Ôþˇ¹²ŁO=Þ˛₣¦Þ˛Č=¹=Ć²þłþ=ýþýšÞ²˛=ˇ³Šš²=
¦¹−þÝşžþŁ˛²ş¹Č=ŠÝČ=Š˛ÞÞþłþ=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛K

RKSKR ÒŠ˛ÝšÞ¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦Č

Ô=−þýþğşć=−³Þð²˛=ýšÞć=ÒŠ˛ÝšÞ¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=‡Ş=ýþŽš²š=³Š˛Ý¦²ş=
Þš¦¹−þÝşž³šýŞš=½˛žŞ=−š×šðÝć₣šÞ¦ČK=

ÒˇšŠ¦²š¹ş=Ł=²þýI=₣²þ=‡Ş=³Š˛ÝČš²š=ŠŁš=²þ₣ð¦=−š×šðÝć₣šÞ¦Č=þŠÞþÐ=½˛žŞ=
−š×šðÝć₣šÞ¦Č=E²þ₣ð³=ŁðÝć₣šÞ¦Č=¦=²þ₣ð³=þ²ðÝć₣šÞ¦ČFI=₣²þˇŞ=¹¦¹²šý˛=
þ²þ−ÝšÞ¦Č=ýþłÝ˛=¹ÞþŁ˛=−š×š¼þŠ¦²ş=Ł=Þþ₣ÞþÐ=×šŽ¦ýK=

‚ÝČ=ð˛ŽŠþÐ=²þ₣ð¦=ŁðÝć₣šÞ¦Č=ENI=ŠÞšŁÞþÐ=×šŽ¦ýF=
ŁŁšŠ¦²š=²˛ðŽš=²þ₣ð³=þ²ðÝć₣šÞ¦Č=EOI=Þþ₣ÞþÐ=×šŽ¦ýFI=
₣²þˇŞ=þ²þ−ÝšÞ¦š=¹¦¹²šý˛=ýþłÝ˛=¹ÞþŁ˛=˛Ł²þý˛²¦₣š¹ð¦=
−š×šŁš¹²¦=Ł=Þþ₣ÞþÐ=×šŽ¦ýK=

Í˛ð¹¦ý˛ÝşÞþš=₣¦¹Ýþ=²þ₣šð=−š×šðÝć₣šÞ¦Č=¹þ¹²˛ŁÝČš²=
QO=Þ˛=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×K

„¹Ý¦=‡Ş=ŁÞš¹Ý¦=¦žýšÞšÞ¦Č=Ł=−×þł×˛ýý³=¦=ž˛²šý=Ł=²š₣šÞ¦š=−Č²¦=ý¦Þ³²=
Þš=Þ˛Ž¦ý˛Ý¦=Þ¦=þŠÞþÐ=ðÞþ−ð¦I=ŁŁþŠ=²˛ðŽš=ˇ³Šš²=ž˛Łš×Ğ÷Þ=E−š×š¼þŠ=
ð=¹ÝšŠ³ćğšý³=Ğ˛ł³FK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 37



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
NK ÌþŁš×Þ¦²š=×³₣ð³=³−×˛ŁÝšÞ¦Č =ŠÝČ=ŁŞˇþ×˛=Š×³łþÐ=²þ₣ð¦=−š×šðÝć₣šÞ¦ČK
‡Şˇ×˛ÞÞ˛Č=²þ₣ð˛=−š×šðÝć₣šÞ¦Č=ˇ³Šš²=ý¦ł˛²şK

OK ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ I=−þŁš×Þ³²ş=×³₣ð³=−š×šðÝć₣˛²šÝČ =Þ˛=‚˛K=
Òþ₣ð˛=−š×šðÝć₣šÞ¦Č=³Š˛ÝšÞ˛K

PK ‡×˛ğ˛Ð²š=×³₣ð³=−š×šðÝć₣˛²šÝČ I=₣²þˇŞ=−š×šÐ²¦=þ²=þŠÞþłþ=ŠÞČ=ð=Š×³łþý³K

QK Î˛Žý¦²š=ðÞþ−ð³ I=₣²þˇŞ=ž˛Łš×Ğ¦²ş=ŁŁþŠK

RK ÒŠš×Ž¦Ł˛Ð²š=ðÞþ−ð³ =Þ˛Ž˛²þÐ=¦=Ł×˛ğ˛Ð²š=×³₣ð³=³−×˛ŁÝšÞ¦Č=ŠÝČ=
¹þ¼×˛ÞšÞ¦Č=¦žýšÞ÷ÞÞþÐ=¦Ý¦=ÞþŁþÐ=−×þł×˛ýýŞ=Ł=ð˛₣š¹²Łš=Ôþˇ¹²ŁN=¦Ý¦=
Ôþˇ¹²ŁO=I=¦Ý¦=ŁŞˇš×¦²š=flšž=¹þ¼×˛ÞšÞ¦ČI=₣²þˇŞ=−×š×Ł˛²ş=ŁŁþŠK
Ì×þł×˛ýý˛=Ôþˇ¹²ŁN=¦Ý¦=Ôþˇ¹²ŁO=Þ˛₣¦Þ˛Č=¹=Ć²þłþ=ýþýšÞ²˛=ˇ³Šš²=
¦¹−þÝşžþŁ˛²ş¹Č=ŠÝČ=Š˛ÞÞþłþ=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛K

RKSKS Ò¹²˛ÞþŁð˛=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼

Ì³Þð²=ýšÞć=Òšý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=Šþ¹²³−šÞ=²þÝşðþ=ŠÝČ=ðþÞ²³×þŁ=
þ²þ−ÝšÞ¦Č=ˇšž=Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦Č=E−š×ŁŞÐ=¹Ý³₣˛ÐFK=‡=ŠŁ³¼=þ¹²˛ÝşÞŞ¼=
¹Ý³₣˛Č¼=−³Þð²=ýšÞć=Òšý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=Þš=þ²þˇ×˛Ž˛š²¹ČK

Ó˛žÝ¦₣¦Č=ýšŽŠ³=¹Ý³₣˛Čý¦W

¥ Ï²þ−¦²šÝşÞŞš=ðþÞ²³×Ş=ˇšž=Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦Č=E¹²×˛Þ¦¾˛ SMI=
³¹²˛ÞþŁð˛=?Ï²¹³²¹²Ł³š²?FW=ŁþžýþŽÞŞ=×˛žÝ¦₣ÞŞš=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=
−þ=¹×˛ŁÞšÞ¦ć=¹=þ²þ−¦²šÝşÞŞý¦=ðþÞ²³×˛ý¦=o`PRK=Ò¹²˛ÞþŁð˛=²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦=−×þ¦žŁþŠ¦²¹ČI=ð˛ð=þ−¦¹˛Þþ=Þ¦ŽšK

¥ Ï²þ−¦²šÝşÞŞš=ðþÞ²³×Ş=o`PRW=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=ŠÝČ=Ł¹š¼=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁI=−þŠ₣¦Þ÷ÞÞŞ¼=o`PRI=þŠ¦Þ˛ðþŁŞK=‚ÝČ=þ²þ−¦²šÝşÞŞ¼=
ðþÞ²³×þŁ=o`PR=‡Ş=ŠþÝŽÞŞ=³¹²˛ÞþŁ¦²ş=²šý−š×˛²³×³=¹=−þýþğşć=ðÞþ−ð¦ I=
˛=Þš=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛=E¹²×˛Þ¦¾˛ NSFK=

¥ Ï²þ−¦²šÝşÞŞš=ðþÞ²³×Ş=¹=Š¦¹²˛Þ¾¦þÞÞŞý=³−×˛ŁÝšÞ¦šýI=Þ˛−×K=o`OMLo`OMocW=
²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=‡Ş=³¹²˛Þ˛ŁÝ¦Ł˛š²š=Þš=¹=−þýþğşć=−³Ýş²˛=
³−×˛ŁÝšÞ¦ČI=˛=¹=−þýþğşć=Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦ČK=

„¹Ý¦=‡Ş=ŁÞš¹Ý¦=¦žýšÞšÞ¦Č=Ł=−×þł×˛ýý³=¦=ž˛²šý=Ł=²š₣šÞ¦š=−Č²¦=ý¦Þ³²=
Þš=Þ˛Ž¦ý˛Ý¦=Þ¦=þŠÞþÐ=ðÞþ−ð¦I=ŁŁþŠ=²˛ðŽš=ˇ³Šš²=ž˛Łš×Ğ÷Þ=E−š×š¼þŠ=
ð=¹ÝšŠ³ćğšý³=Ğ˛ł³FK

Ì×¦=Ł¦Šš=×šł³Ý¦×þŁ˛Þ¦Č=?Ï²ðÝć₣šÞþ?=þ²þ−ÝšÞ¦š=þ²ðÝć₣˛š²¹Č=Ł=
Þþ₣Þþý=×šŽ¦ýšK=Îþ₣Þ³ć=²šý−š×˛²³×³=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=ž˛Š˛²ş=
ÞšŁþžýþŽÞþK=Î˛=Š¦¹−ÝšÐ=ŁŞŁþŠ¦²¹Č=¹þþ²Łš²¹²Ł³ćğšš=¹þþˇğšÞ¦šK=
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Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
Ò¹²˛ÞþŁð~=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ y=
−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦Č

ÂŠš¹ş=‡Ş=ýþŽš²š=³¹²˛ÞþŁ¦²ş=²šý−š×˛²³×³=Ł=−þýšğšÞ¦¦=ŠÝČ=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛I=×˛Þšš=ŁŞˇ×˛ÞÞþłþ=Ł=−×þł×˛ýýš=−š×šðÝć₣šÞ¦ČK

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=−×þł×˛ýý³=−š×šðÝć₣šÞ¦ČK

PK ‡Şˇ×˛²ş=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=E¹²×˛Þ¦¾˛ OS=¥ OVFK

QK ‡Şˇ×˛²ş=²šý−š×˛²³×³=Ł=−þýšğšÞ¦¦K

RK Ò¹²˛ÞþŁð~=ŽšÝ˛šýþÐ=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦K

SK ‡×˛ğ˛Ð²š=×³₣ð³=−š×šðÝć₣˛²šÝČ= I=₣²þˇŞ=−š×šÐ²¦=þ²=²šý−š×˛²³×=ŠÞšŁÞþłþ=
×šŽ¦ý˛=ð=²šý−š×˛²³×˛ý=Þþ₣Þþłþ=×šŽ¦ý˛K

RKT Ò¹²˛ÞþŁð~=−×þł×˛ýýŞ=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ=

Ì×¦=³¹²˛ÞþŁðš=Ìþ=þ²þ−¦²šÝşÞŞý=ðþÞ²³×˛ý=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛F=Ł×šýČ=
ŁðÝć₣šÞ¦Č=¦=þ²ðÝć₣šÞ¦Č=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ=ž˛Ł¦¹¦²=þ²=ŁŞˇ×˛ÞÞþÐ=
−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦ČK=˚²¦ý=ł˛×˛Þ²¦×³š²¹Č=Þ˛Ý¦₣¦š=łþ×Č₣šÐ=ŁþŠŞ=Ł=
−š×¦þŠŞ=þ²þ−ÝšÞ¦Č=EŁ=ŠÞšŁÞþý=×šŽ¦ýšFK

„¹Ý¦=‡Ş=¼þ²¦²š=ŁŁš¹²¦=þ²ŠšÝşÞ³ć=−×þł×˛ýý³=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞI=ýŞ=
×šðþýšÞŠ³šý=‡˛ýW=

¥ ž˛−þÝÞČ²ş=ˇ˛ð=ŠÝČ=łþ×Č₣šÐ=ŁþŠŞ=þŠ¦Þ=×˛ž=³²×þý=Šþ=Þ˛₣˛Ý˛=Þ˛ł×šŁ˛

¥ ¦=−×¦=×šł³ÝČ×Þþý=−þ²×šˇÝšÞ¦¦=ŠÝČ=Łš₣š×˛=ž˛−×þł×˛ýý¦×þŁ˛²ş=šğ÷=þŠÞ³=
½˛ž³=Þ˛ł×šŁ˛K=

Ò˛ð¦ý=þˇ×˛žþý=ýþŽÞþ=¹³ğš¹²ŁšÞÞþ=¹ĆðþÞþý¦²ş=−þ²×šˇÝšÞ¦š=ĆÞš×ł¦¦K

Ò¹²˛ÞþŁð~=−×þł×˛ýýŞ=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ=Þšž˛Ł¦¹¦ýþ=þ²=½˛ž=
Þ˛ł×šŁ˛W

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=−×þł×˛ýý³=−š×šðÝć₣šÞ¦ČK

Ï¹²þ×þŽÞþW=ÌþŁ×šŽŠšÞ¦š=þˇþ×³ŠþŁ˛Þ¦Č

Ł¹ÝšŠ¹²Ł¦š=ž˛ýš×ž˛Þ¦Č=³¹²˛ÞþŁð¦K=„¹Ý¦=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦Č¼=¦ýšć²=³¹²˛ÞþŁð³=Þ¦Žš=NM Œ`I=ŁþžŠ³¼=Ł=−þýšğšÞ¦Č¼=³Žš=
ýþŽš²=ˇŞ²ş=Šþ¹²˛²þ₣Þþ=¼þÝþŠÞŞýI=₣²þI=ð=−×¦ýš×³I=²×³ˇŞ=Ł=Þ˛×³ŽÞŞ¼=
¹²šÞ˛¼=ž˛ý÷×žÝ¦K

Ò¹²˛ÞþŁð~=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=ŁŞĞš=NM Œ`K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 39



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
PK ‡Şˇ×˛²ş=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=·þ×Č₣˛Č=ŁþŠ˛K

QK Ô=−þýþğşć=−³Þð²˛=ýšÞć=ÊžýšÞšÞ¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦ČI=_Łš¹²¦=²þ₣ð³=
−š×šðÝć₣šÞ¦Č=¦Ý¦=Åþ−þ¹²˛Ł¦²ş=−×þł×˛ýý³=¹=ÒŠ˛ÝšÞ¦šý=²þ₣ð¦=
−š×šðÝć₣šÞ¦Č=E¹²×˛Þ¦¾˛ PSFI=¦Ý¦=ŁŁš¹²¦=ÞþŁ³ć=−×þł×˛ýý³K=

RK Ôþ¼×˛Þ¦²š=−×þł×˛ýý³=Ł=ð˛₣š¹²Łš=Ôþˇ¹²ŁN=¦Ý¦=ŁŞˇš×¦²š=flšž=¹þ¼×˛ÞšÞ¦ČI=
₣²þˇŞ=−×š×Ł˛²ş=ŁŁþŠK

SK Ì×þŁš×ş²šI=₣²þ=Ł=fiŁ²þý˛²¦₣š¹ðþý=×šŽ¦ýš=Ł=ð˛₣š¹²Łš=ÓšŽ¦ý˛=×˛ˇþ²Ş=
³¹²˛ÞþŁÝšÞ˛ y=·þ×Č₣˛Č=ŁþŠ˛I=₣²þˇŞ=³¹²˛ÞþŁÝšÞÞ˛Č=−×þł×˛ýý˛=²˛ðŽš=ˇŞÝ˛=
˛ð²¦ŁÞ˛=E¹²×˛Þ¦¾˛ PNFK

RKU Ò¹²˛ÞþŁð˛=−×þł×˛ýýŞ=¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛NF

Ì×þł×˛ýý˛=×˛ˇþ²Ş=¾¦×ð³ÝČ¾¦¦=−þžŁþÝČš²=ŁŁš¹²¦=Ł×šýČ=ŁðÝć₣šÞ¦Č=¦=
ŁŞðÝć₣šÞ¦Č=¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛=Þšž˛Ł¦¹¦ýþ=þ²=−×þł×˛ýýŞ=
−š×šðÝć₣šÞ¦ČK=‚ÝČ=Ć²þłþ=ŠšÐ¹²Ł³Ð²š=Ł=¹þþ²Łš²¹²Ł¦¦=¹=Š˛ÞÞŞý¦I=ŁŁšŠ÷ÞÞŞý¦=Ł=
−×þł×˛ýý³=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ=EłÝ˛Ł˛ RKTFK

RKV Ò¹²˛ÞþŁð˛=−þ×þłþŁþłþ=žÞ˛₣šÞ¦Č=Ýš²Þšłþ=¦Ý¦=ž¦ýÞšłþ=
×šŽ¦ý˛

Ò¹ÝþŁ¦ČW=Êýšš²¹Č=²š×ýþýš²×=ž˛=þðÞþýK=Ï²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=
þ²×šł³Ý¦×þŁ˛Þ˛=Þ˛=³−×˛ŁÝšÞ¦š=Ł=¹þþ²Łš²¹²Ł¦¦=¹=Þ˛×³ŽÞþÐ=²šý−š×˛²³×þÐ=
E−×¦=Þ˛Ý¦₣¦¦=ŁþžŠšÐ¹²Ł¦Č=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=¦Ý¦=ˇšž=ÞšłþI=
¹²×˛Þ¦¾˛ RNFK=Ì×¦=×šł³Ý¦×þŁ˛Þ¦¦=Ł=¹þþ²Łš²¹²Ł¦¦=¹=ŁÞšĞÞšÐ=²šý−š×˛²³×þÐ=Þš=
þ²þˇ×˛Ž˛š²¹Č=−³Þð²=ýšÞć=Ìþ×þłþŁþš=žÞ˛₣šÞ¦š=Ýš²Þšłþ=¦Ý¦=ž¦ýÞšłþ=
×šŽ¦ý˛K

Ï²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=−×¦=Šþ¹²¦ŽšÞ¦¦=žÞ˛₣šÞ¦Č=Þ¦Žš=Þ˛¹²×þšÞÞþÐ=
Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=˛Ł²þý˛²¦₣š¹ð¦=−š×šðÝć₣˛š²¹Č=Þ˛=ž¦ýÞ¦Ð=×šŽ¦ý=
Eþ²þ−ÝšÞ¦š=ŁðÝFK=

ÒˇšŠ¦²š¹şI=₣²þ=ž˛Š˛Þþ=˛Ł²þý˛²¦₣š¹ðþš=−š×šðÝć₣šÞ¦šK

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇš×¦²š=Ìš×šðÝć₣šÞ¦š=¹=ž¦ýÞšłþ=Þ˛=Ýš²Þšš=Ł×šýČ=¦=Þ˛þˇþ×þ²K

„¹Ý¦=‡˛ý=þŠ¦Þ=×˛ž=ŁÞš=³¹²˛ÞþŁÝšÞÞþłþ=Ł×šýšÞ¦=−þÞ˛Šþˇ¦Ý˛¹ş=
łþ×Č₣˛Č=ŁþŠ˛I=‡Ş=ýþŽš²š=−þŠþł×š²ş=š÷=ž˛=ðþ×þ²ðþš=Ł×šýČ=
E?ÏŠÞþð×˛²ÞŞÐ=−þŠþł×šŁ=ŁþŠŞ?I=¹²×˛Þ¦¾˛ NVFK

NF Ú³Þð¾¦Č=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>40



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
PK „¹Ý¦=‡˛Ğ˛=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=×˛ˇþ²˛š²=¹=Þš¹ðþÝşð¦ý¦=þ²þ−¦²šÝşÞŞý¦=
ðþÞ²³×˛ý¦=E¹²×˛Þ¦¾˛ OSFW=ŁŞˇ×˛²ş=ŽšÝ˛šýŞÐ=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=¦=
−þŠ²Łš×Š¦²ş=šłþ=ŁŞˇþ×K

QK ‚ÝČ=ĆðþÞþý¦¦=ĆÞš×ł¦¦=Ł=−š×š¼þŠÞŞÐ=−š×¦þŠ=Łš¹ÞþÐ=¦=þ¹šÞşć=ýþŽÞþ=¹Þ¦ž¦²ş=
−þ×þłþŁþš=žÞ˛₣šÞ¦š=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛W=NT Œ`FK

RK „¹Ý¦=Ł=−š×š¼þŠÞþš=Ł×šýČ=‡Ş=¼þ²¦²š=Šþ¹²¦₣ş=ˇþÝšš=ŁŞ¹þðþłþ=²š−ÝþŁþłþ=
ðþý½þ×²˛I=²þ=³ŁšÝ¦₣ş²š=−þ×þłþŁþš=žÞ˛₣šÞ¦šK

RKNM Ò¹²˛ÞþŁð˛=−š×š¼þŠ˛=¹=Ýš²Þšłþ=Ł×šýšÞ¦=Þ˛=ž¦ýÞšš

Ì³Ýş²=³−×˛ŁÝšÞ¦Č=˛Ł²þý˛²¦₣š¹ð¦=−š×šðÝć₣˛š²=Ýš²Þšš=¦=ž¦ýÞšš=Ł×šýČK
Ô=−þýþğşć=−³Þð²˛=ýšÞć=Èš²ÞššLž¦ýÞšš=Ł×šýČ=ýþŽÞþ=þ²ðÝć₣¦²ş=
˛Ł²þý˛²¦₣š¹ðþš=−š×šðÝć₣šÞ¦šK=

Ô×þð=˛Ł²þý˛²¦₣š¹ðþłþ=−š×šðÝć₣šÞ¦Č=þ×¦šÞ²¦×þŁ˛Þ=Þ˛=ž˛ðþÞþŠ˛²šÝşÞŞš=
−×šŠ−¦¹˛Þ¦ČW

¥ Ìš×š¼þŠ=Þ˛=Ýš²Þšš=Ł×šýČW
Ł=−þ¹ÝšŠÞšš=Łþ¹ð×š¹šÞşš=ý˛×²˛=Ł=OWMM Þ˛=PWMM ₣˛¹˛=EHN ₣˛¹FK

¥ Ìš×š¼þŠ=Þ˛=ž¦ýÞšš=Ł×šýČW
Ł=−þ¹ÝšŠÞšš=Łþ¹ð×š¹šÞşš=þð²Čˇ×Č=Ł=PWMM Þ˛=OWMM ₣˛¹˛=E¥N ₣˛¹FK

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇþ×=Ýš²ÞšłþLž¦ýÞšłþ=Ł×šýšÞ¦K

PK ‡Łš¹²¦=‚˛=¦Ý¦=Îš²=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛W=‚˛FK

„¹Ý¦=ŠÝ¦²šÝşÞþš=Ł×šýČ=‡˛ý=¹Ý¦Ğðþý=Ž˛×ðþ=¦Ý¦=¹Ý¦Ğðþý=¼þÝþŠÞþI=
‡Ş=ýþŽš²š=Łþ¹−þÝşžþŁ˛²ş¹Č=×³₣ÞŞý=×šŽ¦ýþý=E¹²×˛Þ¦¾˛ NQFK

Ì×¦=−š×šðÝć₣šÞ¦¦=³₣¦²ŞŁ˛š²¹Č=¦=¦¹−þÝşž³š²¹Č=²˛ðŽš=²š−Ýþ÷ýðþ¹²ş=
žŠ˛Þ¦ČK=Ò˛ð=ð˛ð=²šý−š×˛²³×˛=Ł=ðŁ˛×²¦×š=−þÞ¦Ž˛š²¹Č=ýšŠÝšÞÞþI=
ýþŽš²=−þÝ³₣¦²ş¹Č=²˛ðI=₣²þ=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=−š×šÐŠ÷²=Þ˛=
ž¦ýÞ¦Ð=×šŽ¦ý=−þžŠÞššI=Þš¹ýþ²×Č=Þ˛=²þ=₣²þ=ŁÞšĞÞČČ=²šý−š×˛²³×˛=
ˇ³Šš²=³Žš=Þ¦Žš=−þ×þłþŁþłþ=žÞ˛₣šÞ¦ČK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 41



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
RKNN Ò¹²˛ÞþŁð˛=²šý−š×˛²³×Ş=łþ×Č₣šÐ=ŁþŠŞNF

Òšý−š×˛²³×˛=łþ×Č₣šÐ=ŁþŠŞ=Ć²þ=²šý−š×˛²³×˛I=Šþ=ðþ²þ×þÐ=łþ×Č₣˛Č=ŁþŠ˛=
Þ˛ł×šŁ˛š²¹Č=Ł=ˇ˛ðšK

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=Òšý−š×˛²³×³=łþ×Č₣šÐ=ŁþŠŞK

PK Î˛¹²×þÐð˛=²šý−š×˛²³×Ş=łþ×Č₣šÐ=ŁþŠŞ=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛W=SM Œ`FK

RKNO Ò¹²˛ÞþŁð˛=½³Þð¾¦¦=Ï²−³¹ðNF

Ê¹−þÝşž³Ð²š=½³Þð¾¦ć=Ï²−³¹ðI=₣²þˇŞ=Łþ=Ł×šýČ=þ²−³¹ð˛=ž˛−³¹ð˛²ş=
þ²þ−¦²šÝşÞ³ć=³¹²˛ÞþŁð³=¹=−×þł×˛ýýþÐ=−š×šðÝć₣šÞ¦ČI=þ²Ý¦₣˛ćğšÐ¹Č=þ²=
þˇŞ₣ÞþÐK=

‡Ş=ýþŽš²š=ŁŁš¹²¦=Š˛²Ş=Þ˛₣˛Ý˛=¦=ðþÞ¾˛=²þÝşðþ=þŠÞþłþ=þ²−³¹ð˛K

„¹Ý¦=¦žýšÞ¦²¹Č=³¹²˛ÞþŁÝšÞÞŞÐ=ž˛ðþÞþý=−þ×ČŠþð=−š×š¼þŠ˛=¹=ž¦ýÞšłþ=
Ł×šýšÞ¦=Þ˛=Ýš²ÞššI=−š×šðÝć₣¦²š=Þ˛¹²×þÐð³=Þ˛=Îš²K
‡=Ć²þý=¹Ý³₣˛š=Ł×šýČ=−×¦Š÷²¹Č=−š×š³¹²˛Þ˛ŁÝ¦Ł˛²ş=Ł×³₣Þ³ćK

NF Ú³Þð¾¦Č=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K

‡eÊj^eÊbW=Ï−˛¹Þþ¹²ş=þŽþł˛>

Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=²šý−š×˛²³×Ş=łþ×Č₣šÐ=ŁþŠŞ=¹þ¹²˛ŁÝČš²=SM Œ`K=
Ì×¦=ˇþÝšš=ŁŞ¹þð¦¼=²šý−š×˛²³×˛¼=ŁþžÞ¦ð˛š²=þ−˛¹Þþ¹²ş=þĞ−˛×¦Ł˛Þ¦Č=
Ł=ýš¹²˛¼=ŁþŠþ×˛žˇþ×˛K

Ì×¦=ž˛Š˛ÞÞþÐ=²šý−š×˛²³×š=ˇþÝšš=SM Œ`=þ²ð×ŞŁ˛Ð²š=¹Þ˛₣˛Ý˛=
¼þÝþŠÞ³ć=ŁþŠ³I=ž˛²šý=Šþˇ˛ŁÝČÐ²š=łþ×Č₣³ćK

fiÞ˛Ýþł¦₣Þ³ć=³¹²˛ÞþŁð³=‡Ş=ýþŽš²š=ŁŞ−þÝÞ¦²ş=¦=̌ šž=ýšÞć=þ−š×˛²þ×˛W=

ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ I=−þŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č K

„¹Ý¦=ˇ³Šš²=þ²þˇ×˛ŽšÞþ=¹þþˇğšÞ¦šI=₣²þ=¦žýšÞšÞ¦š=³¹²˛ÞþŁð¦=
ÞšŁþžýþŽÞþW=−þŁš×Þ³²ş=×³₣ð³=³¹²˛ÞþŁð¦=ýþŠ³ÝČ=³−×˛ŁÝšÞ¦Č=ðþ²Ý˛=
_`NM=Ł=−þÝþŽšÞ¦š =?^ìí?K=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>42



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=½³Þð¾¦ć=Ï²−³¹ðK

PK ‡Şˇ×˛²ş=ðþÞ²³×=þ²þ−ÝšÞ¦ČI=ðþ²þ×ŞÐ=ŠþÝŽšÞ=ŁðÝć₣¦²ş¹Č=Łþ=Ł×šýČ=ŠšÐ¹²Ł¦Č=
½³Þð¾¦¦=Ï²−³¹ðW

¥ ‡¹Č=³¹²˛ÞþŁð˛W=þ²þ−¦²šÝşÞŞš=ðþÞ²³×ŞI=ðþÞ²³×=łþ×Č₣šÐ=ŁþŠŞ=¦=ðþÞ²³×=
¾¦×ð³ÝČ¾¦¦

¥ ËþÞ²³×Ş=o`PRW=Ć²˛=³¹²˛ÞþŁð˛=þ²þˇ×˛Ž˛š²¹Č=²þÝşðþ=Ł=²þý=¹Ý³₣˛šI=ðþłŠ˛=
þŠ¦Þ=¦Ý¦=Þš¹ðþÝşðþ=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=−þŠ₣¦ÞšÞŞ=o`PRX=ðþÞ²³×=
łþ×Č₣šÐ=ŁþŠŞ=¦=þ¹²˛ÝşÞŞš=þ²þ−¦²šÝşÞŞš=ðþÞ²³×Ş=þ¹²˛ć²¹Č=˛ð²¦ŁÞŞý¦K

¥ Ï²ŠšÝşÞŞš=þ²þ−¦²šÝşÞŞš=ðþÞ²³×ŞW=þ²þˇ×˛Ž˛ć²¹Č=²þÝşðþ=²š=
þ²þ−¦²šÝşÞŞš=ðþÞ²³×ŞI=ðþ²þ×Şš=Þš=−þŠ₣¦ÞšÞŞ=o`PRI=²þ=š¹²ş=¦ýšćğ¦š=
¹þˇ¹²ŁšÞÞþš=Š¦¹²˛Þ¾¦þÞÞþš=³−×˛ŁÝšÞ¦š=¦Ý¦=Łþþˇğš=Þš=¦ýšćğ¦š=šłþK

QK Ò¹²˛ÞþŁð˛=Ł×šýšÞ¦=þ²¹³²¹²Ł¦ČL−×¦¹³²¹²Ł¦ČW=

¥ þ²¹³²¹²Ł³ćW=þ²þ−ÝšÞ¦š=ŠšÐ¹²Ł³š²=¹=−þÞ¦ŽšÞÞþÐI=Þ˛¹²×˛¦Ł˛šýþÐ=
²šý−š×˛²³×þÐ=ŠÝČ=Ł×šýšÞ¦=þ²¹³²¹²Ł¦Č=E×šŽ¦ý=¹Þ¦ŽšÞÞþłþ=
ĆÞš×łþ−þ²×šˇÝšÞ¦ČFK=Ì×¦=−×šŠŞŠ³ğšÐ=ŁŞˇ×˛ÞÞþÐ=þ−¾¦¦=‡¹Č=³¹²˛ÞþŁð˛=
þ²ðÝć₣˛ć²¹Č=ðþÞ²³×=łþ×Č₣šÐ=ŁþŠŞ=¦=¾¦×ð³ÝČ¾¦ČK=
„¹Ý¦=Ł=×šŽ¦ýš=¹Þ¦ŽšÞÞþłþ=ĆÞš×łþ−þ²×šˇÝšÞ¦Č=Þ˛¼þŠČ²¹Č=Ý¦Ğş=Þšðþ²þ×Şš=
þ²þ−¦²šÝşÞŞš=ðþÞ²³×ŞI=ðþÞ²³×=łþ×Č₣šÐ=ŁþŠŞ=¦=¾¦×ð³ÝČ¾¦Č=þ¹²˛ć²¹Č=
˛ð²¦ŁÞŞ=E²˛ˇÝ¦¾˛ NNI=¹²×˛Þ¦¾˛ QRFK

¥ Þ˛=ýš¹²šW=þ²þ−ÝšÞ¦š=¦=łþ×Č₣˛Č=ŁþŠ˛=ð˛ŽŠŞÐ=ŠšÞş=Šþ¹²³−ÞŞ=ð˛ð=Ł=þˇŞ₣ÞŞÐ=
ŁŞ¼þŠÞþÐ=ŠšÞşK=

RK Ìþ¹ÝšŠþŁ˛²šÝşÞ˛Č=³¹²˛ÞþŁð˛=łþŠ˛I=ýš¹Č¾˛=¦=−š×Łþłþ=ŠÞČ=þ²−³¹ð˛K=
ÓšŽ¦ý=þ²−³¹ð˛=Þ˛₣¦Þ˛š²¹Č=Ł=MWMM ₣˛¹þŁ=−š×Łþłþ=ŠÞČK

SK Î˛Ž˛²ş=ðÞþ−ð³ K=Ï²þˇ×˛ŽšÞ¦š=łþŠ˛=ˇ³Šš²=ý¦ł˛²şK

TK Ò¹²˛ÞþŁð˛=łþŠ˛W=³Šš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ I=−þŁš×Þ³²ş=×³₣ð³=
³−×˛ŁÝšÞ¦ČK

UK Ï²−³¹²¦²ş=ðÞþ−ð³K=·þŠ=¹þ¼×˛Þ÷ÞK

VK ÌþŁ²þ×Č²ş=Ğ˛ł¦=¹=S=−þ=U=ŠÝČ=³¹²˛ÞþŁð¦=ýš¹Č¾˛=¦=ŠÞČK
‚˛²˛=ž˛−³¹ð˛=×šŽ¦ý˛=þ²−³¹ð˛=³¹²˛ÞþŁÝšÞ˛K=

NMKÓ³₣ð³=−š×šðÝć₣˛²šÝČ =−þŁš×Þ³²ş=Ł−×˛Łþ=ŠÝČ=Þ˛¹²×þÐð¦=Š˛²Ş=
ž˛Łš×ĞšÞ¦Č=×šŽ¦ý˛=þ²−³¹ð˛K

NNK‚˛²³=ž˛Łš×ĞšÞ¦Č=×šŽ¦ý˛=þ²−³¹ð˛=³¹²˛ÞþŁ¦²ş=Ł=¹þþ²Łš²¹²Ł¦¦=¹=Ğ˛ł˛ý¦=¹=
S=−þ=VK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 43



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
NOKÒþÝşðþ=−×¦=³¹²˛ÞþŁðš=þ²¹³²¹²Ł³ć=Šþ−þÝÞ¦²šÝşÞþW=−þŁš×Þ¦²š=×³₣ð³=
³−×˛ŁÝšÞ¦Č =Ł−×˛ŁþI=₣²þˇŞ=³¹²˛ÞþŁ¦²ş=²šý−š×˛²³×³=Ł=²š₣šÞ¦š=Ł×šýšÞ¦=
þ²−³¹ð˛=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=NT Œ`FK
ÓšŽ¦ý=þ²−³¹ð˛=³¹²˛ÞþŁÝšÞ=−þÝÞþ¹²şćK

NPKÂ˛ð×þÐ²š=ð×ŞĞð³=ŠÝČ=ž˛Łš×ĞšÞ¦Č=³¹²˛ÞþŁð¦K

‡þ=Ł×šýČ=þ²−³¹ð˛=−×¦=þ²ð×Ş²þÐ=ð×ŞĞðš=þ²þˇ×˛Ž˛š²¹Č=Š˛²˛=ž˛Łš×ĞšÞ¦ČK

„¹Ý¦=‡Ş=¼þ²¦²š=ž˛Łš×Ğ¦²ş=×šŽ¦ý=þ²−³¹ð˛=Šþ=³¹²˛ÞþŁÝšÞÞþłþ=¹×þð˛W

„ğ÷=×˛ž=þ²ð×þÐ²š=ÍšÞć=þ−š×˛²þ×˛=y=Ï²−³¹ðK

Ì×¦=þ²Łš²š=Þ˛=Łþ−×þ¹=Ûþ²¦²š=ž˛Łš×Ğ¦²ş=ŠšÐ¹²Ł¦š=½³Þð¾¦¦=þ²−³¹ð˛\=
³¹²˛ÞþŁ¦²š=þ²Łš²=‚˛K

Ì×¦=³¹²˛ÞþŁðš=þ²¹³²¹²Ł³ć=Ł=ð˛₣š¹²Łš=Š˛²Ş=ž˛Łš×ĞšÞ¦Č=³¹²˛ÞþŁ¦²š=
−š×ŁŞÐ=ŠšÞş=ŠÝČ=Þþ×ý˛ÝşÞþłþ=×šŽ¦ý˛=EŠšÞş=−×¦ˇŞ²¦ČFI=₣²þˇŞ=−×¦=
‡˛Ğšý=−×¦ˇŞ²¦¦=Ł=ðŁ˛×²¦×š=ˇŞÝþ=²š−ÝþK
Ì×¦=³¹²˛ÞþŁðš=Þ˛=ýš¹²š=Ł=ð˛₣š¹²Łš=Š˛²Ş=ž˛Łš×ĞšÞ¦Č=³¹²˛ÞþŁ¦²š=
−þ¹ÝšŠÞ¦Ð=ŠšÞş=þ²−³¹ð˛K

‡þ=Ł×šýČ=ŠšÐ¹²Ł¦Č=×šŽ¦ý˛=þ²¹³²¹²Ł³ć=‡Ş=ýþŽš²š=¦žýšÞČ²ş=
²šý−š×˛²³×³=−×¦=−þýþğ¦=×³₣ð¦=³−×˛ŁÝšÞ¦ČK=‚ÝČ=Ć²þłþ=ð×ŞĞð˛=
ŠþÝŽÞ˛=ˇŞ²ş=ž˛ð×Ş²˛K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>44



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
·þ×Č₣˛Č=ŁþŠ˛=EttF Ù¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=EwmFNF

ÓšŽ¦ý=Ï²−³¹ð=
Þ˛¹²×þšÞ=ð˛ð

Ì×þł×˛ýý˛=
łþ×Č₣šÐ=ŁþŠŞ=
−þ=þ²þ−K=
ðþÞ²³×˛ý=
Ež˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛F

¹þˇ¹²ŁšÞÞ˛Č=
−×þł×˛ýý˛=
łþ×Č₣šÐ=ŁþŠŞ=
E¹²×K PVF

Ì×þł×˛ýý˛=łþ�
×Č₣šÐ=ŁþŠŞ=−þ=
þ²þ−K=ðþÞ²³×˛ý=
¦=þ²¹³²¹²Ł¦¦=
¹þˇ¹²ŁšÞÞþÐ=
−×þł×˛ýýŞ=
¾¦×ð³ÝK=
Þ˛¹þ¹˛OF=
Ež˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛F

¹þˇ¹²ŁšÞÞ˛Č=
−×þł×˛ýý˛=
łþ×Č₣šÐ=ŁþŠŞ=
E¹²×K PVF=−×¦=
þ²¹³²¹²Ł¦¦=
¹þˇ¹²ŁšÞÞþÐ=
−×þł×˛ýýŞ=
¾¦×ð³ÝK=
Þ˛¹þ¹˛OF

¹þˇ¹²ŁšÞÞ˛Č=
−×þł×˛ýý˛=
¾¦×ð³ÝK=
Þ˛¹þ¹˛=
E¹²×K QMF

þ²¹³²¹²Ł³ćW=
‡¹Č=³¹²˛ÞþŁð˛

ÓšŽ¦ý=Ï²−³¹ð=Ełþ×Č₣˛Č=ŁþŠ˛=
ŁŞðÝF

ÓšŽ¦ý=Ï²−³¹ð=E¾¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=ŁŞðÝF

þ²¹³²¹²Ł³ćW=
þ²ŠšÝşÞŞš=
þ²þ−¦²šÝşÞŞš=
ðþÞ²³×Ş

„¹Ý¦=Ł¹š=
þ²þ−¦²šÝşÞŞš=
ðþÞ²³×Ş=
Þ˛¼þŠČ²¹Č=Ł=
×šŽ¦ýš=
Ï²−³¹ðW=ÓšŽ¦ý=
Ï²−³¹ð=
Ełþ×Č₣˛Č=ŁþŠ˛=
ŁŞðÝF

ÓšŽ¦ý=Ï²−³¹ð=
þ²¹³²¹²Ł³š²

„¹Ý¦=Ł¹š=
þ²þ−¦²šÝşÞŞš=
ðþÞ²³×Ş=
Þ˛¼þŠČ²¹Č=Ł=
×šŽ¦ýš=Ï²−³¹ðW=
ÓšŽ¦ý=Ï²−³¹ð=
E¾¦×ð³ÝČ¾¦þÞÞŞ
Ð=Þ˛¹þ¹=ŁŞðÝF

ÓšŽ¦ý=Ï²−³¹ð=
þ²¹³²¹²Ł³š²

ÓšŽ¦ý=Ï²−³¹ð=
þ²¹³²¹²Ł³š²

„¹Ý¦=¼þ²Č=ˇŞ=
þŠ¦Þ=
þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=Þš=Ł=
×šŽ¦ýš=
Ï²−³¹ðW=ÓšŽ¦ý=
Ï²−³¹ð=
þ²¹³²¹²Ł³š²PF

„¹Ý¦=¼þ²Č=ˇŞ=
þŠ¦Þ=
þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=Þš=Ł=
×šŽ¦ýš=Ï²−³¹ðW=
ÓšŽ¦ý=Ï²−³¹ð=
þ²¹³²¹²Ł³š²PF

Þ˛=ýš¹²šW=‡¹Č=
³¹²˛ÞþŁð˛

¹þþ²Łš²¹²Ł³š²=
−×þł×˛ýýš=
−š×šðÝć₣šÞ¦Č=
Þ˛=ŁŞ¼þŠÞŞš

¹þþ²Łš²¹²Ł³š²=
−×þł×˛ýýš=
łþ×Č₣šÐ=ŁþŠŞ=
Þ˛=ŁŞ¼þŠÞŞšPF

¹þþ²Łš²¹²Ł³š²=
−×þł×˛ýýš=
−š×šðÝć₣šÞ¦Č=
Þ˛=ŁŞ¼þŠÞŞš

¹þþ²Łš²¹²Ł³š²=
−×þł×˛ýýš=
łþ×Č₣šÐ=ŁþŠŞ=
Þ˛=ŁŞ¼þŠÞŞšPFK=

¹þþ²Łš²¹²Ł³š²=
−×þł×˛ýýš=
¾¦×ð³ÝČ¾¦þÞÞ
þłþ=Þ˛¹þ¹˛=Þ˛=
ŁŞ¼þŠÞŞš

q~ÄK=NN Ú³Þð¾¦¦=łþ×Č₣šÐ=ŁþŠŞ=EttF=¦=¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛=EwmF=Łþ=Ł×šýČ=ŠšÐ¹²Ł¦Č=×šŽ¦ý˛=Ï²−³¹ð
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 45



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
Þ˛=ýš¹²šW=
þ²ŠšÝşÞŞš=
þ²þ−¦²šÝşÞŞš=
ðþÞ²³×Ş

„¹Ý¦=Ł¹š=
þ²þ−¦²šÝşÞŞš=
ðþÞ²³×Ş=
×˛ˇþ²˛ć²=Ł=
×šŽ¦ýš=
þ²−³¹ðW=
¹þþ²Łš²¹²Ł³š²=
−×þł×˛ýýš=
−š×šðÝć₣šÞ¦Č=
Þ˛=ŁŞ¼þŠÞŞšPF

ÓšŽ¦ý=Ï²−³¹ð=
þ²¹³²¹²Ł³š²

„¹Ý¦=Ł¹š=
þ²þ−¦²šÝşÞŞš=
ðþÞ²³×Ş=
×˛ˇþ²˛ć²=Ł=
×šŽ¦ýš=þ²−³¹ðW=
¹þþ²Łš²¹²Ł³š²=
−×þł×˛ýýš=
−š×šðÝć₣šÞ¦Č=
Þ˛=ŁŞ¼þŠÞŞšPF

ÓšŽ¦ý=Ï²−³¹ð=
þ²¹³²¹²Ł³š²

ÓšŽ¦ý=Ï²−³¹ð=
þ²¹³²¹²Ł³š²

„¹Ý¦=¼þ²Č=ˇŞ=
þŠ¦Þ=
þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=Þš=Ł=
×šŽ¦ýš=
Ï²−³¹ðW=ÓšŽ¦ý=
Ï²−³¹ð=
þ²¹³²¹²Ł³š²PF

„¹Ý¦=¼þ²Č=ˇŞ=
þŠ¦Þ=
þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=Þš=Ł=
×šŽ¦ýš=Ï²−³¹ðW=
ÓšŽ¦ý=Ï²−³¹ð=
þ²¹³²¹²Ł³š²PF

NF Ú³Þð¾¦Č=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K
OF Ôþˇ¹²ŁšÞÞ˛Č=³¹²˛ÞþŁð˛=−×þł×˛ýýŞ=¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛=þ²¹³²¹²Ł³š²I=²KšK=Ł×šýČ=

×˛ˇþ²Ş=¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛=¹þþ²Łš²¹²Ł³š²=Ł×šýšÞ¦=−×þł×˛ýýŞ=łþ×Č₣šÐ=ŁþŠŞK
PF ‡=Ć²þ²=ŠšÞş=ŠšÐ¹²Ł³ć²=¹˛ý˛Č=×˛ÞÞČČ=²þ₣ð˛=ŁðÝć₣šÞ¦Č=¦=¹˛ý˛Č=−þžŠÞČČ=²þ₣ð˛=þ²ðÝć₣šÞ¦Č=

Ł¹š¼=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁK

·þ×Č₣˛Č=ŁþŠ˛=EttF Ù¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=EwmFNF

ÓšŽ¦ý=Ï²−³¹ð=
Þ˛¹²×þšÞ=ð˛ð

Ì×þł×˛ýý˛=
łþ×Č₣šÐ=ŁþŠŞ=
−þ=þ²þ−K=
ðþÞ²³×˛ý=
Ež˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛F

¹þˇ¹²ŁšÞÞ˛Č=
−×þł×˛ýý˛=
łþ×Č₣šÐ=ŁþŠŞ=
E¹²×K PVF

Ì×þł×˛ýý˛=łþ�
×Č₣šÐ=ŁþŠŞ=−þ=
þ²þ−K=ðþÞ²³×˛ý=
¦=þ²¹³²¹²Ł¦¦=
¹þˇ¹²ŁšÞÞþÐ=
−×þł×˛ýýŞ=
¾¦×ð³ÝK=
Þ˛¹þ¹˛OF=
Ež˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛F

¹þˇ¹²ŁšÞÞ˛Č=
−×þł×˛ýý˛=
łþ×Č₣šÐ=ŁþŠŞ=
E¹²×K PVF=−×¦=
þ²¹³²¹²Ł¦¦=
¹þˇ¹²ŁšÞÞþÐ=
−×þł×˛ýýŞ=
¾¦×ð³ÝK=
Þ˛¹þ¹˛OF

¹þˇ¹²ŁšÞÞ˛Č=
−×þł×˛ýý˛=
¾¦×ð³ÝK=
Þ˛¹þ¹˛=
E¹²×K QMF

q~ÄK=NN Ú³Þð¾¦¦=łþ×Č₣šÐ=ŁþŠŞ=EttF=¦=¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛=EwmF=Łþ=Ł×šýČ=ŠšÐ¹²Ł¦Č=×šŽ¦ý˛=Ï²−³¹ð
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>46



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛ 5 
RKNP Ò¹²˛ÞþŁð˛=−×þł×˛ýýŞ=‡š₣š×¦Þð˛

Ì×þł×˛ýý˛=‡š₣š×¦Þð˛=−þžŁþÝČš²=¹ýš¹²¦²ş=Ł×šýČ=−š×š¼þŠ˛=þ²þ−ÝšÞ¦Č=Ł=
Þþ₣ÞþÐ=×šŽ¦ý=Þ˛=ˇþÝšš=−þžŠÞ¦Ð=¹×þðK=Ï²þ−ÝšÞ¦š=ˇ³Šš²=×˛ˇþ²˛²ş=Ł=×šŽ¦ýš=
EÌþ¹²þČÞÞþš=þ²þ−ÝšÞ¦šFI=š¹Ý¦=‡Ş=¼þ²¦²š=Łš₣š×þý=−þ¹¦Šš²ş=¹þ=¹Łþ¦ý¦=łþ¹²Čý¦=
Þš¹ðþÝşðþ=−þŠþÝşĞšK=

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=−×þł×˛ýý³=‡š₣š×¦Þð˛K

PK „¹Ý¦=‡˛Ğ˛=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=×˛ˇþ²˛š²=¹=Þš¹ðþÝşð¦ý¦=þ²þ−¦²šÝşÞŞý¦=
ðþÞ²³×˛ý¦=E¹²×˛Þ¦¾˛ OSFW=ŁŞˇ×˛²ş=ŽšÝ˛šýŞÐ=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=¦=
−þŠ²Łš×Š¦²ş=šłþ=ŁŞˇþ×K

QK ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ I=−þŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦ČI=₣²þˇŞ=
Þ˛¹²×þ¦²ş=ðþÝ¦₣š¹²Łþ=₣˛¹þŁ=Eþ²=M=Šþ=VVFI=Ł=²š₣šÞ¦š=ðþ²þ×þłþ=Ł=ŠÞšŁÞþý=
×šŽ¦ýš=−þýšğšÞ¦š=ˇ³Šš²=−×þł×šŁ˛²ş¹ČK
Ì×þł×˛ýý˛=‡š₣š×¦Þð˛=ŁðÝć₣šÞ˛K=Ï¹²˛ŁĞšš¹Č=Ł×šýČ=þ²þˇ×˛Ž˛š²¹Č=Þ˛=
Š¦¹−ÝššK=Ìþ=¦¹²š₣šÞ¦¦=Ł×šýšÞ¦=−×þ¦žþÐŠ÷²=−š×š¼þŠ=Ł=˛Ł²þý˛²¦₣š¹ð¦Ð=
×šŽ¦ýK

Ì×šŽŠšŁ×šýšÞÞþš=ž˛Łš×ĞšÞ¦š=−×þł×˛ýýŞ=‡š₣š×¦Þð˛W

ÌþŁ²þ×Þþ=þ²ð×Ş²ş=Í„Î¸=ÏÌ„ÓfiÒÏÓfi y=Ì×þł×˛ýý˛=‡š₣š×¦Þð˛==¦=ŁŞˇ×˛²ş=
ž˛Łš×ĞšÞ¦šK

RKNQ Ò¹²˛ÞþŁð˛=−×þł×˛ýýŞ=Ìš×š×ŞŁ

Ô=−þýþğşć=−×þł×˛ýýŞ=Ìš×š×ŞŁ=‡Ş=ýþŽš²š=³¹²˛ÞþŁ¦²şI=₣²þˇŞ=‡˛Ğš=
þ²þ−ÝšÞ¦š=×˛ˇþ²˛Ýþ=Ł=×šŽ¦ýš=−þ¹²þČÞÞþÐ=ĆðþÞþý¦¦=Ł=²š₣šÞ¦š=þ−×šŠšÝ÷ÞÞþłþ=
Ł×šýšÞ¦I=Þš¹ýþ²×Č=Þ˛=³¹²˛ÞþŁð³=−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦Č=EÌþ¹²þČÞÞ˛Č=
ĆðþÞþý¦ČFI=Þ˛−×¦ýš×I=Łþ=Ł×šýČ=‡˛Ğšłþ=þ²¹³²¹²Ł¦ČK

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=−×þł×˛ýý³=Ìš×š×ŞŁK

PK „¹Ý¦=‡˛Ğ˛=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=×˛ˇþ²˛š²=¹=Þš¹ðþÝşð¦ý¦=þ²þ−¦²šÝşÞŞý¦=
ðþÞ²³×˛ý¦=E¹²×˛Þ¦¾˛ OSFW=ŁŞˇ×˛²ş=ŽšÝ˛šýŞÐ=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=¦=
−þŠ²Łš×Š¦²ş=šłþ=ŁŞˇþ×K

QK ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ I=−þŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦ČI=₣²þˇŞ=
Þ˛¹²×þ¦²ş=ðþÝ¦₣š¹²Łþ=₣˛¹þŁ=Eþ²=M=Šþ=VVFI=Ł=²š₣šÞ¦š=ðþ²þ×þłþ=Ł=ŠÞšŁÞþý=
×šŽ¦ýš=þˇþł×šŁ=−þýšğšÞ¦Č=ˇ³Šš²=−×þ¦žŁþŠ¦²ş¹Č=¹þ=¹Þ¦ŽšÞÞŞý=
ĆÞš×łþ−þ²×šˇÝšÞ¦šýK
Ì×þł×˛ýý˛=Ìš×š×ŞŁ=ŁðÝć₣šÞ˛K=Ìþ=¦¹²š₣šÞ¦¦=Ł×šýšÞ¦=−×þ¦žþÐŠ÷²=−š×š¼þŠ=
Ł=˛Ł²þý˛²¦₣š¹ð¦Ð=×šŽ¦ýK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 47



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
Ì×šŽŠšŁ×šýšÞÞþš=ž˛Łš×ĞšÞ¦š=−×þł×˛ýýŞ=Ìš×š×ŞŁW

ÌþŁ²þ×Þþ=þ²ð×Ş²ş=Í„Î¸=ÏÌ„ÓfiÒÏÓfi=y=Ì×þł×˛ýý˛=‡š₣š×¦Þð˛=¦=ŁŞˇ×˛²ş=
ž˛Łš×ĞšÞ¦šK

RKNR Ò¹²˛ÞþŁð˛=²š×ý¦₣š¹ðþÐ=Ššž¦Þ½šð¾¦¦NF

Ì×¦=ŁðÝć₣šÞ¦¦=Ć²þÐ=½³Þð¾¦¦=þŠ¦Þ=×˛ž=Ł=ÞšŠšÝć=¦Ý¦=šŽšŠÞšŁÞþ=łþ×Č₣˛Č=ŁþŠ˛=
Þ˛ł×šŁ˛š²¹Č=Šþ=²šý−š×˛²³×ŞI=−×¦=ðþ²þ×þÐ=ł¦ˇÞ³²=Łþžˇ³Š¦²šÝ¦=ˇþÝšžÞšÐ=
EÞ˛−×¦ýš×I=Ýšł¦þÞšÝÝŞFK

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=Òš×ý¦₣š¹ð³ć=Ššž¦Þ½šð¾¦ćK

PK ‡Şˇš×¦²š=‚˛=¦Ý¦=Îš²K
„¹Ý¦=²š×ý¦₣š¹ð˛Č=Ššž¦Þ½šð¾¦Č=ŁðÝć₣šÞ˛W

QK Ò¹²˛ÞþŁ¦²š=²šý−š×˛²³×³I=Šþ=ðþ²þ×þÐ=łþ×Č₣˛Č=ŁþŠ˛=Þ˛ł×šŁ˛š²¹Č=ŠÝČ=
Ššž¦Þ½šð¾¦¦=E=ž˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛W=TM Œ`=FK

RK ‡ŁšŠ¦²š=ŠšÞş=ÞšŠšÝ¦=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛W=Ł²þ×Þ¦ðFK

SK Ò¹²˛ÞþŁ¦²š=Ł×šýČ=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛W=MNWMM=₣˛¹þŁ=³²×˛X=ž˛−³¹ð=ŁþžýþŽšÞ=
²þÝşðþ=Þ˛=−þÝÞŞÐ=¦Þ²š×Ł˛Ý=Ššž¦Þ½šð¾¦¦FK

RKNS Ëþ××šð¾¦Č=¦ÞŠ¦ð˛¾¦¦=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦

„¹Ý¦=ŁˇÝ¦ž¦=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=Þ˛¼þŠ¦²¹Č=˛Ł²þÞþýÞŞÐ=²š×ýþýš²×I=ýþŽš²=
−þÝ³₣¦²ş¹Č=²˛ðI=₣²þ=þÞ=ˇ³Šš²=−þð˛žŞŁ˛²ş=²š−š×˛²³×³I=þ²Ý¦₣Þ³ć=þ²=¦ÞŠ¦ð˛¾¦¦=
Þ˛=−³Ýş²š=³−×˛ŁÝšÞ¦ČK=„¹Ý¦=‡Ş=¼þ²¦²šI=₣²þˇŞ=²šý−š×˛²³×˛=Þ˛=−³Ýş²š=
³−×˛ŁÝšÞ¦Č=¹þþ²Łš²¹²ŁþŁ˛Ý˛=²šý−š×˛²³×šI=ðþ²þ×³ć=−þð˛žŞŁ˛š²=²š×ýþýš²×=
E?ŁŞ−þÝÞ¦²ş=ð˛Ý¦ˇ×þŁð³?FI=‡Ş=ýþŽš²š=Łþ¹−þÝşžþŁ˛²ş¹Č=½³Þð¾¦šÐ=Ëþ××šð¾¦Č=
²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦K=

NF Ú³Þð¾¦Č=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K

‡eÊj^eÊbW=Ï−˛¹Þþ¹²ş=þŽþł˛>

łþ×Č₣šÐ=ŁþŠþÐ=Ł=ýš¹²˛¼=ŁþŠþ×˛žˇþ×˛K=Ì×¦=−×þŁšŠšÞ¦¦=²š×ý¦₣š¹ðþÐ=
Ššž¦Þ½šð¾¦¦=ŁþŠ˛=ýþŽš²=Þ˛ł×šŁ˛š²¹Č=Šþ=²šý−š×˛²³×Ş=ŁŞĞš=SM=Œ`K

‡þ=Ł×šýČ=−×þŁšŠšÞ¦Č=²š×ý¦₣š¹ðþÐ=Ššž¦Þ½šð¾¦¦=¦=¹×˛ž³=−þ¹Ýš=Þšš=
þ²ð×ŞŁ˛Ð²š=¹Þ˛₣˛Ý˛=ð×˛Þ=¹=¼þÝþŠÞþÐ=ŁþŠþÐ=¦=−þ²þý=Šþˇ˛ŁÝČÐ²š=
łþ×Č₣³ćK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>48
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Ìš×šŠ=ðþ××šð²¦×þŁðþÐ=−þð˛ž˛Þ¦Č=²šý−š×˛²³×Ş=Þšþˇ¼þŠ¦ýþ=³₣¦²ŞŁ˛²ş=
¹ÝšŠ³ćğššW

¥ Êžýš×Čš²=Ý¦=²š×ýþýš²×=ˇþÝšš=²þ₣ÞþI=₣šý=−³Ýş²=³−×˛ŁÝšÞ¦Č\

¥ Î˛¼þŠ¦²¹Č=Ý¦=²š×ýþýš²×=Ł=Þš−þ¹×šŠ¹²ŁšÞÞþÐ=ˇÝ¦žþ¹²¦=þ²=−³Ýş²˛=
³−×˛ŁÝšÞ¦ČI=²˛ðI=₣²þ=Þ˛=þˇ˛=−×¦ˇþ×˛=ŠšÐ¹²Ł³ć²=þŠÞ¦=¦=²š=Žš=¦¹²þ₣Þ¦ð¦=
²š−ÝþŁþłþ=¦žÝ³₣šÞ¦Č=EÞ˛−×K=¹þÝÞš₣Þþš=¦žÝ³₣šÞ¦šI=ð˛ý¦ÞF\

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=þ−¾¦ć=Ëþ××šð¾¦Č=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦K

PK Ò¹²˛ÞþŁ¦²ş=Ë˛Ý¦ˇ×þŁð³=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦W=ˇ³ðŁ˛=?h?=Þ˛=
¦ÞŠ¦ð˛²þ×š=þžÞ˛₣˛š²I=₣²þ=²šý−š×˛²³×˛=þ²þˇ×˛Ž˛š²¹Č=Ł=ËšÝşŁ¦Þ˛¼X=N h=
¹þþ²Łš²¹²Ł³š²=N Œ`K=Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=�=MKM hK=
Ì×¦ýš×W=š¹Ý¦=²š×ýþýš²×=−þð˛žŞŁ˛š²=²šý−š×˛²³×³I=ˇþÝşĞ³ćI=₣šý=−þð˛ž˛Þ¦Č=
−³Ýş²˛=³−×˛ŁÝšÞ¦Č=Þ˛=MIR Œ`=ŁŁšŠ¦²š=Ł=ð˛₣š¹²Łš=žÞ˛₣šÞ¦Č=ð˛Ý¦ˇ×þŁð¦=
?HMIR=h?K
Óšž³Ýş²˛²=ˇ³Šš²=þ²þˇ×˛Ž÷Þ=¹×˛ž³=Žš=Ł=Ł¦Šš=¹ðþ××šð²¦×þŁ˛ÞÞþÐ=
²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦K

RKNT Ò¹²˛ÞþŁð˛=½˛žŞ=−×šŠŁ˛×¦²šÝşÞþłþ=×˛žþł×šŁ˛=ł˛žþŁþłþ=
²š−ÝþŁþłþ=Þ˛¹þ¹˛NF

Ô=−þýþğşć=½˛žŞ=Ì×šŠŁ˛×¦²šÝşÞþłþ=×˛žþł×šŁ˛=ł˛žþŁþłþ=²š−ÝþŁþłþ=Þ˛¹þ¹˛=
‡Ş=ýþŽš²š=³¹²˛ÞþŁ¦²ş=½˛ž³=−×šŠŁ˛×¦²šÝşÞþłþ=×˛žþł×šŁ˛=ŠÝČ=ł˛žþŁþłþ=
²š−ÝþŁþłþ=Þ˛¹þ¹˛=EiçÖ~åçî~=dtmFK=‚ÝČ=Š×³łþłþ=þˇþ×³ŠþŁ˛Þ¦Č=Ć²˛=³¹²˛ÞþŁð˛=Þš=
ŠšÐ¹²Ł³š²K

Òš−ÝþŁþÐ=Þ˛¹þ¹=Þ˛ł×šŁ˛š²=þ²þ−¦²šÝşÞ³ć=³¹²˛ÞþŁð³=Łþ=Ł×šýČ=
−×šŠŁ˛×¦²šÝşÞþłþ=×˛žþł×šŁ˛=̌ šž=ðþ²Ý˛=−¦ðþŁŞ¼=Þ˛ł×³žþðK=Ë˛ð=−×˛Ł¦ÝþI=ž˛=¹₣š²=
−þ¹²þČÞÞþÐ=×˛ˇþ²Ş=²š−ÝþŁþłþ=Þ˛¹þ¹˛=−þŁŞĞ˛š²¹Č=þˇğ¦Ð=ðþĆ½½¦¾¦šÞ²=
−þÝšžÞþłþ=ŠšÐ¹²Ł¦Č=¦=ĆðþÞþý¦²¹Č=ˇþÝşĞš=ĆÞš×ł¦¦I=₣šý=Ł=×šŽ¦ýš=×˛ˇþ²Ş=¹=

Ï²ŠšÝşÞþ=³¹²˛ÞþŁÝšÞÞŞÐ=²š×ýþýš²×=ýþŽš²=×š˛ł¦×þŁ˛²ş=Þ˛=
¦žýšÞšÞ¦Č=²šý−š×˛²³×Ş=ˇŞ¹²×šš=¦Ý¦=ýšŠÝšÞÞššI=₣šý=−³Ýş²=
³−×˛ŁÝšÞ¦ČK=

ÌþĆ²þý³=Þš=ðþ××šð²¦×³Ð²š=−þð˛ž˛Þ¦Č=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=Łþ=Ł×šýČ=
½˛žŞ=−þÞ¦ŽšÞ¦Č=²šý−š×˛²³×Ş=¦Ý¦=−×¦=×˛žþł×šŁš=þ²þ−¦²šÝşÞþÐ=
³¹²˛ÞþŁð¦K

NF Ú³Þð¾¦Č=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 49



Ò−×˛ŁÝšÞ¦š=¹=−þýþğşć=ýšÞć=þ−š×˛²þ×˛5 
−þÞ¦ŽšÞÞþÐ=ðþýÞ˛²ÞþÐ=²šý−š×˛²³×þÐK=ÌþĆ²þý³=ýŞ=×šðþýšÞŠ³šý=ž˛Š˛²ş=½˛ž³=
−×šŠŁ˛×¦²šÝşÞþłþ=×˛žþł×šŁ˛K=

NK Ï²ð×Ş²ş=ýšÞć=þ−š×˛²þ×˛K

OK ‡Şˇ×˛²ş=Ì×šŠŁ˛×¦²šÝşÞŞÐ=×˛žþł×šŁ=ł˛žþŁþłþ=²š−ÝþŁþłþ=Þ˛¹þ¹˛K

PK Ò¹²˛ÞþŁ¦²ş=½˛ž³=−×šŠŁ˛×¦²šÝşÞþłþ=×˛žþł×šŁ˛W=³¹²˛ÞþŁ¦²ş=ŽšÝ˛šý³ć=
ŠÝ¦²šÝşÞþ¹²ş=Eþ²=MWMM=Šþ=NSWPM=₣˛¹þŁWý¦Þ³²FK=
Ì×šŠŁ˛×¦²šÝşÞŞÐ=×˛žþł×šŁ=Þ˛₣¦Þ˛š²¹Č=Ł=ž˛Š˛ÞÞþš=Ł×šýČ=−š×šŠ=Þ˛₣˛Ýþý=
ŠÞšŁÞþłþ=×šŽ¦ý˛=−š×Łþłþ=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛K

Î˛¦ŁŞ¹Ğ¦Ð=ðþĆ½½¦¾¦šÞ²=−þÝšžÞþłþ=ŠšÐ¹²Ł¦Č=Šþ¹²¦ł˛š²¹Č=−×¦=
Þš−×š×ŞŁÞþÐ=×˛ˇþ²š=²š−ÝþŁþłþ=Þ˛¹þ¹˛K=‚ÝČ=Ć²þłþ=ŠÝ¦²šÝşÞþ¹²ş=
−×šŠŁ˛×¦²šÝşÞþłþ=×˛žþł×šŁ˛=ŁŞˇ¦×˛Ð²š=ˇþÝşĞš=−×þŠþÝŽ¦²šÝşÞþ¹²¦=
Þþ₣Þþłþ=×šŽ¦ý˛=ž˛Š˛ÞÞþÐ=−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦ČK=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>50



ÊÞ½þ×ý˛¾¦Č=ŠÝČ=³¹²˛ÞþŁð¦=ˇÝþð˛=³−×˛ŁÝšÞ¦Č 6 
S ÊÞ½þ×ý˛¾¦Č=ŠÝČ=³¹²˛ÞþŁð¦=ˇÝþð˛=³−×˛ŁÝšÞ¦Č

SKN ‡¦ŠŞ=×šł³Ý¦×þŁ˛Þ¦Č=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦

Ô³ğš¹²Ł³š²=²×¦=Ł¦Š˛=×šł³Ý¦×þŁ˛Þ¦Č=×˛ˇþ²Ş=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦K=
‡=ž˛Ł¦¹¦ýþ¹²¦=þ²=²×šˇþŁ˛Þ¦Ð=¹−š¾¦˛Ý¦¹²=þ²þ−¦²šÝşÞþÐ=½¦×ýŞ=ŁŞˇš×š²=¦=
³¹²˛ÞþŁ¦²=þŠ¦Þ=¦ž=Ł˛×¦˛Þ²þŁW

¥ Óšł³Ý¦×þŁ˛Þ¦š=−×¦=³₣˛¹²¦¦=Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=E−þłþŠÞþš=
×šł³Ý¦×þŁ˛Þ¦šFW=²šý−š×˛²³×˛=¹Þ˛×³Ž¦=¦žýš×Čš²¹Č=−×¦=−þýþğ¦=Š˛²₣¦ð˛=
²šý−š×˛²³×ŞK=‡Ş¹þ²˛=žÞ˛₣šÞ¦Č=²šý−š×˛²³×Ş=−×šŠŁ˛×¦²šÝşÞþłþ=Þ˛ł×šŁ˛=
ŁŞ₣¦¹ÝČš²¹Č=¦¹ðÝć₣¦²šÝşÞþ=−×¦=−þýþğ¦=ŁÞšĞÞšÐ=²šý−š×˛²³×ŞI=þÞ˛=ŁŞĞš=
³¹²˛ÞþŁð¦=þ²þ−¦²šÝşÞþÐ=ð×¦ŁþÐK=
Ô=−þýþğşć=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=‡Ş=ýþŽš²š=³¹²˛ÞþŁ¦²ş=²šý−š×˛²³×³=ŠÝČ=Ł¹šÐ=
ðŁ˛×²¦×Ş=Eþ²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č=−×¦=Ć²þý=¹ýšğ˛š²¹Č=ŁŁš×¼=¦Ý¦=ŁÞ¦žFK=
ËÝ˛−˛ÞŞ=²š×ýþ¹²˛²þŁ=×˛Š¦˛²þ×þŁ=‡˛ý=Þšþˇ¼þŠ¦ýþ=³¹²˛ÞþŁ¦²ş=Ł=ð˛ŽŠþý=
−þýšğšÞ¦¦=²˛ðI=₣²þˇŞ=ˇŞÝ˛=Šþ¹²¦łÞ³²˛=ŽšÝ˛šý˛Č=²šý−š×˛²³×˛=Ł=Þ÷ýK

¥ Óšł³Ý¦×þŁ˛Þ¦š=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼W=Ł=Ć²þý=¹Ý³₣˛š=−³Ýş²=³−×˛ŁÝšÞ¦Č=
ŠþÝŽšÞ=ˇŞ²ş=³¹²˛ÞþŁÝšÞ=Ł=−þýšğšÞ¦¦I=ðþ²þ×þš=ČŁÝČš²¹Č=×š½š×šÞ²ÞŞý=ŠÝČ=
Š˛ÞÞþÐ=ðŁ˛×²¦×ŞK=Ì³Ýş²=³−×˛ŁÝšÞ¦Č=¦žýš×Čš²=²šý−š×˛²³×³=Ł=Š˛ÞÞþý=
…×š½š×šÞ²Þþý=−þýšğšÞ¦¦ŸK=Òšý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦=×šł³Ý¦×³š²¹Č=Ł=
ž˛Ł¦¹¦ýþ¹²¦=þ²=³¹²˛ÞþŁÝšÞÞþÐ=¦=¦žýš×šÞÞþÐ=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦K=
ÌþĆ²þý³=−þ¹²þ×þÞÞ¦š=¦¹²þ₣Þ¦ð¦I=ŁþžŠšÐ¹²Ł³ćğ¦š=Þ˛=²šý−š×˛²³×³=Ł=
×š½š×šÞ²Þþý=−þýšğšÞ¦¦=EÞ˛−×K=þ²ð×Ş²þš=þðÞþI=¹þÝÞš₣ÞŞš=Ý³₣¦=¦Ý¦=²š−Ýþ=þ²=
ð˛ý¦Þ˛FI=ŁþžŠšÐ¹²Ł³ć²=Þ˛=²šý−š×˛²³×³=Łþ=Ł¹šÐ=ðŁ˛×²¦×šK
Â˛Š˛Ð²š=²šý−š×˛²³×³=Ł=−þýšğšÞ¦¦=¦Ý¦=×š½š×šÞ²Þþý=−þýšğšÞ¦¦=Þ˛=−³Ýş²š=
³−×˛ŁÝšÞ¦ČK=flþÝšš=ŁŞ¹þð¦š=¦Ý¦=Þ¦žð¦š=žÞ˛₣šÞ¦Č=²šý−š×˛²³×Ş=Ł=Š×³ł¦¼=
−þýšğšÞ¦Č¼=‡Ş=ýþŽš²š=Þ˛¹²×ç¦²ş=−×¦=¦žýšÞšÞ¦¦=³¹²˛ÞþŁð¦=ðÝ˛−˛ÞþŁ=
²š×ýþ¹²˛²þŁ=×˛Š¦˛²þ×þŁK

¥ Óšł³Ý¦×þŁ˛Þ¦š=ŁÞšĞÞšÐ=²šý−š×˛²³×Ş=¹=ŁþžŠšÐ¹²Ł¦šý=Þ˛=²šý−š×˛²³×³=Ł=
−þýšğšÞ¦Č¼W=−×¦=Ć²þý=Ł¦Šš=×šł³Ý¦×þŁ˛Þ¦Č=²šý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦=Ł=
−š×Ł³ć=þ₣š×šŠş=ž˛Ł¦¹¦²=þ²=ŁÞšĞÞšÐ=²šý−š×˛²³×ŞI=þŠÞ˛ðþ=þÞ˛=Ł˛×ş¦×³š²¹Č=
Ł=−×šŠšÝ˛¼=¦Þ²š×Ł˛Ý˛=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦I=³¹²˛ÞþŁÝšÞÞþłþ=‡˛Ğ¦ý=
¹−š¾¦˛Ý¦¹²þý=−þ=þ²þ−ÝšÞ¦ćK=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 51



ÊÞ½þ×ý˛¾¦Č=ŠÝČ=³¹²˛ÞþŁð¦=ˇÝþð˛=³−×˛ŁÝšÞ¦Č6 
SKO ÔþŁš²Ş=−þ=ĆðþÞþý¦¦=ĆÞš×ł¦¦

¥ ‡Ş=ýþŽš²š=¹ĆðþÞþý¦²ş=þðþÝþ=S B=Þ˛=þ²þ−ÝšÞ¦¦I=
−þÞ¦ž¦Ł=ŠÞšŁÞ³ć=²šý−š×˛²³×³=Ł=−þýšğšÞ¦¦=Þ˛=N Œ`K

¥ Òþ−¦²š=²þÝşðþ=²þłŠ˛I=ðþłŠ˛=‡˛ý=Þšþˇ¼þŠ¦ýþ=²š−ÝþK=
Ê¹−þÝşž³Ð²š=−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦Č=ŠÝČ=
˛Ł²þý˛²¦₣š¹ðþłþ=¹Þ¦ŽšÞ¦Č=²šý−š×˛²³×Ş=Ł=Þþ₣Þþš=
Ł×šýČK

¥ Ì×˛Ł¦ÝşÞþ=−×þŁš²×¦Ł˛Ð²š=−þýšğšÞ¦šW=Ğ¦×þðþ=þ²ð×þÐ²š=
þðÞ˛=Þ˛=Þš¹ðþÝşðþ=ý¦Þ³²I=Łýš¹²þ=²þłþI=₣²þˇŞ=Šš×Ž˛²ş=¦¼=−þ¹²þČÞÞþ=
ž˛ð×Ş²Şý¦K

¥ ‡þ=Ł×šýČ=−×þŁš²×¦Ł˛Þ¦Č=ž˛ð×þÐ²š=²š×ýþ¹²˛²¦₣š¹ð¦š=ŁšÞ²¦Ý¦K

¥ ÒˇšŠ¦²š¹ş=Ł=²þýI=₣²þ=‡˛Ğ¦=þðÞ˛=¦=ŠŁš×¦=Þš=−×þ−³¹ð˛ć²=²š−ÝþK

¥ Îš=³¹²˛Þ˛ŁÝ¦Ł˛Ð²š=Ł=Þš−þ¹×šŠ¹²ŁšÞÞþÐ=̌ Ý¦žþ¹²¦=þ²=þ²þ−¦²šÝşÞŞ¼=−×¦ˇþ×þŁ=
ˇþÝşĞ¦š=−×šŠýš²ŞI=Þ˛−×¦ýš×I=Š¦Ł˛Þ=Eý¦Þ¦ý˛ÝşÞþš=×˛¹¹²þČÞ¦š=ŠþÝŽÞþ=̌ Ş²ş=
RM=¹ýFK=‡=−×þ²¦ŁÞþý=¹Ý³₣˛š=²÷−ÝŞÐ=ŁþžŠ³¼=Þš=ˇ³Šš²=¾¦×ð³Ý¦×þŁ˛²ş=¦=
Þ˛ł×šŁ˛²ş=ðþýÞ˛²³K

¥ Ì×¦=−×¦łþ²þŁÝšÞ¦¦=łþ×Č₣šÐ=ŁþŠŞ=‡Ş=ýþŽš²š=²˛ðŽš=¹ĆðþÞþý¦²ş=ĆÞš×ł¦ćW=
¹×˛ŁÞ¦²š=Ł×šýČI=Ł=ðþ²þ×þš=−þýšğšÞ¦Č=ŠþÝŽÞŞ=̌ Ş²ş=²÷−ÝŞý¦I=¹=Ł×šýšÞšýI=Ł=
ðþ²þ×þš=Ł˛ý=Þ³ŽÞ˛=łþ×Č₣˛Č=ŁþŠ˛K=Ì×¦=Þšþˇ¼þŠ¦ýþ¹²¦=¦¹−þÝşž³Ð²š=
þ²ŠšÝşÞ³ć=−×þł×˛ýý³=−š×šðÝć₣šÞ¦Č=ŠÝČ=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞK

¥ Ìþ×³₣¦²š=‡˛Ğšý³=¹−š¾¦˛Ý¦¹²³=−þ=þ²þ−ÝšÞ¦ć=×˛ž=Ł=łþŠ=−×þŁþŠ¦²ş=
²š¼Þ¦₣š¹ðþš=þˇ¹Ý³Ž¦Ł˛Þ¦š=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦K

‚ÝČ=Óšł³Ý¦×þŁ˛Þ¦Č=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦==¦=ŠÝČ=
×šł³Ý¦×þŁ˛Þ¦Č=š÷=¹Þ˛×³Ž¦=¹=ŁþžŠšÐ¹²Ł¦šý=²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦=ŠšÐ¹²Ł³š²=−×˛Ł¦ÝþW
ËÝ˛−˛ÞŞ=²š×ýþ¹²˛²þŁ=×˛Š¦˛²þ×þŁ=Ł=?×š½š×šÞ²Þþý=−þýšğšÞ¦¦?=
E−þýšğšÞ¦šI=Ł=ðþ²þ×þý=Þ˛¼þŠ¦²¹Č=−³Ýş²=³−×˛ŁÝšÞ¦ČF=ŠþÝŽÞŞ=ˇŞ²ş=
−þÝÞþ¹²şć=þ²ð×Ş²Ş>=Òšý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦=×šł³Ý¦×³š²¹Č=Ł=
¹þþ²Łš²¹²Ł¦¦=¹=²šý−š×˛²³×þÐI=¦žýš×šÞÞþÐ=Ł=×š½š×šÞ²Þþý=
−þýšğšÞ¦¦K=„÷=ÞšÝşžČ=þł×˛Þ¦₣¦Ł˛²ş=ž˛ð×Ş²¦šý=ðÝ˛−˛ÞþŁ=
²š×ýþ¹²˛²þŁK
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T =Ò¹²×˛ÞšÞ¦š=Þš¦¹−×˛ŁÞþ¹²šÐ
‡=Ć²þÐ=łÝ˛Łš=−×¦ŁšŠšÞŞ=Þ˛¦ˇþÝšš=₣˛¹²þ=ŁþžÞ¦ð˛ćğ¦š=Łþ−×þ¹Ş=¦=þ²Łš²ŞI=
¹ŁČž˛ÞÞŞš=¹=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁðþÐK=Ò˛ð¦ý=þˇ×˛žþýI=Þšðþ²þ×Şš=
Þš¦¹−×˛ŁÞþ¹²¦I=₣˛¹²þ=þĞ¦ˇþ₣Þþ=−×¦Þ¦ý˛šýŞš=ž˛=¹š×şšžÞŞš=Þš−þÝ˛Šð¦I=‡Ş=
ýþŽš²š=³¹²×˛Þ¦²ş=¹˛ý¦K=‡=ðþÞ¾š=łÝ˛ŁŞ=−×¦ŁšŠšÞ˛=²˛ˇÝ¦¾˛=¹=Þš¦¹−×˛ŁÞþ¹²Čý¦=
¦=×šðþýšÞŠ˛¾¦Čý¦=−þ=¦¼=³¹²×˛ÞšÞ¦ćK

TKN Î˛¦ˇþÝšš=₣˛¹²þ=Ł¹²×š₣˛ćğ¦š¹Č=Łþ−×þ¹Ş

‚ÝČ=₣šłþ=Č=×šł³Ý¦×³ć=ðþýÞ˛²Þ³ć=²šý−š×˛²³×³I=¼þ²Č=þÞ˛=Þš=¦žýš×Čš²¹Č\

ËþłŠ˛=‡Ş=×šł³Ý¦×³š²š=ðþýÞ˛²Þ³ć=²šý−š×˛²³×³I=²þ=¦žýšÞČš²¹Č=þ²þ−¦²šÝşÞ˛Č=
ð×¦Ł˛ČI=¼þ²Č=ðþýÞ˛²Þ˛Č=²šý−š×˛²³×˛=¦=Þš=¦žýš×Čš²¹ČK=Ì×¦=Ć²þý=¦žýšÞČš²¹Č=
²šý−š×˛²³×˛=Ł=−þýšğšÞ¦¦I=−þ²þý³=₣²þ=¦žýšÞČš²¹Č=²šý−š×˛²³×˛=ŁþŠŞI=
¦¹−þÝşž³šýþÐ=ŠÝČ=þ²þ−ÝšÞ¦ČI=¦=−×¦=Ć²þý=ýšÞČš²¹Č=²š−š×˛²³×˛=×˛Š¦˛²þ×þŁK

Ìþ₣šý³=ðþýÞ˛²Þ˛Č=²šý−š×˛²³×˛I=¦žýš×šÞÞ˛Č=þ²ŠšÝşÞþ=³¹²˛ÞþŁÝšÞÞŞý=
²š×ýþýš²×þýI=Þš=¹þŁ−˛Š˛š²=¹=ž˛Š˛ÞÞþÐ=ðþýÞ˛²ÞþÐ=²šý−š×˛²³×þÐ\

Ó˛žÝ¦₣ÞŞš=½˛ð²þ×Ş=þð˛žŞŁ˛ć²=ŁþžŠšÐ¹²Ł¦š=Þ˛=ðþýÞ˛²Þ³ć=²šý−š×˛²³×³K=
ÌþĆ²þý³=−þð˛ž˛Þ¦š=ðþýÞ˛²ÞþÐ=²šý−š×˛²³×Ş=Þ˛=þ²ŠšÝşÞþý=²š×ýþýš²×š=ýþŽš²=
ˇŞ²ş=Š×³ł¦ýI=₣šý=²þI=ðþ²þ×þš=ž˛Š˛Þþ=Þ˛=−³Ýş²š=³−×˛ŁÝšÞ¦Č=o`PRK=„¹Ý¦=−³Ýş²=
³−×˛ŁÝšÞ¦Č=o`PR=³¹²˛ÞþŁÝšÞ=Þ˛=¼þÝþŠÞþÐ=¹²šÞšI=²þ=Þ˛=Þšłþ=ŁÝ¦Čš²=Þ¦žð˛Č=
²šý−š×˛²³×˛=¹²šÞŞK=„¹Ý¦=þÞ=³¹²˛ÞþŁÝšÞ=Ł=²š−Ýþý=ýš¹²šI=Þ˛−×¦ýš×I=ŁˇÝ¦ž¦=þ²=
ð˛ý¦Þ˛I=²þ=Ć²þ=²š−Ýþ=²˛ðŽš=ŁÝ¦Čš²=Þ˛=ÞšłþK=ÌþĆ²þý³=−þð˛ž˛Þ¦š=ðþýÞ˛²ÞþÐ=
²šý−š×˛²³×Ş=Þ˛=þ²ŠšÝşÞþý=²š×ýþýš²×š=ýþŽš²=ˇŞ²ş=Š×³ł¦ýI=₣šý=²þI=ðþ²þ×þš=
ž˛Š˛Þþ=Þ˛=−³Ýş²š=³−×˛ŁÝšÞ¦Č=o`PRK

„¹Ý¦=¹×˛ŁÞ¦Ł˛²ş=¦žýš×šÞÞ³ć=ðþýÞ˛²Þ³ć=²šý−š×˛²³×³=¹=−þð˛ž˛Þ¦Čý¦=Š×³łþłþ=
²š×ýþýš²×˛I=²þ=Ł˛ŽÞþ=¹ÝšŠ³ćğššW

¥ Ï²ŠšÝşÞŞÐ=²š×ýþýš²×=¦=−³Ýş²=³−×˛ŁÝšÞ¦Č=ŠþÝŽÞŞ=Þ˛¼þŠ¦²ş¹Č=−þˇÝ¦žþ¹²¦=
Š×³ł=þ²=Š×³ł˛K

¥ Ï²ŠšÝşÞŞÐ=²š×ýþýš²×=ŠþÝŽšÞ=ˇŞ²ş=²þ₣ÞŞýK

¥ Îš=¦žýš×ČÐ²š=ðþýÞ˛²Þ³ć=²šý−š×˛²³×³=ŠÝČ=¹×˛ŁÞšÞ¦Č=Ł=ýþýšÞ²=×˛žþł×šŁ˛=
þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦I=²˛ð=ð˛ð=þˇ˛=¦ÞŠ¦ð˛²þ×˛=ýþł³²=×š˛ł¦×þŁ˛²ş=Þ˛=
¦žýšÞšÞ¦Č=²šý−š×˛²³×Ş=¹=×˛žÞþÐ=ˇŞ¹²×þ²þÐK

„¹Ý¦=Ł¹š=Ć²¦=³¹ÝþŁ¦Č=¹þˇÝćŠšÞŞI=Þþ=þ²ðÝþÞšÞ¦š=Ł¹÷=Žš=−×¦¹³²¹²Ł³š²I=‡Ş=
ýþŽš²š=ŁŞ×þŁÞČ²ş=¦ÞŠ¦ð˛¾¦ć=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=E¹²×˛Þ¦¾˛ QUFK=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 53



Ò¹²×˛ÞšÞ¦š=Þš¦¹−×˛ŁÞþ¹²šÐ7 
Ìþ₣šý³=−×¦=ˇþÝšš=ŁŞ¹þð¦¼=Þ˛×³ŽÞŞ¼=²šý−š×˛²³×˛¼=þ²þ−¦²šÝşÞŞš=
−×¦ˇþ×Ş=E¹Ý¦ĞðþýF=łþ×Č₣¦š\

„¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=¦ýšš²=þŠ¦Þ=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=ˇšž=¹ýš¹¦²šÝČ=
EðþÞ²³×=NFI=²þ=Ć²þ=Þþ×ý˛ÝşÞþK=Ù¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=ŁðÝć₣˛š²¹Č=²þÝşðþ=Ł=²þ²=
ýþýšÞ²I=ðþłŠ˛=²šý−š×˛²³×˛=ŁþŠŞ=Ł=ðþ²Ýš=Šþ¹²¦łÞš²=þ−×šŠšÝšÞÞþłþ=žÞ˛₣šÞ¦ČI=
Þšþˇ¼þŠ¦ýþłþ=ŠÝČ=−þŠ˛ćğšÐ=Ý¦Þ¦¦K=„¹Ý¦=²šý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦=
Þš¹ðþÝşðþ=ŁŞĞšI=₣šý=Ć²þ=²×šˇ³š²¹Č=¦¹¼þŠČ=¦ž=Þ˛×³ŽÞþÐ=²šý−š×˛²³×ŞI=²þ=
²šý−š×˛²³×˛=þ²þ−¦²šÝşÞŞ¼=−×¦ˇþ×þŁ=ýþŽš²=ˇŞ²ş=ð×˛²ðþŁ×šýšÞÞþ=
−þŁŞĞšÞÞþÐK=Ô¦¹²šý˛=×šł³Ý¦×þŁ˛Þ¦Č=þ−×šŠšÝČš²=Ć²þ=¦=¹−³¹²Č=Þšðþ²þ×þš=
Ł×šýČ=×š˛ł¦×³š²=¹þþ²Łš²¹²Ł³ćğ¦ý=þˇ×˛žþýK=Îš=¦žýšÞČČ=−þÝþŽšÞ¦Č=þ²ð×Ş²Ş¼=
²š×ýþ¹²˛²¦₣š¹ð¦¼=ŁšÞ²¦ÝšÐI=−þŠþŽŠ¦²šI=−þð˛=ðþýÞ˛²Þ˛Č=²šý−š×˛²³×˛=
Šþ¹²¦łÞš²=¹Łþšłþ=ž˛Š˛ÞÞþłþ=žÞ˛₣šÞ¦ČK=

‡=Ýš²Þšý=×šŽ¦ýš=̌ ˛²˛×š¦=²˛ðŽš=ýþł³²=Þ˛ł×šŁ˛²ş¹Č=Ł¹ÝšŠ¹²Ł¦š=þ−×šŠšÝ÷ÞÞþłþ=
þˇ¹²þČ²šÝş¹²Ł˛I=Þþ=Þ˛=ðþ×þ²ð¦Ð=¹×þðW=¾¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=˛Ł²þý˛²¦₣š¹ð¦=
ŁðÝć₣˛š²¹Č=₣š×šž=þ−×šŠšÝšÞÞŞš=¦Þ²š×Ł˛ÝŞ=Ł×šýšÞ¦=ŠÝČ=−×šŠþ²Ł×˛ğšÞ¦Č=šłþ=
ž˛ðÝ¦Þ¦Ł˛Þ¦Č=EˇÝþð¦×þŁð¦FK=„¹Ý¦=Þ˛¹þ¹=ŁÞšž˛−Þþ=ŁðÝć₣¦Ý¹Č=¹×˛ž³=Žš=−þ¹Ýš=
Þ˛ł×šŁ˛=ŁþŠŞ=ŠÝČ=·‡ÔI=²þ=Þš¦¹−þÝşžþŁ˛ÞÞþš=²š−Ýþ=³¼þŠ¦²=₣š×šž=þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=Ł=þ²þ−¦²šÝşÞŞš=−×¦ˇþ×ŞK

Ìþ₣šý³=Þ˛¹þ¹=×˛ˇþ²˛š²=Þþ₣şćI=¼þ²Č=þ²þ−ÝšÞ¦š=Þš=×˛ˇþ²˛š²=¦Ý¦=×˛ˇþ²˛š²=
¹Ýšłð˛\

˚²þ=ž˛Ł¦¹¦²=þ²=²þłþI=ð˛ð¦š=³¹²˛ÞþŁð¦=ŠÝČ=Þþ₣Þþłþ=¹Þ¦ŽšÞ¦Č=²šý−š×˛²³×Ş=
³¹²˛ÞþŁ¦Ý=¹−š¾¦˛Ý¦¹²=þ²þ−¦²šÝşÞþÐ=½¦×ýŞK=

¥ ÓšŽ¦ý=−þÞ¦ŽšÞÞþłþ=ĆÞš×łþ−þ²×šˇÝšÞ¦ČW=Þ˛¹þ¹=²˛ðŽš=ŁðÝć₣˛š²¹ČI=š¹Ý¦=
þ²þ−ÝšÞ¦Č=ÞšŠþ¹²˛²þ₣Þþ=ŠÝČ=Šþ¹²¦ŽšÞ¦Č=ž˛Š˛ÞÞþÐ=−þÞ¦ŽšÞÞþÐ=ðþýÞ˛²ÞþÐ=
²šý−š×˛²³×ŞK

¥ ‡¦Š=×šł³Ý¦×þŁ˛Þ¦Č=Ï²ðÝć₣šÞþW=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=E¦=Ł=²þý=₣¦¹Ýš=
¾¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹F=Ł=Þþ₣Þþý=×šŽ¦ýš=˛Ł²þý˛²¦₣š¹ð¦=þ²ðÝć₣šÞ˛K=„¹Ý¦=
Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=¹²˛Ý˛=Þ¦Žš=²šý−š×˛²³×Ş=ž˛ýš×ž˛Þ¦ČI=²þ=Þ˛¹þ¹=
ŁðÝć₣˛š²¹Č=˛Ł²þý˛²¦₣š¹ð¦=Ł=¹þþ²Łš²¹²Ł¦¦=¹=½³Þð¾¦šÐ=?Â˛ğ¦²˛=þ²=
ž˛ýš×ž˛Þ¦Č?K

¥ ÓšŽ¦ý=−þ¹²þČÞÞþÐ=²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=¦=ÓšŽ¦ý=
−þ¹²þČÞÞþÐ=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦W=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=
˛Ł²þý˛²¦₣š¹ð¦=ŁðÝć₣˛š²¹ČI=š¹Ý¦=¦žýš×šÞÞ˛Č=²šý−š×˛²³×˛=¹²˛ÞþŁ¦²¹Č=Þ¦Žš=
ž˛Š˛ÞÞþłþ=žÞ˛₣šÞ¦ČK=Ù¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=²˛ðŽš=ž˛−³¹ð˛š²¹ČK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>54
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Êžýš×šÞÞ˛Č=½˛ð²¦₣š¹ð˛Č=ðþýÞ˛²Þ˛Č=²šý−š×˛²³×˛=ŁŞĞšI=₣šý=ž˛Š˛ÞÞ˛ČK=
Ìþ₣šý³=−×¦=Ć²þý=×˛ˇþ²˛š²=ðþ²šÝ\

Ï²þ−¦²šÝşÞŞÐ=ðþ²šÝ=ýþŽš²=×˛ˇþ²˛²ş=ŠÝČ=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞK

Ô³ğš¹²Ł³š²=²×¦=Ł¦Š˛=×šł³Ý¦×þŁ˛Þ¦Č=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦=E¹²×˛Þ¦¾˛ RNFW

¥ Óšł³Ý¦×þŁ˛Þ¦š=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=ðþýÞ˛²ÞþÐ=²šý−š×˛²³×ŞW=ðþ²šÝ=
þ²ðÝć₣˛š²¹Č=−×¦=Šþ¹²¦ŽšÞ¦¦=ž˛Š˛ÞÞþÐ=ðþýÞ˛²ÞþÐ=²šý−š×˛²³×ŞK

¥ Óšł³Ý¦×þŁ˛Þ¦š=−þ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×šW=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=×˛ˇþ²˛š²=
Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛K

¥ Óšł³Ý¦×þŁ˛Þ¦š=−þ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×š=−×¦=ŁþžŠšÐ¹²Ł¦¦=²šý−š×˛²³×Ş=
−þýšğšÞ¦ČW=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=¦¹−þÝşž³š²=−×š¦ý³ğš¹²Ł˛=þˇþ¦¼=
−×šŠŞŠ³ğ¦¼=Ł¦ŠþŁK

‡=−þ¹ÝšŠÞ¦¼=ŠŁ³¼=Ł˛×¦˛Þ²˛¼=þ²þ−¦²šÝşÞŞÐ=ðþ²šÝ=ýþŽš²=×˛ˇþ²˛²ş=²˛ðŽš=Ł=²þý=
¹Ý³₣˛šI=ðþłŠ˛=¦žýš×šÞÞ˛Č=²šý−š×˛²³×˛=Ł=−þýšğšÞ¦¦=ŁŞĞš=š÷=ž˛Š˛ÞÞþłþ=
žÞ˛₣šÞ¦ČK
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TKO ÔþþˇğšÞ¦Č=þ=Þš¦¹−×˛ŁÞþ¹²Č¼=¦=þ=²š¼Þ¦₣š¹ðþý=
þˇ¹Ý³Ž¦Ł˛Þ¦¦

Ì³Ýş²=³−×˛ŁÝšÞ¦Č=×˛žÝ¦₣˛š²=ŠŁ˛=Ł¦Š˛=¹þþˇğšÞ¦ÐW

¥ Îš¦¹−×˛ŁÞþ¹²¦=EŁ=×˛ˇþ²š=þ²þ−¦²šÝşÞþłþ=ðþ²Ý˛F

¥ ÌþŁ×šŽŠšÞ¦š=³¹²˛ÞþŁð¦=EÞš−×˛Ł¦ÝşÞŞš=³¹²˛ÞþŁð¦=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=¦Ý¦=
Þš¦¹−×˛ŁÞþ¹²¦=ðþý−þÞšÞ²þŁF

¥ ÔþþˇğšÞ¦Č=þ=²š¼Þ¦₣š¹ðþý=þˇ¹Ý³Ž¦Ł˛Þ¦¦=E¦Þ½þ×ý˛¾¦Č=þ=²þýI=₣²þ=
Þšþˇ¼þŠ¦ýþ=ŁŞ−þÝÞ¦²ş=²š¼Þ¦₣š¹ðþš=þˇ¹Ý³Ž¦Ł˛Þ¦šF

Îš¦¹−×˛ŁÞþ¹²¦

‚¦¹−ÝšÐ=þ²þˇ×˛Ž˛š²=¹ÝšŠ³ćğšš=¹þþˇğšÞ¦šW=Ò¹²×þÐ¹²Łþ=ŁŞĞÝþ=¦ž=¹²×þČK=
l²ð×þÐ²š=ð×ŞĞð³=−³Ýş²˛=³−×˛ŁÝšÞ¦ČK=

NK Ï²ð×Ş²ş=ð×ŞĞð³=E−þ²ČÞ³²ş=ž˛=ŁŞšýð³=¹ÝšŁ˛FK
‚¦¹−ÝšÐ=ýþŽš²=þ²þˇ×˛ž¦²ş=¦ýČ=ðþÞ²˛ð²Þþłþ=Ý¦¾˛=¦=Þþýš×=²šÝš½þÞ˛=
þ²þ−¦²šÝşÞþÐ=½¦×ýŞI=š¹Ý¦=Ć²þ=−þžŁþÝČš²=³¹²˛ÞþŁð˛K

OK ÌþŁš×Þ¦²š=×³₣ð³=−š×šðÝć₣˛²šÝČ =E−×¦=Þšþˇ¼þŠ¦ýþ¹²¦=Þš¹ðþÝşðþ=×˛žI=
š¹Ý¦=š¹²ş=Þš¹ðþÝşðþ=¹þþˇğšÞ¦ÐFI=₣²þˇŞ=þ²þˇ×˛ž¦²ş=¹þþˇğšÞ¦Č=¦=¦¼=ðþŠŞ=
E−þ¹ÝšŠÞČČ=¹²×þð˛=Š¦¹−ÝšČFK=

PK Ì×þŁš×ş²šI=ýþŽÞþ=Ý¦=¹˛ýþ¹²þČ²šÝşÞþ=³¹²×˛Þ¦²ş=Þš¦¹−×˛ŁÞþ¹²şI=Þ˛Ž˛Ł=Þ˛=
oÉëÉí=E¹²×˛Þ¦¾˛ RVFK

QK „¹Ý¦=Ć²þ=Þš=−×¦ŁšÝþ=ð=×šž³Ýş²˛²³I=ÞšýšŠÝšÞÞþ=¹þþˇğ¦²š=Ł=þ²þ−¦²šÝşÞ³ć=
½¦×ý³=E−×þ₣²¦²š=¹þþˇğšÞ¦š=¦=ðþŠFK

RK Îš¹ðþÝşðþ=×˛ž=Þ˛Ž˛²ş=ðÞþ−ð³= =¦Ý¦=ž˛ð×Ş²ş=ð×ŞĞð³=ŠÝČ=−þŁ²þ×Þþłþ=
þ²þˇ×˛ŽšÞ¦Č=¹²˛ÞŠ˛×²Þþłþ=¦ÞŠ¦ð˛²þ×˛K

Ï`qlml‰ÎÏW=ÌþŁ×šŽŠšÞ¦š=þˇþ×³ŠþŁ˛Þ¦Č

Ł¹ÝšŠ¹²Ł¦š=ž˛ýš×ž˛Þ¦Č=³¹²˛ÞþŁð¦K=„¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=¦ž�
ž˛=Þš¦¹−×˛ŁÞþ¹²¦=þ²ðÝć₣¦Ý˛¹şI=²þ=−×¦=þ²×¦¾˛²šÝşÞŞ¼=²šý−š×˛²³×˛¼=
þÞ˛=ýþŽš²=ž˛ýš×žÞ³²şK

Ìþ−Ş²˛Ð²š¹ş=¹ˇ×þ¹¦²ş=Þš¦¹−×˛ŁÞþ¹²şK

„¹Ý¦=Ć²þ=ÞšŁþžýþŽÞþI=²þ=¹×˛ž³=Žš=¹þþˇğ¦²š=þˇ=Ć²þý=þ²þ−¦²šÝşÞþý³=
−×šŠ−×¦Č²¦ćK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>56
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ÌþŁ×šŽŠšÞ¦š=³¹²˛ÞþŁð¦=¦=ÅþþˇğšÞ¦Č=þ=²š¼Þ¦₣š¹ðþý=þˇ¹Ý³Ž¦Ł˛Þ¦¦

‚¦¹−ÝšÐ=þ²þˇ×˛Ž˛š²=¹þþˇğšÞ¦š=l²ð×þÐ²š=ð×ŞĞð³=Ł=¹˛ýþÐ=Þ¦ŽÞšÐ=¹²×þðšK=
Ï²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=−×þŠþÝŽ˛š²=×˛ˇþ²˛²şI=Þ˛¹ðþÝşðþ=ŁþžýþŽÞþI=²KšK=
ýþŽÞþ=Þ˛ł×šŁ˛²ş=ŁþžŠ³¼=Ł=−þýšğšÞ¦¦=¦=Š˛ÝşĞšK=

NK Ï²ð×Ş²ş=ð×ŞĞð³=E−þ²ČÞ³²ş=ž˛=ŁŞšýð³=¹ÝšŁ˛FK

OK ÌþŁš×Þ³²ş=×³₣ð³ =−š×šðÝć₣˛²šÝČK=
‚¦¹−ÝšÐ=þ²þˇ×˛Ž˛š²=¦Þ½þ×ý˛¾¦ć=þ=²þýI=₣²þ=¦ýšš²¹Č=Îš¦¹−×˛ŁÞþ¹²ş=
EZ=−þŁ×šŽŠšÞ¦š=³¹²˛ÞþŁð¦F=¦Ý¦=Îšþˇ¼þŠ¦ýþ¹²ş=Ł=²š¼þˇÝ³Ž¦Ł˛Þ¦¦K=
‚¦¹−ÝšÐ=ýþŽš²=þ²þˇ×˛ž¦²ş=¦ýČ=ðþÞ²˛ð²Þþłþ=Ý¦¾˛=¦=Þþýš×=²šÝš½þÞ˛=
þ²þ−¦²šÝşÞþÐ=½¦×ýŞI=š¹Ý¦=Ć²þ=−þžŁþÝČš²=³¹²˛ÞþŁð˛K

PK ÌþŁš×Þ¦²š=×³₣ð³=−š×šðÝć₣˛²šÝČ =E−×¦=Þšþˇ¼þŠ¦ýþ¹²¦=Þš¹ðþÝşðþ=×˛žI=
š¹Ý¦=š¹²ş=Þš¹ðþÝşðþ=¹þþˇğšÞ¦ÐFI=₣²þˇŞ=þ²þˇ×˛ž¦²ş=¹þþˇğšÞ¦Č=¦=¦¼=ðþŠŞ=
E−þ¹ÝšŠÞČČ=¹²×þð˛=Š¦¹−ÝšČFK=

QK Ì×þŁš×ş²šI=ýþŽÞþ=Ý¦=¹˛ýþ¹²þČ²šÝşÞþ=³¹²×˛Þ¦²ş=Þš¦¹−×˛ŁÞþ¹²ş=¹=−þýþğşć=
²˛ˇÝ¦¾Ş NOK

RK ‡=−×þ²¦ŁÞþý=¹Ý³₣˛š=ÞšýšŠÝšÞÞþ=¹þþˇğ¦²š=Ł=þ²þ−¦²šÝşÞ³ć=½¦×ý³=E−×þ₣²¦²š=
¹þþˇğšÞ¦š=¦=ðþŠFK

SK Îš¹ðþÝşðþ=×˛ž=Þ˛Ž˛²ş=ðÞþ−ð³= =¦Ý¦=ž˛ð×Ş²ş=ð×ŞĞð³=ŠÝČ=−þŁ²þ×Þþłþ=
þ²þˇ×˛ŽšÞ¦Č=¹²˛ÞŠ˛×²Þþłþ=¦ÞŠ¦ð˛²þ×˛K

Îš¦¹−×˛ŁÞþ¹²¦=ž˛Ł¦¹Č²=þ²=¦¹−þÝşž³šýþłþ=²¦−˛=ðþ²Ý˛K=ÊÞ½þ×ý˛¾¦ć=−þ=
Þš¦¹−×˛ŁÞþ¹²Čý=‡Ş=¹ýþŽš²š=Þ˛Ð²¦=Ł=Šþð³ýšÞ²˛¾¦¦=ð=þ²þ−¦²šÝşÞþý³=
ðþ²Ý³K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>57
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ËþŠ ‚¦¹−ÝšÐ Ì×¦₣¦Þ˛ Ò¹²×˛ÞšÞ¦š

Îš²=¦ÞŠ¦ð˛¾¦¦=Þ˛=
Š¦¹−Ýšš

Ï²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=
ŁŞðÝć₣šÞ˛K

‡ðÝć₣¦²ş=þ²þ−¦²šÝşÞ³ć=
³¹²˛ÞþŁð³K

Ì×š×Ł˛Þþ=ĆÝšð²×þ−¦²˛Þ¦š=
þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦K

Ì×þŁš×¦²ş=−×˛Ł¦ÝşÞþ¹²ş=
³¹²˛ÞþŁð¦=−³Ýş²˛=
³−×˛ŁÝšÞ¦Č=Ł=Þ˛¹²šÞÞŞÐ=
Šš×Ž˛²šÝşK

Ì×þŁš×¦²şI=−þŠðÝć₣šÞ=Ý¦=
ð˛ˇšÝş=ð=Þ˛¹²šÞÞþý³=
Šš×Ž˛²šÝć=−³Ýş²˛=
³−×˛ŁÝšÞ¦ČK

‡š×¹¦Č=o`PRW=KKK
ÌþŠðÝć₣šÞ¦É=ðW=KKK
Îš²=ðçýý³Þ¦ðK=¹

Ìþ¹Ýš=ŁðÝć₣šÞ¦Č=−×þ¦¹¼þŠ¦²=
þˇýšÞ=Š˛ÞÞŞý¦=ýšŽŠ³=bjpL
r_^=¦=o`PR=EĆ²þ=Þš=ČŁÝČš²¹Č=
Þš¦¹−×˛ŁÞþ¹²şćFK

ÌþŠþŽŠ˛²ş=Þš¹ðþÝşðþ=
¹šð³ÞŠ=

A01/
816

Ï²¹³²¹²Ł³š²=¹ŁČžş=¹=
r_^Lj`NM=¦Ý¦=a_^K

Î˛×³ĞšÞ˛=¹ŁČžş=¹=bjpLr_^I=
Þ˛−×¦ýš×I¦ž�ž˛=−Ýþ¼þłþ=
ðþÞ²˛ð²˛=¦Ý¦=Ł¹ÝšŠ¹²Ł¦š=
ĆÝšð²×þý˛łÞ¦²Þþłþ=¦žÝ³₣šÞ¦ČK

Ì×þŁš×¦²ş=−×˛Ł¦ÝşÞþ¹²ş=
³¹²˛ÞþŁð¦=−³Ýş²˛=
³−×˛ŁÝšÞ¦Č=Ł=Þ˛¹²šÞÞŞÐ=
Šš×Ž˛²šÝşK

Ì×þŁš×¦²şI=−þŠðÝć₣šÞ=Ý¦=
ð˛ˇšÝş=ð=Þ˛¹²šÞÞþý³=
Šš×Ž˛²šÝć=−³Ýş²˛=
³−×˛ŁÝšÞ¦ČK

A11/
802

‡×šýČ=šğ÷=Þš=
³¹²˛ÞþŁÝšÞþK

Ï²¹³²¹²Ł³š²=−þð˛ž˛Þ¦š=Ł×šýšÞ¦=
¦Ý¦=Š˛²ŞK=Ì×¦₣¦ÞþÐ=ýþŽš²=
ˇŞ²şI=Þ˛−×¦ýš×I=ŠÝ¦²šÝşÞþš=
þ²¹³²¹²Ł¦š=ĆÝšð²×þ−¦²˛Þ¦ČK

‡ŁšŠ¦²š=Ł×šýČ=¦=Š˛²³I=₣²þˇŞ=
ýþłÝ¦=×˛ˇþ²˛²ş=Ł¹š=
−×þł×˛ýýŞ=þ²þ−ÝšÞ¦Č=¦=
Š×³ł¦š=½³Þð¾¦¦K

A11/
803

‚˛²˛=šğ÷=Þš

³¹²˛ÞþŁÝšÞ˛K

eññ l²ð×þÐ²š=ð×ŞĞð³K Îšþˇ¼þŠ¦ýþ=−×þŁš¹²¦=
²š¼Þ¦₣š¹ðþš=þˇ¹Ý³Ž¦Ł˛Þ¦šK

Ï²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=
−×þŠþÝŽ˛š²=×˛ˇþ²˛²şI=
Þ˛¹ðþÝşðþ=Ć²þ=ŁþžýþŽÞþK

Ôþþˇğ¦²š=Ł=þ²þ−¦²šÝşÞ³ć=
½¦×ý³I=₣²þˇŞ=−×þŁš¹²¦=
²š¼Þ¦₣š¹ðþš=þˇ¹Ý³Ž¦Ł˛Þ¦šK

e=T =‚˛ŁÝšÞ¦š=ŁþŠŞ
ÅÝ¦Ğðþý=
ý˛ÝšÞşðþš

Ò−˛Ýþ=Š˛ŁÝšÞ¦š=ŁþŠŞ=Ł=
þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁðšK

˚²þ=žÞ˛₣šÞ¦š=þ²þˇ×˛Ž˛š²¹ČI=
š¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=
þ¹Þ˛ğšÞ˛=¾¦½×þŁŞý=Š˛²₣¦ðþý=
Š˛ŁÝšÞ¦ČK

˚²þ=šŠ¦Þ¹²ŁšÞÞþš=¹þþˇğšÞ¦š=þ=
²š¼þˇ¹Ý³Ž¦Ł˛Þ¦¦=EeññFI=
¹þłÝ˛¹Þþ=ðþ²þ×þý³=‡Ş=¹˛ý¦=
ýþŽš²š=−×þŁš¹²¦=Þšþˇ¼þŠ¦ýŞš=
ýš×þ−×¦Č²¦ČK

‚þˇ˛Łş²š=ðþ²ÝþŁþÐ=ŁþŠŞI=
ð˛ð=Ć²þ=þ−¦¹˛Þþ=Ł=
¦Þ¹²×³ð¾¦¦=−þ=Ćð¹−Ý³˛²˛¾¦¦=
þ²þ−¦²šÝşÞþłþ=ðþ²Ý˛K

Ò˛ˇK=NO ²˛ˇÝ¦¾˛=¹þþˇğšÞ¦Ð=þ=²š¼þˇ¹Ý³Ž¦Ł˛Þ¦¦=¦=þˇ=−þŁ×šŽŠšÞ¦¦=³¹²˛ÞþŁð¦
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 58
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Ô²þÝˇš¾="ËþŠ"=Ł=²˛ˇÝ¦¾š NO

ÔþþˇğšÞ¦Č=¹Þ˛ˇŽ˛ć²¹Č=ðþŠ˛ý¦K=ÏÞ¦=−þŠ¹ð˛Ž³²=¹−š¾¦˛Ý¦¹²³=¹š×Ł¦¹ÞþÐ=
¹Ý³ŽˇŞ=−×¦₣¦Þ³=Þš¦¹−×˛ŁÞþ¹²¦K

ËþŠŞ=þ²þˇ×˛Ž˛ć²¹Č=¹ÝšŁ˛=¦=¹−×˛Ł˛=ŁÞ¦ž³=Þ˛=Š¦¹−ÝššK

TKP Ôˇ×þ¹=Þš¦¹−×˛ŁÞþ¹²šÐ=EoÉëÉíF

Îšðþ²þ×Şš=Þš¦¹−×˛ŁÞþ¹²¦=ýþŽÞþ=³¹²×˛Þ¦²şI=−þÝşž³Č¹ş=½³Þð¾¦šÐ=Ôˇ×þ¹=
EoÉëÉíFK=˚²þ=ð˛¹˛š²¹ČI=Þ˛−×¦ýš×I=Þš¦¹−×˛ŁÞþ¹²šÐ=ˇÝþð¦×þŁð¦K=ÏÞ¦=
×˛¹−þžÞ˛ć²¹Č=−þ=ý¦ł˛Þ¦ć=Š¦¹−ÝšČ=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=ðþ²ÝþýK

‡Ş−þÝÞ¦²š=½³Þð¾¦ć=oÉëÉí=Þ˛=−³Ýş²š=³−×˛ŁÝšÞ¦Č=ðþ²ÝþýI=₣²þˇŞ=¹ˇ×þ¹¦²ş=
Š˛ÞÞ³ć=Þš¦¹−×˛ŁÞþ¹²şK
Ì×¦=ŁŞ−þÝÞšÞ¦¦=½³Þð¾¦¦=oÉëÉí=Þ˛=−³Ýş²š=³−×˛ŁÝšÞ¦Č=ðþ²Ýþý=¹ýK=
²š¼Þ¦₣š¹ð³ć=Šþð³ýšÞ²˛¾¦ć=þ²þ−¦²šÝşÞþłþ=ðþ²Ý˛K

„¹Ý¦=Þš¦¹−×˛ŁÞþ¹²ş=Þš=ˇŞÝ˛=³¹²×˛ÞšÞ˛=EŠ¦¹−ÝšÐ=−×þŠþÝŽ˛š²=ý¦ł˛²şFI=
þ−þŁš¹²¦²š=¹−š¾¦˛Ý¦¹²˛=−þ=þ²þ−ÝšÞ¦ćK

ÔþþˇğšÞ¦Č=þ=Þšþˇ¼þŠ¦ýþ¹²¦=−×þŁšŠšÞ¦Č=²š¼Þ¦₣š¹ðþłþ=þˇ¹Ý³Ž¦Ł˛Þ¦Č=
Ł=Þšðþ²þ×Ş¼=ðþ²Ý˛¼=Þš=ŁŞŁþŠČ²¹ČK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>59
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U Ì×þ²þðþÝ=³¹²˛ÞþŁð¦
Ì×þ²þðþÝ=Þ˛¹²×þÐð¦=ž˛−þÝÞČš²¹Č=¹−š¾¦˛Ý¦¹²þý=−þ=þ²þ−ÝšÞ¦ć=−×¦=ŁŁþŠš=
³¹²˛ÞþŁð¦=Ł=Ćð¹−Ý³˛²˛¾¦ć=¦=¹Ý³Ž¦²=ŠÝČ=¦Þ½þ×ý˛¾¦¦K

Ó˛¹−×šŠšÝšÞ¦š=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁW

‡˛ŽÞŞš=³¹²˛ÞþŁð¦=‡˛ĞšÐ=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦W

‰¦Ý˛Č=šŠ¦Þ¦¾˛=E−×¦ýš×ŞW=
−š×ŁŞÐ=Ć²˛ŽI=¹ýšŽÞ˛Č=ðŁ˛×²¦×˛F

‚¦¹²˛Þ¾¦þÞÞþš=
³−×˛ŁÝšÞ¦š=Eo`PRI=
o`OMLo`OMocI=
þ²¹³²¹²Ł³š²NFF

NF ‡=³¹²˛ÞþŁðš=?Ï²¹³²¹²Ł³š²?=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=ýþŽš²=ˇŞ²ş=³¹²˛ÞþŁÝšÞ=₣š×šž=o`PRI=
þŠÞ˛ðþ=þÞ=Þš=þ²Þþ¹¦²¹Č=ð=²˛ð=Þ˛žŞŁ˛šýŞý=ðþÞ²³×˛ý=o`PR=E²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=
ˇÝ˛łþŠ˛×Č=Ć²þý³=Þ˛¹²×˛¦Ł˛ć²¹Č=−þ=þ²ŠšÝşÞþ¹²¦FK

Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=N

Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=OOF

OF ‡=Þšðþ²þ×Ş¼=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×˛¼=þ²¹³²¹²Ł³š²K

Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=POF

Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=QOF

Ò˛ˇK=NP Ó˛¹−×šŠšÝšÞ¦š=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ

‡˛×¦˛Þ²Ş=³¹²˛ÞþŁð¦ Ò¹²˛ÞþŁð˛

Ò¦−=ÅÞ¦ŽšÞ¦Č=EÎþ₣Þþš=
−þÞ¦ŽšÞ¦š=²šý−š×˛²³×ŞF

Ìþ¹²þČÞÞ˛Č=Þ˛×³ŽÞ˛Č=²šýš×˛²³×˛I=
−þ¹²þČÞÞ˛Č=²šý−š×˛²³×˛=Ł=−þýšğšÞ¦¦I=
þ²ðÝć₣šÞþI=−þÞ¦ŽšÞÞþš=ĆÞš×łþ−þ²×šˇÝšÞ¦š

Ú³Þð¾¦Č=×šł³Ý¦×þŁ˛Þ¦Č
E¹²×˛Þ¦¾˛ RNF

×šł³Ý¦×þŁ˛Þ¦š=−þ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×š=
E¹=ŁþžŠšÐ¹²Ł¦šý=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=
¦Ý¦=ˇšž=ÞšłþFI=×šł³Ý¦×þŁ˛Þ¦š=²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦

Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č Ó˛¹₣÷²Þ˛Č=²šý−š×˛²³×˛W
ý¦Þ¦ý˛ÝşÞ˛Č=ŁÞšĞÞČČ=²šý−š×˛²³×˛W
Ï½¹š²W

Òš−Ýþ¦žþÝČ¾¦Č=žŠ˛Þ¦Č Èšłð˛ČI=¹×šŠÞČČI=¼þ×þĞ˛Č

‡×šýČ=×˛ˇþ²Ş=¾¦×ð³ÝČ¾�
¦þÞÞþłþ=Þ˛¹þ¹˛NF

NF Ú³Þð¾¦Č=ž˛Ł¦¹¦²=þ²=¦¹−þÝşž³šýþłþ=ðþ²Ý˛K

‚Ý¦²šÝşÞþ¹²şI=O=ñI=P=ñI=Q=ñI=R=ñI=S=ñ=Ł=₣˛¹=Þ˛=
ð˛ŽŠŞš=²×¦=ý¦Þ³²Ş

Ì×¦þ×¦²š²K=·‡Ô Š˛I=Þš²

Ì×þł×˛ýý˛=−š×šðÝć₣šÞ¦Č=
E‡×šýČI=¹²×˛Þ¦¾˛ POF

Î˛žŁ˛Þ¦š=¹²˛ÞŠ˛×²ÞþÐ=−×þł×˛ýýŞW=
¹þˇ¹²ŁšÞÞ˛Č=−×þł×˛ýý˛

Ò˛ˇK=NQ Ò¹²˛ÞþŁð¦I=þ−×šŠšÝ÷ÞÞŞš=−×¦=−š×Łþý=−³¹ðš=Ł=Ćð¹−Ý³˛²˛¾¦ć
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR - Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 60
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fiÝ½˛Ł¦²ÞŞÐ=³ð˛ž˛²šÝş
^
fiŁ²þý˛²¦₣š¹ð¦Ð=×šŽ¦ý= ==K==K==K==K==K==K= NPI=PM

‡
‡×šýČ=Ýš²ÞššLž¦ýÞšš K==K==K==K==K==K==K==K==K V–NM
‡ŁþŠ=²þ₣ð¦=−š×šðÝć₣šÞ¦ČK ==K==K==K==K==K==K= PS
‡šÞ²¦Ý¦=²š×ýþ¹²˛²þŁ K==K==K==K==K==K==K==K==K==K= RN
‡¦Š=×šł³Ý¦×þŁ˛Þ¦Č=þ²þ−K=³¹²˛ÞþŁð¦ ==K= RN
‡Ş×˛ŁÞ¦Ł˛Þ¦š=²šý−K=Ł=−þýšğšÞ¦¦ ==K==K= QU
‡Şˇ×˛²ş=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³× ==K==K=OS–??
‡Şˇþ×=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛ ??– ==K==K= OV
‡ŞŁþŠ=¦ž=Ćð¹−Ý³˛²˛¾¦¦ ==K==K==K==K==K==K==K==K= OO
‡ŞðÝć₣šÞ¦š K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= OO

·
·˛žþŁŞÐ=²š−ÝþŁþÐ=Þ˛¹þ¹= =K==K==K==K==K==K==K==K= QQ
·þ×Č₣˛Č=ŁþŠ˛=E×šŽ¦ýŞ=×˛ˇþ²ŞF =K==K==K==K= PN

‚
‚šž¦Þ½šð¾¦ČI=²š×ý¦₣š¹ð˛Č =K==K==K==K==K==K= QU
‚Ý¦²šÝşÞ˛Č=¦ÞŠ¦ð˛¾¦Č K==K==K==K==K==K==K==K==K= PM
‚¦¹−ÝšÐI=−þČ¹ÞšÞ¦Č ==K==K==K==K==K==K==K==K==K==K= NO
‚¦¹²˛Þ¾¦þÞÞþš=³−×˛ŁÝšÞ¦š ==K==K==K==K==K==K= OU
‚ÞšŁÞþÐ=×šŽ¦ý =K==K==K==K==K==K==K==K==K==K==K=NP, PR
‚ÞšŁÞþÐLÞþ₣ÞþÐ=×¦²ý K==K==K==K==K==K==K==K==K V–NM

Â
Â˛ýš×ž˛Þ¦š =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= RV

� -Þš¦¹−×˛ŁÞþ¹²¦I=¹ŁČž˛ÞÞŞš=¹=
ž˛ýš×ž˛Þ¦šý==K==K==K==K==K==K==K==K==K==K==K==K==K= RS

Â˛ýþ×þžð¦ K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K R
Â˛ğ¦²˛=þ²=ž˛ýš×ž˛Þ¦Č =K==K==K==K==K==K==K==K==K= RQ

Ê
ÊžýšÞšÞ¦š=²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=
ŁþžŠ³¼˛ ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= ON
ÊžýšÞšÞ¦š=²šý−š×˛²³×Ş=−þýšğšÞ¦Č=Þ˛=
ŠÝ¦²šÝşÞþš=Ł×šýČ ==K==K==K==K==K==K==K==K==K==K==K= NR
ÊžýšÞšÞ¦š=²šý−š×˛²³×Ş=−þýšğšÞ¦Č=Þ˛=
ðþ×þ²ðþš=Ł×šýČ K==K==K==K==K==K==K==K==K==K==K==K==K= NQ
ÊžýšÞšÞ¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦Č ==K==K==K= PS

Ë
Ë˛Ý¦ˇ×þŁð˛=²šý−K=Ł=−þýšğšÞ¦¦ =K==K==K==K= QU

Ë×˛²ðþš=¦Þ¹²×³ð¾¦Č ==K==K==K==K==K==K==K==K==K==K==K T
Ë×˛²ðþš=¦Þ¹²×³ð¾¦Č=−þ=Ćð¹−Ý˛³˛²˛¾¦¦ =K V
ËþÞ²×˛¹²=Š¦¹−ÝšČ K==K==K==K==K==K==K==K==K==K==KV–NM

Í
ÍšÞć=¦Þ½þ×ý˛¾¦¦ ==K==K==K==K==K==K==K==K==K==K==K= OM
ÍšÞć=þ−š×˛²þ×˛

� -ŁŁšŠšÞ¦š=Ł=ýšÞć=³−×˛ŁÝšÞ¦Č ==K==K==K= OP
-çˇžþ×=−³Þð²þŁ=ýšÞć K==K==K==K==K==K==K==K==K= OR

Î
Î˛×³ŽÞ˛Č=²šý−š×˛²³×˛I=ŁŞ¹þð˛Č =K==K==K= RQ
Îš¦¹−×˛ŁÞþ¹²¦ ==K==K==K==K==K==K==K==K==K==K==K==K==K= RS
eþ₣ÞþÐ=×šŽ¦ý K==K==K==K==K==K==K==K==K==K==K==K=NP, PR

l
ÏŠ¦Þ=×˛ž=−þŠþł×š²ş=łþ×Č₣³ć=ŁþŠ³ K=NT–NU
Ï²ðÝć₣šÞ¦š K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= RQ
Ï²ðÝć₣šÞ¦š=ĆÝšð²×þ−¦²˛Þ¦Č ==K==K==K==K==K= OO
Ï²þ−¦²šÝşÞŞš=ðþÞ²³×Ş=o`PR ==K==K==K=OS–OV
Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×

� -þˇþžÞK=−×¦=Þ˛Ý¦₣¦¦=ŁŞˇþ×˛ K==K==K==K==K= OV
� -−þČ¹ÞšÞ¦š =K==K==K==K==K==K==K==K==K==K==K==K==K==K= OU

Ï²¹³²¹²Ł¦š ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==T–V

Ì
ÌþČ¹ÞšÞ¦Č=ð=¹¦ýŁþÝ˛ý =K==K==K==K==K==K==K==K==K==K S
Ì×šŠŁ˛×¦²šÝşÞŞÐ=×˛žþł×šŁ=²š−ÝþŁþłþ=
Þ˛¹þ¹˛ =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= QV
Ì×þł×˛ýý˛=‡š₣š×¦Þð˛ ==K==K==K==K==K==K==K==K==K= QT
Ì×ł×K=−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ =K==K= PV
Ì×þł×˛ýý˛=Ìš×š×ŞŁ ==K==K==K==K==K==K==K==K==K==K= QT
Ì×þł×˛ýý˛=−š×šðÝć₣šÞ¦Č

� -ŁŞˇþ×=−×þł×˛ýýŞ =K==K==K==K==K==K==K==K==K==K= PP
� -þ²þˇ×˛ŽšÞ¦š K==K==K==K==K==K==K==K==K==K==K==K==K= PR

Ì×þł×˛ýý˛=−š×šðÝć₣šÞ¦Č =K==K==K==K==K==K==K= PM
� -łþ×Č₣˛Č=ŁþŠ˛ K==K==K==K==K==K==K==K==K==K==K==K==K= PV
� -¾¦×ð³ÝČ¾¦Č ==K==K==K==K==K==K==K==K==K==K==K==K==K= QM

Ì×þł×˛ýý˛=¾¦×ð³ÝČ¾¦¦ K==K==K==K==K==K==K==K==K= QM
Ì×þ²þðþÝ=Þ˛¹²×þÐð¦ ==K==K==K==K==K==K==K==K==K==K= SM
Ìš×šðÝK=¹=Ýš²Þšłþ=Þ˛=ž¦ýÞ¦Ð=×šŽ¦ý KV–NM
Ìš×š¼þŠ=¹=Ýš²Þšłþ=Ł×šýšÞ¦=Þ˛=ž¦ýÞšš = QN
Ìš×š¼þŠÞŞÐ=−š×¦þŠI=þˇþł×šŁ ==K==K==K==KV–NM
Ìþ×þłþŁŞš=žÞ˛₣šÞ¦Č=Ýš²Þšłþ=¦Ý¦=ž¦ýÞšłþ=
×šŽ¦ý˛ K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K= QM
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>61
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ÌþŠ˛ćğ˛Č=Ý¦Þ¦Č ==K==K==K==K==K==K==K==K==K==K==K==KOU
ÌþłþŠÞþš=×šł³Ý¦×þŁ˛Þ¦š ==K==K==K==K==K==K==K==KRN
ÌþÞ¦ŽšÞÞþš=ĆÞš×łþ−þ²×šˇÝšÞ¦š K==K==K==KRQ
Ìþ¹²þČÞÞ˛Č=ĆðþÞþý¦Č=E×³₣K=Þþ₣ÞþÐF NP, PM
Ìþ¹²þČÞÞþš=þ²þ−ÝK=E×³₣K=ŠÞšŁÞþÐF ==KNPI=PM

Ó
ÓšŽ¦ýŞ=×˛ˇþ²Ş =K==K==K==K==K==K==K==K==K==K==K==K==KPM

� -łþ×Č₣˛Č=ŁþŠ˛ =K==K==K==K==K==K==K==K==K==K==K==K==KPN
� -¾¦×ð³ÝČ¾¦Č K==K==K==K==K==K==K==K==K==K==K==K==K==KPN

Óšł³Ý¦×þŁ˛Þ¦š=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=
ðþýÞ˛²ÞþÐ=²šý−š×˛²³×Ş ==K==K==K==K==K==K==K==KRR
Óšł³Ý¦×þŁ˛Þ¦š=Ł=¹þþ²Łš²¹²Ł¦¦=¹=
²šý−š×˛²³×þÐ=Ł=−þýšğšÞ¦¦ K==K==K==K==K==K==KRN
Óšł³Ý¦×þŁ˛Þ¦š=ŁÞšĞÞšÐ=²šý−š×˛²³×Ş KRN
Óš½š×šÞ²Þþš=−þýšğšÞ¦š =K==K==K==K==K== RN, RQ
Ó³₣ÞþÐ=×šŽ¦ý=−š×šðÝć₣šÞ¦Č=¹=ŠÞšŁÞþłþ=
Þ˛=Þþ₣Þþš=Ł×šýČ =K==K==K==K==K==K==K==K==K==K==K==K==KNP
ÓšŽ¦ý=−þ¹²þČÞÞþÐ=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛ ==K==K==K==K==K==K==K==K==K==K==KRQ
ÓšŽ¦ý=Ï²−³¹ð =K==K==K==K==K==K==K==K==K==K==K==K==K==KQO
ÓšŽ¦ýŞ=×˛ˇþ²Ş =K==K==K==K==K==K==K==K==K==K==K==K==KNP
Óšł³Ý¦×þŁ˛Þ¦š=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=
²šý−š×˛²³×Ş=¹Þ˛×³Ž¦ K==K==K==K==K==K==K==K==K==KRR

Ô
Ôˇ×þ¹=Þš¦¹−×˛ŁÞþ¹²šÐ ==K==K==K==K==K==K==K==K==KRV
ÔÞ¦ŽšÞ¦š=²šý−K=Ł=Þþ₣Þþš=Ł×šýČ =K==K==K==KRQ
ÔþþˇğšÞ¦Č=þ=Þ˛Ý¦₣¦¦=łþ×Č₣šÐ=ŁþŠŞ=Ł=
ýšÞć=þ−š×˛²þ×˛ =K==K==K==K==K==K==K==K==K==K==K==K==KON
ÔþþˇğšÞ¦Č=Þ˛=Š¦¹−Ýšš =K==K==K==K==K==K==K==K==KOO
ÔþþˇğšÞ¦Č=þ=Þš¦¹−×˛ŁÞþ¹²Č¼=Þ˛=
³¹²˛ÞþŁðš=¦=þ=²š¼Kþˇ¹Ý³Ž¦Ł˛Þ¦¦ K==K==K==KRT
Ô²˛ÞŠ˛×²Þ˛Č=¦ÞŠ¦ð˛¾¦Č ==K==K==K==K==K==K==K==KPM

Ò
Òš×ý¦₣š¹ð˛Č=Ššž¦Þšð¾¦Č =K==K==K==K==K==K==K==KQU
Òš×ýþ¹²˛²¦₣š¹ð¦š=ŁšÞ²¦Ý¦ K==K==K==K==K==K==KNN
Òšð¹²Ş=Þ˛=Š¦¹−Ýšš=Eþ²þˇ×˛ŽšÞ¦šF =K==K==K==S
Òš−ÝþŁþÐ=Þ˛¹þ¹ ==K==K==K==K==K==K==K==K==K==K==K==K==KQV
Òšý−š×˛²³×˛=Ł=−þýšğšÞ¦¦

� -ŁŞ×˛ŁÞ¦Ł˛Þ¦š=¦ÞŠ¦ð˛¾¦¦ =K==K==K==K==K==KQU
� -þ²Ý¦₣¦Č=¦ÞŠ¦ð˛¾¦¦ ==K==K==K==K==K==K==K==K==KRP

Òšý−š×˛²³×˛=Ł=−þýšğšÞ¦¦
� -×˛žÝ¦₣Þ˛Č=Ł=þ²þ−K=ðþÞ²³×˛¼ K==K==K==K==KOV

� -¹Ý¦Ğðþý=¼þÝþŠÞþLŽ˛×ðþ K==K==K==K==K==K==K==T
� -³¹²˛ÞþŁð˛ K==K==K==K==K==K==K==K==K==K==K==K==K==K==KOV
� -³¹²˛ÞþŁð˛=ŠÝČ=þ−×šŠšÝ÷ÞÞŞ¼=þ²þ−K=

ðþÞ²³×þŁ K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KOV
qšý−š×˛²³×˛=Þ˛=Ł×šýČ=þ²−³¹ð˛ K==K==K= V–NM
qšý−š×˛²³×˛I=¹ýK²šý−K=Ł=−þýšğšÞ¦¦
Òþ₣ð˛=ŁðÝć₣šÞ¦Č ==K==K==K==K==K==K==K==K==K==K==K==KPQ
Òþ₣ð˛=ŁŞðÝć₣šÞ¦Č K==K==K==K==K==K==K==K==K==K==K==KPQ
Òþ₣ð˛=þ²ðÝć₣šÞ¦Č =K==K==K==K==K==K==K==K==K==K==K==KPR
Òþ₣ð˛=−š×šðÝć₣šÞ¦Č ==K==K==K==K==K==K==K==K==K==KPR

Ò
ÒŁšÝ¦₣šÞ¦š=²šý−š×˛²×Ş=ž˛=¹₣÷²=
¹þÝÞš₣Þþłþ=²š−Ý˛ ==K==K==K==K==K==K==K==K==K==K==K==KON
ÒŠ˛ÝšÞ¦š=²þ₣ð¦=−š×šðÝć₣šÞ¦Č K==K==K==K==KPT
Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦ ==K==K==R
Ò¹²˛ÞþŁð˛=Š˛²Ş=¦=Ł×šýšÞ¦ =K==K==K==K==K==K==KNT
Ò¹²˛ÞþŁð˛=−×þł×˛ýýŞ=−š×šðÝć₣šÞ¦Č ==KPO
Ò¹²˛ÞþŁð˛=²šý−K=łþ×Č₣šÐ=ŁþŠŞ =K==K== NU, QO
Ò¹²˛ÞþŁð˛=²šý−K=Ł=−þýšğšÞ¦¦ ==K==K==K==K==KPU
Ò¹²˛ÞþŁð˛=²šý−K=Ł=−þýšğšÞ¦¦=ŠÝČ=
þ−×šŠšÝ÷ÞÞŞ¼=þ²þ−K=ðþÞ²³×þŁ ==K==K==K==K==KNS
Ò²¦Ý¦ž˛¾¦Č K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KNN

Ù
Ù¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹ ==K==K==K==K==K==K==K==K==KRQ
Ù¦×ð³ÝČ¾¦Č=E×šŽ¦ýŞ=×˛ˇþ²ŞF ==K==K==K==K==KPN

ı
ı¦¹²ð˛ ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KNN

˚
˚Þš×ł¦Č

� ÔþŁš²Ş=−þ=ĆðþÞþý¦¦=ĆÞš×ł¦¦ ==K==K==K==KRO
˚Þš×ł¦Č K==K==K==K==K==K==K==K==K==K V, NN, OR, PV, QM
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 62
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N

ÏÏÏ=…fl³Šš×³¹=Ï²þ−¦²šÝşÞ˛Č=Òš¼Þ¦ð˛Ÿ=

NNROMN=Íþ¹ðŁ˛I=³ÝK=Ëþ²ÝČðþŁ¹ð˛ČI=P
ÒšÝš½þÞ=EMVRF=RNM�PP�NM
Ú˛ð¹======EMVRF=RNM�PP�NN

VUMVR=Ô˛Þð²�Ìš²š×ˇ³×łI=³ÝK=ˆŁš¾þŁ˛I=QNI=ðþ×−K=NR
ÒšÝš½þÞ=EUNOF=QQV=NT=RM
Ú˛ð¹======EUNOF=QQV=NT=RN

QOMMUT=Ë˛ž˛ÞşI=³ÝK=ÓþŠ¦Þ˛I=T
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